E%Ssy Notes 4u Online Study

T, fererme 3R uaiawr

feremme iR gafenor : fefasm
fererr 3t duiwfta faemma &1

WG T & WS <91 a¥ 2015 ¥ Waq fawm
?razr-a:ﬁnaﬁmﬁtnﬁaf@ﬂﬁﬁaﬁ:r-m
TS TIad TTATAT Tar ar?

{a) (Jood health and m.ll being/

@& (Development  and e Sl i -

. . ‘ . ) Qualgity -.du-.ulmnf"ﬁﬂm’rﬂm
Environment : Ml“EI.ll‘lll.lm () Poverty alleviation/ & I
dEVElOpl’l’lEl’lt and Sustalnable (d) ]ndusuy mnovation and infrastructure
development goals) ST A T T

NTA UGC NET/JRF June 2021(20-11-2021 Shift-I)
g‘ﬂ?ﬁ = 2
1. Given below are (wo statements: One is Ans. (b) : b e W 2 T 2015 7 Fw

labelled as Assertion A and the other is labelled
as Reason R. 21 wuA fau € : s fuasas

(Assertion A) & ®9 W fafaa § &1 a0 I0H
THIUT (Reason R) & BUH :

Assertion (A) ¢ There has to be an integrated
approach to achieve the targets of Sustainable
Development Goals (SDGs)./ 31fT&a= (A) :

wunvita fawme e (TaEEh. ) & wiita &
TSI §a v

Reason (R) Many of the SDGs are
interconnected /AR (R) : L e
armHEg £

In the light of the above statements, Choose the

most appropriate answer from the options

given below:

IAITh FHAAT & ATATH W, o fa wu fawmeat

T/ WEH TG I HT T R

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)./(A) 3 (R) =1
T & 3 (R), (A) F T AW 3

(b) Both {A) and (R) are correct but (R) i:;' NOT
the correct explanation of (A)./(A) HX (R)
a1 T8 §, AR (R), (A) 1 T amen A8 2

(c) (A)is correct but (R) is not correet.
(A) T 2, Tfd (R) W T 2

(d) (A)is not correct but (R) is correct.
(A) T 71 €, @A (R) 71 2

s NTAUGC NET/JRF June 2021(20-11-2021 Shift-1T)

W

[Ans. (a) : TTOOTE faE@ @@ (SDG) F1 W@ &q
qaﬁ’{rlmmméﬂmﬁsnGamﬁﬁ?%lm

(A) 3R (R) 3T T & 31 (R), (A) 3 Tt = 2

Which among the following goals adopted by
the UN member States in 2015 is related to
SDG - 4?

9

fomm @ra-4 § Hafud uﬁﬁwweﬂm
T AT erAey ¢ fE faEER, 2015 °, w3 wad
Fﬂmmﬁwmmuémmmhml?w
frr T A 21 T 37 O T o S e
R fmi, F wEer @i F T ged HaE W a5 &
fore e wmm sfesor @ SR Fm 2

3. As per sustainable Development Goal 3, one of
the targets is to reduce under-§ mortality per
IIJIIO live births to at least as low as
fae ®8T-3 & IER, UH o
wia 1000 Hifad yaa T 5 @4 W &H IW
o] W GegET @ WA @A W A AT
feran =T &7 /
(a) 50 (b) 40
(c) 25 (d) 15
NTA UGC NET/JRF June 2021(21-11-2021 Shift-11)
Ans. (c) : @4 2030 % QUG [aam o=d-3 &
AR, T @ W 1000 FfE YA W 5 A § FW
I & el #H F HH U FH 25 0% (g1 T a1
EEEICHEE| sfa 1000 Fifad T W T FA_Y
M |2 m?ﬂ
4. According to the Sustainable Development

Report (2020), the top-ranked country on the
basis of the SDG Index is

waa fawma Ao (2020) & argaw wa € S
Wi & MU UT Wafed T At 297 §:
(a) Bhutan/5Z= —_—
(b) New zealandaﬁ'ﬁﬁﬁ'ﬂz

{ weden/ =T

{d) United Kingdom/gAr3ee fdmem
NTA UGC NET/JRF June 2021(26-12-2021 Shift-1)
Ans. (¢) : T =m0 07 ©: =9F GfE@eT & oed |
Hﬁaﬁmam#mfam%aﬂmmﬁgﬁw%
w2 A O i ¢ | A fwm fu (2020) @
WAEH SDG YaFi® & FMT W wiea 9 §4.72 Hal &

v/

—_—
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- INQLeS 44

17 @|uﬁﬁﬁmﬁﬁizuz1aﬁm§qﬁsﬁﬁ
mﬁmﬁw%wmwsseo AR ol ke
120?ﬁ% forra =R 60.07 21

Given below are two 1t:|tl‘.'mcnt&

et <t %= fog 7o §:

Statement [: Education for sustainable
development has to be related to the process of
taking decisions pertaining to economy, politics
and natural environment.
wu | H formm & fou Ren =t
fouia &= &7 itk & dag AT €1
Statement I1: Inviting scnior citizens to schools
and allowing them to speak on the environment
of their childhood, may help in developing a
concept of sustainable development.

o amifya

wa= 11: aflg
e afit 3% araeft e & vatar & an
T "o @ a3 ¥ gunnitg famma @t
aUTUT faaita &3 O wgraan firer wasdt g1
In light of the above statements, choose the
most appropriatc answer from the options
given below
ITYTH HAAT o TR |, Hrer fan T et
H # WaH IUGTH I T AT HICAC:
(a) Both Statement 1 and Statement 11 are
correcVFaA | 3R 11 31 7 €1
(b) Both Statement 1 and_ Statement 11
incorrect/¥ 1 31T 11 &1 e &1
(c) Statement | is correct but Statement 1l is
incorrect/®a 1 Tél €, % FA 1] e 21
(d) Statement | is incorreet but Statement I is
correcU®aA | e &, fo g 11 et 21
NTA UGC NET/IRF June 2021(27-12-2021 Shift-11)
Ans. (a) : 591 5 &1 50 & mEEwiE fmn et
ot &1 wgeaqel ain @ S Hgw Ty HerEyT A HuReii
fagm & 39 3299 i f&a 21 o duareiE fawm
feran wafarir femi & Fnia S aren wee g 8
duriy fawm #q fmn @ swfeawn, weifa s
sgfi watawer wEe ffg &7 @ sfear @ dg @ @
a1 ga wiwa F afts amfa 5 fage o amife 53
3t 3 Wl FEEn F osEwmn fawte & o
g e T 21
6.

are

The target vear of achieving the Sustainahle
Development Goals is E———-

wunita fawm wea (@ € Wft) @ owe

T @ TR 9 §:

(a) 2020 (b) 2025

(c) 2030 (d) 2035

NTA UGC NETANRF June 2021(27-12-2021 Shife-11)
Ans. (c) : TURYTE (A7) fawm wea G afys @ %
A5 A o S S @, T (17) W S § g 3w
IV F 0H G 2, S 9w W H A R @ e
3 sl fagadig wfass € wra & 3 feorgd e

Online Siud

wm@mmqmmaﬁ ﬁ/>
e & faw &l § 9edm &1 F@E &0 ¢ ) guney
famm @l 21 yEwW 9| | s SeErg uiteds
WA 2015 § @1 T @A 39 WuReiE ar S w
T4 7 @i 2030 7% WA i e )

7.

v4

Under Sustainable Development Goal 3 - 'Good
Health and Wellbeing', by 2030, the premature
mortality from non-communicable diseases is
to be reduced by

i foamm @eg 3 & e arEe
e i wgEE, ad 2030 TF swwmEs
dmftal & smmfrs  yeg-gEm

(b) 60%

(a) 73%

(c) 5:1%\/ (d) 40%

NTA UGC NET/JRF June 2021{04-12-2021 Shilt-11)
Ans, (c) : TRy fawm @ o divs @1 & 9w A
S S 8, 17 9ER i 5 dfes sevdl @ us
wmE 2, S @ &7 Tl s sfuw fawwdin i @
WA F H AT E ) WA o wE-3 & s
‘W @R N AEET, @ 2030 7% SEEAME
Al & s 7 - m?ﬁi Tr S TR
8. By the year 2020, onc of the targets in

sustainable Development Goals is to reduce

global deaths and injuries from road traffic
accidents by / 2020 W,

T T IRV, e AT gHeA |
U U wiE &I feha Wiava 92 §7?
(b) 40%

(a) 33%
(c) 5[]%\/ (dy 25%

NTA UGC NET/JRF June 2021{04-12-2021 Shift-1)
Ans. (c) : mwmqmnﬁnaawgqaﬁzms
it afiferan # smaifom woa qon o fofg dfvs o=
mﬂwww:ﬁﬁmmmmhmmm
ST & SR, a4 2020 7%, v fawm w
m HgE AWEE gHeHl § dlws 5 wd de @)
0% SFvE T2 2
According to one of the Sustainable

Development Goals. the per capita global food
waste at the retail and consumer levels is to be

reduced to the extent of

i [ % ¥ U&H % W,
gau i Iuwr W w yfa wtw e
amer-3feee @t fea uftaror &= weran =me:
(a) 1/2 (Half)/1/2 (Zrem)
(b) 1/3 (One third)/1/3 (T fied) /V'
(¢) 1/4 (One fourth)y/1/4 (T <tard)
(d) 1/10 (one tenth)/1/10 (TF Z2T¥)

/NTA UGC NET/ARF June 2021{03-11-2021 Shift-11)
ARS. (n) : T 2030 7F WA fawm wgE_12.3)
(SDG 12.3) % 7R 3it I T W S e
dfs 3ER IfeeE m{m}ﬂ?maﬂ—mﬂw
o g e e d i

9.
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Easy. Notes e,

mprovement in energy eﬂ'clenn by a I'aclur of

2030 7, farehre wag-7 @1 989
e =} Afvaw P &fvEe A fee o @t gfg
AT §7 -

(a) Two/eT (b) Three/dtH
(c) Four/<I (d) Five/uid

NTA UGC NET/RF June 2021(03-12-2021 Shift-1)
Ans. () : 94 2030 7%, HuROT fagm owg-7 & 3299
mii:ﬂma“rfrﬁaiﬁatﬂmqm&ﬁqfamél
Hyroofty farg @ & d@m 17 2

A FREl T

paverty
hunger/Feafees ﬁlthﬂl
el IR Gl
D. Goal 4 / TR°FT 4 IV. Achieve universal
primary education/
wrafi fown s w3
Choose lhe correct answer from the options given
below:/ ==t fau Ta F & wft Ie g
(a) A-ULB-1V,C-1,D-1I
A-LB-N,C-Il,D-1IV
(c) A-ILB-IV,C-1II,D-1

(d) A-IV,B-1LC-1,D-1II
NTA UGC NET/IRF June 2021(30-11-2021 Shift-1)

11. Targets of Goal 7 of the Millenium
Development Goals (MDG) are  -—
foramra wra HEET T H
ﬁ&ag_ —a
A. Conlrol global warming
=7 Pre

B. Universal access to modern  energy

amyfrE S 9% va 9 g

C. Increase global percentage of renewable
energy Fal @i 1
gig &

D. Mitigating air pollution
aATY YU T HA HEAT

E. Double the improvement in energy efficiency/
Fall &war @l HEAT
Choose the cerrect answer from the options

Eﬁgnhcluw: )
fou W famweal o A W I @ w@T

(a) A, B, C and D only/&ad A, B, C 3R D
(b) B, C and D only/&ae B, C 3T D
(¢) B, Cand E only/&ad B, C 3 [
(d) A, C, Dand E only/@@d A, C, D 3R E
NTA UGC NETARF June 2021(01-12-2021 Shift-1)

Ans. (a) : G F1 W oA Aad -

-1 welt-11
(Tt ELeod
T e 7\

wg-2 _ wafhs R 9w a1
A3 . AT WHA F1 HAGA T HiE HEHHRT
A4 — AT G & F F FE

e ]

fillenium
ensurlng

13. Which one of the following
Development  Goals is  about
“nvironmental Sustainability?/

wA-T wgEE fasm wem watayn deEdy
urfraen giim ew S dwa i T
(a) Goal-|/e"3a-1 (b) Goal-3/@=3-3
(¢) Goal-5/¢R3-5 (d) Goal-7/c1RT-7
NTA UGC NET/JRF June 2021(26-11-2021 Shift-11)

JFE 7A  gw & A 3 wEEd O g e @

Ans. (d) : TEomd fqF@ @ed-7 qEE el

yIuiiga) Hi8T &6 &1 S S50 €

F =

Ans. (c) : TEETEE fAwm oA _(TRESH) & @ B: i fafqum gfa & f= @&em e 31 2010
FuferEn é:—m’r‘ o iy & w7 @
B. M F 7% W7 A G C: 2015 @ WAfEd ase ol A @e
Cmmﬁaﬁﬂ'ﬁmnqﬁ;w \ WqﬁﬂﬁﬁfﬁﬁﬁﬂWI
E Fiol & a1 30 - 7D : 2020 @% W W FW 100 R go-
12. Match List 1 with List Il Mﬁ@w%mmﬁwfwmml
Q“-Dﬂ il @ ik 2 : 14.  The number of Sustainable Development Goals is
List- -1 F List- IAGA-II sl farsTa eed @ wE § :
Millenium Jeed (a) 13 (b) 15 \ :
Development Goal (c) 17 (d) 19
WH&H NTA UGC NET/ARF June 2021(26-11-2021 Shift-I)
A. Goal I/ <FH 1 I. Promote gender Ans. ({.] qgm:uﬂ-q' ﬁ.za.-m' a&_-q'[ 'q‘ﬁ o= 17 3”
equality and empower swifafaEd é
women/ 5 | A
& dadq g e ||| gﬁnammmwaﬁ-mﬁy
T (2) w@ 4wl @ guEn i dgat a3 e
B. Goal 2 /50 2 . Reduce child FOA T :
mortality/@a T & |||(3) it o & @i f R g iR | Hfien
F FH HEA H T
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Qnline atud

(c) C>E>B>D>A (d)E>D>C>A>

(5) & T NTA UGC NET/IRF June 2021(25-11-2021 Shifi-)
©6) T F R e s wd ¥ wa A @ ||Ans () : F RE RS (2020) % srER wA
_ A qoEE (Iedan | feam) & w2 § BRICS <9
(7) PR wwae st wa sifdE faew, oo sh & T FH 2 - 9 o AE — = FEEE o 2R
< S ' HEIF > WA

I s ERE:E Criit stfE| | 17- 1o India, according to Niti Ayog's SDG Index
(8) 1 5 e, SR W (2019-2020), which is the best performing state
N . on SDG-9 (Industry, Innovation and

(9) avi & T AT 6l &0 T ' Infrastructurc) P4
(10) Fifam wdet #i s v s el a1 Fmfo ftfr amar & w2 S gt (2019-20) F
(11), T | 3R I Ged ghafsa 7o 4 En wia # @ € -9 (SEm Tmen a

MWWHH@W%Ml

13 Tads AR 3mE wwE ¥ e F fad
LEAGECIGIE

(14) =rf aad fagm & fau wgravei, aqf danE @
T |

(15) T oitfeafaaa sonferdi, qfem simell & TR
FTET

(16) rifagul i woraeht wivfadl 31 == 3m

Mﬁ%ﬁ@%ﬂl
15. Which one of the following Sustainable

Development Goals (SDGs)
sustainable  consumption, and production

patterns?/ Frefafaa & & -|r
faa wem (UWET) duwefa sewn afw
IR F B Y wafirg 37—
(a) SDG 10/TH 21 S 10 (b) SDG 1 1/28 21 5 11

SDG 12/Ta g 5t 12(d) SDG 9w F S 9
NTA UGC NET/JRF June 2021(25-11-2021 Shift-11)
Ans. (¢) : HYUTE @9A HR IAEA H 7 HAOH 04
defon el & ITm A 8, W g s a2 qu
aﬁ%mﬁmaﬁwﬁgmaﬁﬁmwﬁﬂ
ol w1 wrE i # ew & @a d T8 s
g1 A 12 (dunin fEm o) duneiig Imam
3 IS A 2

is related to

|

16. Identify the correct sequence of RBRICS
couniries in relation to their sustainable
Development Goals Index (From highest to
lowest) as per the Sustainable Development
Report (2020)

e e (2020) 7 RN Faa @
e guEE ( fremm ) & w=d
BRICS 2911 & W&l o0 &t Tga dif
A. ChinarsiR 1 1
B. India/WTd nl’ (102

C. South Africa/Sf4Tum a1wienT —
D. Brazil/@rsfier
E. Russian Federation/&H! thgtorT

Choose the correct answer from_the options
given below/ feq mu R I

IFTREE ) W wad age e & amn

T -1 &7

(a) Gujaral/TsRT (b) Kamataka/@AlesH

(c) Kerala/dtet (d) Telangana/asmAT

NTA UGC NET/JRF June 2021{24-11-2021 Shift-1)
Ans. (a, c) : AlfT AT & UH 21 S gEEE (2019-20)
% IER e § vH & A-9 W dgen e &1
T T FA@ a1 A &1 weest-o § dni asd @
88 3% W gu &1 T faEm wRF-9 IUm, TEER AW
Tt 79 F AR @ T swa g adi g
=i & i &, dueefE siniee @ = @
TETE o ¢
18.

Under Sustainable Development Goal 12-
Sustainable Consumption and Production, one
of the targets is to reduce per capita food waste
at the retail and consumer levels by:

A Frhre TRz 12 W ITAIT 3 I &
TEd, GeT K IUH Wl Wy sivn @

JTYTE T TN G ol GiAT Uk o1sd &7
(a) 3/4
(c) 173 (d)

NTA UGC NET/JRF June 2021(22-11-2021 ShiftT)
Ans. (b) : WHRVIG @ @3-12 % AR G qa|
& GO B | 99§11 1/2 WL dh &H Hld & Jhed
feren T &1 W fawm @l @ gew 17 & S
srifefEd @

() @ faw 5 vl & wi w0 £ i)

(2) @ ¥ W T@ A MR aER 9w e
fears Ff 1 Tz

(3) Wi 3 F aril § @ gen i wme S
= FFEN

(4) TEE 3R =T e g e geE sem

(5) WS HHEA

(6) TN T fom w2 3 I & o A A IreeE

) R wEeh ot wew enfdw fawmm, i el
Irqres AL

(8) el g e, wweel siiv waq s
N A

(9) W F 97 IEAEA T OFH FE

(10) wHifem i 3R e we 3iv afeadi @ Fmion

& TG WA

Y/

/
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Wl WA fasmw & fau werevRi, @yl dEnE
T [T

el oftfedfrerg sonferdt, gRe S §
AHEA FH U1

wiifaqul 3wt wfafadi @1 agmEn &)

afs wierl gffem Fem

The Sustainable Development Goals (SDGs) set

in 2015 by the United Nations are intended to
be achieved by :

“‘F“?T'{Emaﬁ 2015 ¥ Fruifta ddmavig
feorerrer waal (TSt ) @ wa 7@ wE feu

aﬁmmt‘ ==
(a) 2025 Qb} 2030 ) lﬁ
(c) 2035 (d) 2

UGC NTA NET JRF June 2020 (24 Sept.) Shift-11
Ans. (b) : Tq® TP @0 a¥ 2015 ¥ fuif@ wuriE
e o (waELSR) #2030 9% 5@ e S= @
3273 81 34§y el & wiwfer fe m §)
srrn i s TTmEE e o
Rl @I T e

A gt

S — A s W A
<—rr1rm'=:7.‘a'rm=m—pmm .

TN

CANEE/UEE, SAET o wme § gm T g §
3 Sfedl 1 s

20.

Identify the ohjectives specific to sustainable

Development Goals among the following :

ﬁn:rf%rﬁya o o R & et & ey

faftre weai & g @il

(A) Responsible consumption an‘/lrnductmn!
ITEEH @Ud Ud IS

(B) Life on land/¥-Sfta=

(© Imprmmg maternal health/™Tg™™ &=g
u HUW AT

“nsuring

(D) E

environmental viohility/
Tl

(E) Reduced innqualiiy!&l’ﬂ'ﬂTﬂ'ﬂTﬁ &l

Choose the correel answer from the option
given below

Hrer @ 7 faaedt § & vl 39 g
(a) A, B, E (b) A, C,D, E
0 B,CDE (d) A,B,C,D,E

LGC NTA NET JRF June 2020 (9 Oct.) Shift-1

QRiNe.ailic

Goals, the reduction sought to be achieved y
under-five vear child mortality rate between
1990-2015 was (o the extent of :

@ TEd oigd 4 |, 9 1990-
2015 & da UiT a9 ¥ &5 g S A geg o A
W &t T Aol i wuft farah ot 2
(a) Haliyzmdt v
(b) Two-third/2-frer \/
(¢) Three-fourth/fi=-=tar
(d) One-third/m-ferd
UGC NTA NET JRF June 2020 (24 Sept.) Shift-11
Ans. (b) : GedIfeE [aFHE owdi & dgd @ed 4 7, ad
1990-2015 & o W § FA G 3 T §F W R H
W & S arelt A F91 21-faerE

22.  Which of the following poals are related to
millennium Develo ment Goals?
frefafiaa ﬁq

Ieva el fawre
el | W §7

(A) Improving maternal health/™Tg wreg

(B} Controlling depletion of ozone Iayerﬂﬂm
W H e @ [FEhE s

(C) lmprmmn the h['c of slum d“LIh.rs;"Flﬁ’Fl
afedi | @A ard @l & siae § gan o

(D) Creating smart city infrastructure/®E il

(E) Promating gender equality and empowerment
of womeniTeh THEM & gl &4
wigersi F Tl

Choose the most appropriate answer from the

ions gutn below:
R oot # 3l v P
(a)y (A), (C)and (L}only!ﬂﬁ? (A, (C) 3 (E)
(b) (A), (C), (D) and (E) only/&ae (A), (C), (D)
3R (E)
(€) (A), (B), (C) and (E) only/#@d (A), (B), (C)
(E)
(d) (A), (B). (D) and (E) only/3aw (A), (B), (D),
3T (E)
UGC NTA NET JRF June 2020 (4 Nov.) Shift-11
Ans. (a) : § WealT= fagm &3
(1) qaEndt am 7 F1 g FE
(2) FEw wamE fowm
(3) e wama e wfeen gofwao
(4) for9-7g T w2
(5) WIgea TR @ g &A1
(6) NIV/AIDS, weiftan, aan 3= famftdi & e o
7) TATET Fe
(8) e fawmm & fore wmmy w@iftm Fwm

Ans. (a): T 00 & ol & gy fafe g A= & - || 23- Sustainable l.‘luvo!upmcn.l Gonl-'Life  below
; water' aims at conserving and sustainably
A. JaEd @I UE I using,
B. v-<fram Torefra famm wea-we & fie e =
E. SHEH T UE Uit A 3 ot ¥
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Qnline.Stud

Iy
national poverty line by 2015/@4 2015

Casy. Nmtc@g&wéku

Rivers, slre:lms pond:, nnd lake resources/

(c) OECImS. sca ;Ind maring rt:snurccs"qET-H'Fl'{,
(d) Wetland resources/&dae! 'J-Lfﬁl (deeig) @A
UGC NTA NET JRF June 2020 (12 Nov.) Shift-11
Ans. (e; T fawm @l 'Tw & A Sad
HERTRI, WY SR WS HEEE 6w vd d@uria
mﬁﬂgwﬁélwmm 14 g1 af 2015 §
17 Hamefig fawm @di 1 3mam T fma ad 2030
& Tl wmw F oS ouE, g 3 e sl i |dm oge
vIifd &1 e a7 G
24.  Under Goul 2 of Millennium Development
Goals, UN member countries were to ensure
which of the following courses were to be
completed by children (boys & girls)
everywhere by the year 2015,

fasmre wedi & e 2 & afia,
HYwh Mg & WS QUi &l ad 2015 & &1 g
Tl (@ 3T arferatsti ) g fafeiaa o 9
@-H1 wreTEw qu fmar s gifde w5 an
(a) Primary education/sraf feen __~
(b) Secondary education/anafi= fen
(¢) Tertiary educationTra® fen
(d) Skill based education/&Tera 3menfta fown
UGC NTA NET JRF June 2020 (1 Oct.) Shift-1
Ans. (a) : Tedles fGFW oRal & 3= 33 oRg
Freffta fo e & e 2015 @ qu fan s gt
FHA 41l A 7=F 4 &
yrEntt aan R F e F
g 37 = e
HIV/AIDS, weifin 71 37 @il § gzam o
TR FAA
afus faam & fav s wfig s

Under which of the following objectives of
Millennium Development Goals, the progress
in the world as a whole has been least

snhsfacton"
e wredi & Profafea & @ fFw
YT & afria wow fay o s@fa wEw ww
Haras=a W &7
(a) Halung by 2015 and beginning to reverse the
spread of HIV/AIDS/AY 2015 &% 3ed 3R
va 3 diyvEa T ToE F aftads @ oy
(b) Eliminating gender dispanty in primary and
secondary education by 2015/ 2015 @&
saft ud wreafis foen 0 @ smEEa S
[

ra
i

L/f

utta i @ | A @ seEen & sam |
FHI
(d) Reducing by half proportion of people who
suffer from hunger by 2015/ 2015 7% @
§ fifgn aAfehdl & W9F &1 A9 § F7 &
UGC NTA NET JRF June 2020 (30 Sept.) Shift-1
Ans. (d) : TeE= fawm w=3 1,3%v9 - ‘@¥ 2015
% 9@ 9 difen fwdl & 3ua & 3 F FHFA &
i |ww fay 1 39 T F0 dEamEE W
26. Which of the following are
Development Goals?

WEATE! faera waa frfafea § @@= @ §7

millennium

(A) Eradicating extreme poverty and hunger/
af @ =1 =

(B) Improving maternal health/ATg =g o
QU AT

(C) Addressing climate change/Sciarg aftada
Harddt AuTE AT

(D) Promoting gender
empowerment of women

TfeeT TyfRaTur & agrar 21
(E) Ensuring energy security for all/@dt ED
fore st geen ghfveaa &

Choose the correct answer from the options
given below:
#= for o fawen O W WE ST oW W@
&Hifay -
(a) A, B,Cand D only/@@@ A, B, C 3T D
(b) A, C,Dand E only/&ad A, C, D 3R E
(c) A,B,C,Dand Eonly/A, B,C,D T E
(d) A, Band D only/@ad A, B #T D
UGC NTA NET JRF June 2020 (25 Sept.) Shift-I1
Ans. (d) : FeaT=1 faeE oeg 8 frer dfafom g~
i, Faiaa Fdaar 3 q@ @ IEA FE (MDB-1)
ii. T W@ § guR @ (MDG-5)
iii, <fiim wEEE S 9feer gl &1 ag@r @
(MGD-3)

27.  Which of the following was NOT an issue to be
addressed under Millennium Development
Goals?

Frafafas @ & UH = @1 g7 9@ & Torwer
wEEEs fawm wedl & wga wanTe R

equality and
AR AR

4

T °r? HW
(a) Child mortality/fere g==T ///
(b} Environmental sustainability/qafafg

BpbTinn|
(¢) Human rights/T=a 31¥FR [/
(d) Primary education/mafis fmn

UGC NTA NET JRF June 2020 (25 Sept.) Shift-I
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=X

aﬂﬂﬁélwmmmocsl
& e 8 o fauifta frw o & 5 ad 2015 7

W g ST
faai & for sl whih b wesa fe A
e wET Rl o FE S

N

b s wrw":?hwrm—b“m .

TN

UL P P b o S R
Ff arerr & e

Millennium Development Goals of Global
Partnership for Development cnvisaged
making available the  benefits of  new
lechnologics - especially which of the following?

fawm &g dfgs wewiiten & weeil= fawm
mﬁhwmﬁnfﬁﬂyﬂw‘&faﬁné

| T e AT T ST e &7
Infom‘m!mn and Communication/ga1 3T

(b) Ami'f:la] Intelligence/HEA ¥aT

(¢) Nuclear technology/AfiwEr srafrt

(d) Solid waste treatment lec.hnuluuyfaTH o
ITAR ST

UGC NTA NET JRF June 2020 (24 Sept.) Shift-1
Ans. (a) : faFm 2q afes mewfmr (=g 4. - 8) &
weets fawm g f R & @ qedl &
il @, fama aaT 3 dEm st (ang @ i)

29, fa=fertaa aftrere=r ot faem &i-
(a) TEE=l faweq @ ¥ 2015 7% W@ A

28.

oM 41
(b) HuRviig fagm @ wqw a7 fawm GapEY)
ifa &1 2035 T MES FAA W
(c) Hureig faam @ s=all 2016 & w9 ¢
I § ¥ Gl sifeeas @ -
(a) &4el (a) 3T (b)  (b) e (b) HTT (c)
(c) F@F () 3 () (d) (), (b) 3 (c)
UGC NTA NET 2019 Shift-11/{(5.12.2019) Sct-8

o O et

Wrﬂm y

(d) mﬁmﬁﬂ it 1 gffam F

UGC NTA NET 2019 Shift-11 (4.12.2019) Set-6
Ans, (c) : g% T T9 T 34 2000 ¥ weEl= fER
mnaﬁmmﬁmmsﬁﬁwﬁmw
fuifm g 2 f5< wewe fasm &9 (Millennium
Development Goals- MDG) &@ ST &1 4w TF &
I NG & |98 WeE 49 ud 32 P memsi 3
2015 7% Frfoian @i 3 wig & fa dweg foar
ql—

1. dan i 5 T &
2. W wE A
3. fef oo aan wfgen wemhET
4. famyeg < 0 i
5. HigE @ §
6. HIV/AIDS Tafen aar = Smftdl § g2 un
7. GaaTviE wurviEm S g @
8. afvas famm & fou ge=r wnfo w5
31.  waa fawm wedi & Fo fawa -
(a) AT Uftad
(b) = ¥R 3 FEE
(c) wifa =g 3R wegA WA
(1) Frerd famm sk Ifem T
(e) & g
() IR T 3 Iea=T
Prefafas fraed § 9 T 397 & 99T Hi—
(a) (), (b), (¢). (&) 3T (1)
(b) (b)), (c), () AR ()
() (b), (e, (d), (&) 3 ()
(d) (a), (b, (c) 3 (f)
UGC NTA NET 2019 Shift-1 (4.12.2019) Set-5

/Ans. (c) : 99 Tp 49 g0 a¥ 2000 A HewrEEl R
WHHﬁ’OISﬁHEﬁQB&ﬁﬁMﬂﬁIﬁﬁH
frm T | 5 wewE FEW WRd (MDG) 381 I 1
Huniig fasm @ @ fawm & fav d@qw ap @9 2/
T T 411 98 S4wH divad oedl &f 99F 59 |
TR S &1 a9 2015 F 30 § uwers fGwm o
F | @ 99 W Huneim fawm 9T (Sustainable
Development Goals, SDG) 3951 Wawfod &% ® €1
qg @F 9 2015 T 2030 aF MEE T L) 3T
F faw 17 =g 3R 169 G e &)

30. fr=fafiga @ & @ |1 QaEe [aad wad
(wa & sfty T §?

(a) srefir fredae siit @ &1 3=

(b) 7Ty TR # FuR

Ans. (d) : FFEE T A TYF T¢ F WAT 4 17
wad fa@m @4l (Sustainable Development Goals-
SDGs) FI Uffero= a9 & #1 ¢, fome 3eeg af
2030 6 WF T AEAEE 3R A0 fag 3 @
Ereiid

17 wan s @ 3R 169 Fya waad BEm & fog
2030 UsEr & 3w g W famew 2015 § wqw
TpHEEY & fIE 43 F 193 HEE g9 A M
fan an1 17 v fawm ol & gt Frefafea -

. A & quian |mfE 9 i sgEs

- eIl I

. I W 3 g '

g Sl

ww Wi 3N =l

el 3R == F=

9. IM FEER 3R FFAAE 9 T T

Sﬂ‘-—l@lﬂ-‘ahJI-J—'

10. a9 # F

NTA UGC First Paper Planner Volume-1

495

YCT

Scanned with CamScanner


Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink


zusommm%

54. At this juncture the development and
eprironment have become:
7 fawma afr vatearor v gt &:

(a) Opposite 10 each other/faindi @51 111'{ 2
(b) Balanced to each other/
(c¢) Complementary to each olhcr.”{l?ﬁ EF{ ™ g
(d) Partner to cach other/Hgamil &= 7T 21
MPPSC SET-2018 (17-01-2019) Shift-11
Ans. (a) : A9 H [EFE 3N TEET UF g & A
a4 T ¢ faw @ i & gataw @ gwfEa S
3 T & T R oy fawm @ oRom gglan &

e =9 21

55. Given below are two sentences: Assertion A
and Reason R. In the context of these two mark
the correct code:

Assertion A- sustainable development is critical
to well-being of human socicty,

Reason R- environmentally sound policies do
not harm the cnvironment or deplete the
natural sources.

code:
& areai- afwwaT A @ giea R
for o #1 37 S T & A o e Ry g
fameat # 9 wit faeew @ wa @it
afseT A - Waq famw owa WO &
THeaTun & feU anavae g g
R - gataver @t gfe | sfaw Fife gatamor
& JE wgaTdl svwar wigpfie WD @
mqﬁﬁmtl

(2) Both A and R arc true and R is the correct
explanation of A/ A ¥ R 1 &0 € 3R A

1 T = g

(b) Both A and R are true but R is not a correct
explanation of A/ A @ R &1 &rd € 3R A

1 W =N 9 8

(¢) A is true and R is false/ A T & #HT R
EA €

(d) Both A and R are false/ A R A mél

MPPSC SET-2018 (17-01-2019) Shift-11

Ans. (b) : Toq fa@Wm mHa TS & &0 & A

WA oW 2, o0 T &) gataw & gfe § 3t Al

waferer @i gfd 7 gt sEar wEioE |\ o

ﬁgwé.wﬁé.mﬁmﬁm)aﬁuﬁm'

|

56.

Bio-diversity forms the basis for human
existence in the following ways:

et ® W -
T AU & gE 8

Online.Stud

(2) Prevention of soil erosion/ T&I 3YET
TFHam

(3) Re-cycling of waste/ 319f¥Tg & REEEL

{(4) Pollination of crops/ ¥ 970

Select the correct code given below:

TE FE & TGS RTAC:

(a) 1,2and 3 only/ 1,2 33

(b) 2,3 and 4 only/ 2, 3 3iT4

(¢) 1and 4/ 1 34

(d) 1,2,3and 4/ 1,2,3 A4

MPPSC SET-2018 (17-01-2019) Shift-1

Ans. (d) : 5= Rl @1 o974 fmfh Py aifes &7 1
U 99 O Sl Ud gt & e, Wi e g
dE § #)1 3a fafaww & 3 s ot @ @ @)
g f TeaE ) A A § e wghe deEt
I9eraT # 3] Sifaw w2a a1 g d 21 g feio,
TET AT & Uehg W aeedta s & e g e
€| arEfaE SMER0T gl e @ & & wead S @
AdT WA & gUEE WE NEE & 8 3§ SER
sufsie & Ewn a9 g off Sfe-uey g
Tereifom €@ &1 3W: WEE F SEvEwm S 9 #
sifafafauar & 37 meam w i 21
57.

Y

The largest component of the atmosphere is :
AATSH T TEH AT TG HI §?
(a) Carbon dioxide/FlH" ZBFFAES
(b) Oxygen /31T
ilrugcllfﬂTsim
(d) Hydrogen/BREISH

1PPSC SET-2013
Ans.(c):‘gﬁf%ﬁ?ﬂﬁﬁﬁﬁ?ﬁﬁﬂmaﬁ Crl
¢ Y@ 3R Y T F A (78%), IR (21%),
amh(ooa ), WA E§ HFEES (0.03%), T s,
#ferm, 3w, Frafa anf2 3 o 6 3uftem &6 &
58. 'Red Data Book' provides datu on:
Yo der ' P i it e et &2
(b) Photosynthesis/S&T3 ¥ Z
(c) Population/sfia H&r
HPPSC SET-2015

d) Endangered species/H&2194 s
Ans. (d) : ‘T8 ZET IF' @Fe A F a) § 3NSHg ¥aW
4 2, S W W @ 9% €, T 9 fam anor § 99 gy
i S T qa T A §, 3w e @ seoe
i yaR 31 ‘@i AR 8 G s ) g e @
Frqea i & char-oial g 81 SHeE SE $2TTe|
e BR SETE 3% F (IUCN] 3 @1
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(Human and Environment
Interaction : Anthropogenic
activities and their impacts
on environment) —

59.  Which of the following is an ozone depleting
substance? - 1 T=
=T = T A H T urd §?

(a) Sulphur dlo‘udmm I TEE
ethyl chloride/f9a FamEE
(¢) Carbon dioxide/FTA B HFAEE
(d) Methane/fiz=
NTA UGC NET/ARF June 2021(20-11-2021 Shift-1)
Ans. (b) : 3T &R0T, A agRvEA § gE @ e
WA 1 iR 6R v @ § @ fowa sq@ amw s
e SR ag1 GanE @ BEan e oo gl &)
FoFm & TR & FHE WWG WAH S YT @ W
gzl ¢ fane F6nge A wEl § 9w )
60.

What is the correct sequence of prescribed
limits in residential areas of 24 hourly averaged
following pollutants by Central Pollution
Control Board of India?/ WA & ‘;I?TU'I

o E24 8 ST 8 e 17

g o 24 W2 &
forrtfie dhomsit @ w F | ST HET T &7

(a) PM 25 (b) PM 10

(c) SOx (d) Pb

Choose the correct answer from the n%ﬁcms
given below &/

IUGTH IT @ TG Wi —

(n) Pb>S8SOx>PMI0D>PM 2.5

(b) PMI0>PM 2.5>50x>Pb

(c) PM 25> PMI10>Pb>SOx

(d) PMIO>SOx>PM2.5>Pb

NTA UGC NET/ARF June 2021{05-01-2022 Shift-11)

Ans. (d) 1 National Air Quality Index Report by cent
pollution control bourd.
LADI "My [Pl N0, t‘); {_U|Jm S0;  [NH;y [FD
Calegory 24 24 g lefm’) |24 re |4
(Range) hour |hour  four hour |8 hour |hour [hour fhour
jood (00— NI=50 o030 pdo p-50 H-100 oo p- jos [Dark
501 2040 reen
Satsfactory  |S1- M=o - [51- =20 H- 0 201 06— rﬁghl
51—100) (100 MO |100 =0 [oo 1o wrecn
Muoderate 10— 6190 |Hi— 10— [20-10 81— HOI- (11— |Yello
ol —200 250 180|168 180 |80 |20 W
Poor [231— - [isi-[1es— [1o 01— [WWI- [§01- 21— Komang
01 -300) 350 | R0 0% 17 Koo 1200 30 3
Very Poor  [381— [121— pxi- o= 17.0= [s01- 1201 = [Red
(301 0n)  HID O J2s00 [0 a8 M 1600 - 185

1800

Nl

ftl 1@7\.

7 wmﬂﬁ HIFH -
PM,, > SO,>PM 2.5 > Ph 2@: fadeT (D) 5a 21

61.

T

(3]

Which of the following is perceived relatively a
low rise problem in_ the context of human
welfare?/ grnhﬁg?r T | S WHa FHedn &
wWed o 'ﬂﬁf&ﬁi w9 W ®Y ARG aret qwer

e

T THT AT §?
\ﬁdlnnucltdcs
Wzt Aifietia F0 (i)

(b) Airbome loxins
argafan fader gard (namEr i)
(c) Stratospheric ozone depletion/@mmuaeia
T BT (BT 3 fEedfie)
(d) Habitat alteration and destruction
amara ftads vg fame (e affeetym e
feamm)
NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)
Ans. (a) : TZandf v &0 @1 5me S & 9=y
T wnifes ' 0 &0 SfEn aelt g & ' 0w
T 2
62.

Given below are two statements
=t 2t sy g o &

Statement [: Toxic chemicals often injure
organs as well as orpan systems

&uA-1 : fater WA agun 3 @ afr gt
= B v §

Statement 1I: Hepatotoxins are chemicals that
can damage kidneys

wHAA-11 : IS ag WA ¢ A Rl &
grfer wg=rr weRar &
In light of the above statements, choose the

most appropriate answer form the options
given below

ITGH FHAA & AEE §, e fow m fawet
H § FE I & =@ St
(a) Both Statement [ and Statement I
correcVFaT | #I (1 3T R €
(b) Both Statement 1 and Statement 1l are
incorrect/ HFF 1 3R [ A1 Mo €
(c) Swatement I is correct but Statement 1l is
incorrect/ 2 | T E, f&g 11 AT 8
(d) Statement [ is incorrect but Statement 11 is
correct/ FIA | T &, fere 11 e E
NTA UGC NET/JRF June 2021(30-11-2021 Shift-1)
Ans. (c) : it T6m= agan 30 9 3 soneh @1 gEEE
WA § T gUEREE a8 e & S R # Jeae
T WA &) T R &4 | 6 aq w6 1l I E
: fage {c) 3 od él

arc
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Easy.Nates.dLl

el of human development, microsystem

cnnsmutes

A. Immediate Tamily n. Sthnol

C. Beliefs D. Customs

E. Neighbourhood

Choose the correct answer from the options
given below:

it =i * e faww & hfaw Atse
¥ STER GEApER e T e §:

A fean oflar — B v

C. e p. fifa-fa=

E. wiaer

et Tou 7o famedi § W WE IWC @ waS
T:I-ﬂﬁ!'!{:

(a) A, B and E only/&a@ A, B 3 E

(b) A, B and C only/dc i C

(¢) A, C and T only/@ad A, C 3T E

(d) C,D and E only /&d@ C, D R E

NTA UGC NET/JRF June 2021(26-11-2021 Shift-1)
Ans, (n) : 0 FHAAR F A4 G5 F was HEd F
g fageam vfEr, frar wefn ud s e fawm
F S Ud T =0 0 YOEA S &) TmEi
A ST F Sifas died Woam B9 Hag UHET 7
i T €| & oI 34k I Siaw Wed & e Fome
i figeaw wian, faur gl @ sfew & sE e
& w0 § wE g
64,  Which of the following features are indicative

of the negative social rather than physical
aspects of environment?

W FA- favgand waierer &
«fifas wali @ afirs 376 WIS QIS
Ty # dohadh &7
(i) Habitats in slums /A af&dl & -3

(ii) Conflict and clashes in groups.

wEl & wod 3R e
(iii) Frustration and anxiety manifest in
groups./HgEl # @aﬁtmmiﬁl?

(iv) Aggression and threats manifest in groups
HUE SHaER # FHEEA R T W & §
Choose the most apprnpr]'ltl‘ answer from
the options given below:/ =fier few g
fararedi o & WE IV I IO I
(a) (i) and (ii) only/ @ (i) 31 (ii)
(b) (i) and (iii) only/FaE (ii) 31T (iii)
(c) (ii) and (iv) only./Fa@ (ii) 3 (iv)
(d) (iii) and (iv) only/&=e (iii) 3T (iv)
NTA UGC NETARF June 2021(22-11-2021 Shift-11)
Ans. (¢) : Tl & AifaE G A HUF 366 ARKES,
Tt v i w ¢ O ae sndetan 2
(1) Wl @ T e el
(2) W SERN § SEEHAl U Al WY & b

Qnline.Siugy

deplenon is due to emission of:

u‘a‘l“atuﬂwmﬁmﬁ;
mﬁw%mt'o‘

(A)_Sulphur dioxide/TTH SEAHTGATES '/

(B) Ahlorinated hyd runTj
\Jéﬂm TIEEETET

(C) Methane/digs ———
(D) Carbon dioxide/sTe= 1§ awrss
Choose the most appropriate answer from_the
options given below:/ fex ma
WaH IUGTH & TG RAC
(a) (A) and (B) only/&ad (A) 31T (B)
(b) (H]nnly!glﬁﬂ (B)
{©) (B)and (D) only/dad (B) 3 (D)
(d) (A), (B) and (C) only/Fa8 (A), (B) 3 (C)
NTA UGC NET/JRF June 2021(22-11-2021 Shift-1)

Ans. (b) : O 2@ A AfgE q@End_mEeE

mjﬁmﬁ AT , gdrEE, -

sam@‘ FTEAES & aat?‘n F TN 2

66. Which " the Tollowing is most effectively
promoted by Globalisation among the
societies? .
frofafEs § @9 w1 grg T AT § wdag
wu & Ao ¥ waftia fmar @ e §2

(a) Monocultural values/T&a RIEHF T s

(b) Multicultural values/a8 TS W l_

(c) Rcmundllsallowaﬂldﬁ.ﬂl

(d) Self centredness/3ATTH- g

NTA UGC NET/ARF June 2021(20-11-2021 Shift-11)
Ans. (b) : agrrrqfazrwmm:mmqqﬂmm
§ 4 & Sanda e @ &1 9 e (b) 59 8

67.

Given below are two statements : One is
labeled as Assertion A and the other is Inbeled

as Reason R. Eﬂmﬁqm‘g : Th
TR TS (Assertion A) # v d fafga § @
{Hﬂmm (Reason R}ﬁ?'ﬁq'ﬁ' :

Assertion (A) : Mankind's interaction with
Earth has led to a highly complex and diverse
ccosystem to an increasingly degraded
environment,

e (A) ; araar 3T el & a3
ool ot faftrrargef oitftufes-d =
i ot vy @A araTaTr # oitafde & i

Reason () : Many of the changes taking place
in Earth’s environment are irreversible.

W (R) : U7 & aTdTalm ® g W 3w
uftad= smaftad=ra €

In the light of the above statements, Choose the
most appropriate answer from the options
given below:

IqUTH YT & et |, e fau o Rt
# | FE ST FAT R
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Easv. Note

rrect ctplanntmn nl' (A) ([.-\}
T & 31 (R), (A) 1 T =men &
{(b) Both (A) and (R} are true but (R) is NOT the
correct explanatmn of (ALAA) T (R) &
T &, Tl (R), (A) F1 TET A @ 8
(c) (A)is true but (R) is false.
(A) T &, ST (R) 375 &
(d) (A)is |d|bl., but (R) is true,
(A) 35 &, afF (R)F &
NTA UGC NET/RF June 2021(20-11-2021 Shifi-11)
Ans. (a) : (A) 3R (R) 247 99 € 3R (R), (A) %1 T8
A &1 ¥ [GFeq (a) T 81

68.

Which of the following pollutants have adverse
implications for human health as well as
climate change?
A. Nitrogen dioxide .
B. Particulate matter (PM 2.5) !/
C. Ozone
D. Methane
E. Nitrous oxide
Choose the correct answer from the options
given below:
frefafea © ¥ ff ygoat 1 wivge e
T & @ i werarg uftas o uean €7
A.TFETA TEATFARE  ———
B. USRI TaTdf (PM,s)
C. airai g
D, Hie=
E. A3EH AFTE )
(a) (B), (C) and (D) only/Fae (B), (C) 3 (D)
(b) (A), (B), and (C) only/ &= (A), (B) 3 (C)
(c). (B) and (D) only/ F=@ (B) 3T (D)
(B) and (C) only/ %@ (B) 3 (C)

NTA UGC NETARF June 2021(20-11-2021 Shift-1)
Ans. (d) : ST w2 (6w 2.5) 3 SEE (0,)
S @ Si0ga §9E T & W@ il gaary uiada
T Uga ¥ FUTER G F ITEM WE G4 Gy a5
H @A T F fau G WA f S aehs, ARl
s fe & a9 @ €)1 e @ fawfor a3
T F A A SRS (Nox) o9 W F
wg FffE & T 2

69. The abbreviation NMSIHE, in the context of
Climate Action Plan of Govt. of India, Stands for
U TEH W T AT & e
¥ NMSHE Prefafiaa o & e darmer £

3?&} National Mission on Solar-Hydro Energy

(b) National Mission on Sustaining Himalayan
Ecosystem
(c¢) National Mission on Sustainable Hydrogen

e TS B

T | |femrerm s‘nﬁrmm él T NM‘CCH-?I =g
SEAr AT A e A o e s i
m fafm ot zgm & foe wge fvm s
m g fram @ g fivm -
m T w@ fym
m i femrerd wftfeafs & ot fags
m & WA 3w fve
m Sy TRadd & o 59 W 0w s
70. Identify the correct sequence in increasing
order of the carbon content per unit mass of
the following reservoirs of carbon in terrestrial
environment

Trefra amrETn ¥ @ & et dEn
* yiv 3omd e S wEE e & g g
U @ el I Tafga enag:
~“1. Plants/dr
V2. Peatruig (diT)
. Soil organic matter/g2T & wrefre urd
\/4. Fossil fuels/siamea fu:[

Choose the correct answer from the options

&lignhcloa )

feu u farareat o @ wEF SO i
a) 2.1, 3 {h) ||3!214
(c) 2,3,4,1 (d) 2,1,4,3

UGC NTA NET JRF June 2020 (30 Sept.) Shift-1T
Ans. (a) : WA amE | Zr m EEe & d2 F wi

TETd T & &R U F 97 qU FN & W IE
2: ti’sz«:qh‘:«:qmﬁm%aﬁamém

T1.

Given below are two statements ;

et & s fa o ¥

Statement/&dH () : Long stretchers of majar
rivers of Indin have very low Biochemical Oxygen
Demand (BOD) values/¥d G Vg Afei & o=
el § SAnE e W (aEhs
e fente (@ 30 <) & 9 9ga F9 6 €
Statement/&FYT (11) : In rivers oxygen is added
into water by diffusion from air due to its turbulent
andmpldﬂu“ﬂfﬂ'ﬂ'l'w"a'ﬂ ﬁTﬁﬂHEEEmﬂTEIE
& fam &1 395 o i s fim S g

In the light of the above statements, choose the
mosl appropriate answer from Lhe options
given below :

Al % aneits § Prerifea faaedt §
| waffus Iugeh 3K 4|
'u'(ﬂ] Both Statement | and Statement 1T are correct/
B

Fo | 3 || A TS E
/ (b} Both Statement | nn_cl_l Statement Il are
/ incorrecV/FHIA | 3 [1 &1 6T &1

(c) Statcment | is correct but Statcment 11 is

Emergy ‘ _ incorrect/®dd | Wel & fhg &4 11 T 8 21
(d) l'l“:fatmnattl Mission on Survey of Himalayan (d) Statement I is mcnrrc;t but Statement g is
‘cosystem (/e | H/E A Fo 1 Tl
NTA UGC NETAJRF June 2021(20-11-2021 Shift-1) UGC NTA NET JRF June ::E, (5 Nov.) Shifi-1
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mmﬁa&ﬁlmwﬁwaﬁmzmaaﬁ
U U % IER, Wi § wofia T @vel & s
a7 351 @1 7 21 3 @A | ) A 2

T72.  'Solar Water Still is a device used for which of

the following.

‘e aret e’ wE Iuaw &, frwesr suan
Prefafaa o @ faas o frar smr &7

\ymduce potable water by using solar energy/
Hi Tl & ITEM W UG 9 & IEA a0

F fau)
(b) Pump water by using solar em.rgyﬁ-f'r{ A F
IIGNT G A & P FA & )
(c) Generate electricity by using solar cnr:rgyfFlTI
il & YA a0 A I #1 & faw)
(d) Produce heat using solar energ_v!‘\fﬁ'{ T &
IYART Z FO I F & fed)
UGC NTA NET JRF June 2020 (5 Nov.) Shifi-1
Ans. (a) : §o G2t fZel 0% 3940 @ foes I9Em
AR Fo & ITEM I T FA A IEA A & [
T ¢ Tl W 9 7 TR 9§ e e T g
73.  Given helow are two statements : One s

Iahelled as Assertion (A) and the other is
labelled as Reason {R}

fadFmRum g : imd § & =
mﬁtﬁm(;\]aﬁ'{wﬁﬂﬁ(mmw%l
Assertion/3TTUHAT  (A) Global warming

potential of a molecule of a greenhouse gas over
different time spans of decades to 100 years may
vary mgnlfn.nnlly!ﬂﬂ-?f T T 100 T F -
A wEE 8 A gew W § ey F
am # gia w3 T e ° F A @ w2
Reason/@h (R) : Some greenhouse gases have
shorter life times compared to carbon dmndc@
ARIEZY T & WA FHA 2R EE &
AT ¥ 7 g 2 |

In the light of the above statements, choose the
most appropriate answer from the options
given below :

wUHET & e # freifeea et |
A watfusw Iugw I 9 ¢
(a) Both (A) and (R) are correct and (R) is the
correet explanation of (A)(A) £ 0 (R) e
T & 3T (R), (A) F W =men 21
(b) Both {A) and (R) are correct but (R) is NOT
the correct explanation of (A)(A) 3R (R) Eri
T ? T (R), (A) T T SN T 2
(¢) (A) is correct but (R) is not correct/(A) o ¢
T (R) T T 2
(d) (A) is not correct but (R) is correct/(A) Tl
T & W (R) W 2
UGC NTA NET JRF June 2020 (4 Nov.) Shift-1

—maﬁmnmmam%m@m

eRE 6l F A FEA gd siwge A g i

W EA R (A) IR (R) B T F 3R (R), (A) A

wE =T 2

T 34 14 TG § AHA SEaEE CO, & | |

F 2R sauRe | e # us oe | 9 et

— W TFA FiE 9% T oaw T8
— e, @8 waEw § g g

e

Hiaq 124§~/ /

AGEH AT 121 9

GEiEd T qarE § ©F g5l g % &

74. Given below are some metals which are

released into environment from a variety of
anthropogenic sources. ldentify the melals
which have been of serious concern from the
pmnt of view of pollution of water bodies

/ urgell & A fg o § g atiw
YR o WHEWd WAl garate o Ieatst
foren e &1 39 it @ agEe a,‘lﬁrq

wengTat & yeuer & gfﬁa;‘m @t it
T =7 faag w® 7
1. Aluminium/egHifran
2. Copper/ai=m
A Mercury/ary
‘}(Cadmiumfaﬁfﬁﬂ'ﬂ

Choose the correet answer from the options
given helow:

:ﬂﬁﬁ&w&ﬁmﬁfﬁﬂuﬁmqﬁq
(a) 2, 3.50nlyﬁ‘cﬁi 2,35
(b) 1,2,3, Sonly/#ad 1,2,3,5
(¢) 3,4,5 only/dad 3,4, 5
(d) 1,2, 5only/@ad 1,25
UGC NTA NET JRF June 2020 (17 Oct.) Shift-1I
Ans. (¢) : TANE F Y399 & FEEO H NI, HaiEay
m!ﬂmwﬁmﬁtﬁmmﬁméluwgﬂm
WER & AEEH-a G F gata § It 5 e g
75.

Identify the correct sequence in decreasing
order of the carbon content per unit mass of
the following carbon reservoirs in the aquatic
C‘I‘I\IT‘DI‘II’I‘I(‘I‘II of oceans.

WETATTA o Seftsr armen § e Woen
Fraferfes wia Uowe Feaa= W s weEn &
Tt UTH TH FI UFEE St

A. Sediments/AeToe ( HEHET ) \/

B. Living organisms /<ffa-3=

C. Dissolved organic mattrr/ﬂﬁ T Wiferen weref
D. Dissolved inorganic matter

Tl 5T
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Easy.Notes.4ul

ﬁ%ﬁ&ﬁﬁmﬁuﬁmﬂl
(a) DA B, C (h A.D,C,B
(c) B,C,A,D (d) C,B,A,D
UGC NTA NET JRF June 2020 (1 Oct.) Shift-11
Ans.(b): A D,C,B
A, Tw (B
D. T4 §¥ aq:!rt‘am v
B. 913 a——g/
76. In Photo Yoltaic system (PV-system) arrange

the following form smallest to the larpest unit

wenryT-ferraan (d dt-faew) 4,

fr=rfefiga o Ted O | Tad @dl 3o &

0§ ARy

(A) Modu!q_ﬂi{h?{a \/

(B) Array’Tli é

(C) Solar cell/&T g/

(D) Array field/TX &

Choose the correct answer from the options

given helow :

et T T e R W T IR

(@) (B), (D), (A),(C)  (b) (B), (D), (C), (A)

() (C), (B), (D), (A) « (d)#(C), (A), (B), (D)

UGC NTA NET JRF J 2020 (5 Nov.) Shift-11
Ans. (d) : SHT-fawaa worell |°, uS Y favaa Ta
fl W1 §E €, 7Y O GE W Aigge ¢ I wigge @
HEA W R
.

Given below are two statements - one is
labelled as Assertion (A) and the other as
Reason (R).

=er e (A) 3T 76 (R) & O 9 Haa

faq m &:
Assertion/3Ta&TT (A) :

It is crucial to sustain

Himalayan ccosystem/fenredft wfica @1 @ |

W@ WA mEE 8|

Reason/dd: (R) : Himalayan ecosystem 15 home
to a number of indigenous species/fEMEE Tt
I T ST e g

In the light of the above two statements choose
the correct option.

Iqieh S HYUAT & ers #, i fawer g

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A){A) 3K (R} &t
TWE & 3 (R), (A) B 7 =me 21

(b) Both (A) and (R) are true and (R) is not lhc
correcl prlamllon of (A){A) AR {R) 2l
T & ST (R), (A) T 7@ =TT T P

(c) (A) is true but (R) is false/(A) T €, W (R)
T 21

(d) (A) is false but (R) is truc/(A) Te@ &, T
(R) &l 21

UGC NTA NET JRF June 2020 (13 Nov.) Shift-1

afew zafarxwﬁ Favas § fF 9% aqedl U@ Se-
3i 3 IE WAl F @ ¥2E F € (A) 3R
(R) 31 ®él & 3T (R), (A) 3 §&1 =z =6 &)

78.

/

Which of the following statements represents

mangrove charnctcnqhﬁ as a safety hedge?

| HA-R HIH FD-

tﬁﬁﬂ?rmfr a;"r T Ut & wU W winfEtEw s

?

(a) The mangrove trees are tall with dense
canapies/de- -gA 9 g8 o HR SR
I B

(b) The mangrove tree pravide both food and
medicines/F@-a T8 del g § GEd-IHY
3R A ST F §

(c) The mangrove swamps scparale the human
scttlement from the sea/@es- EEE
o femy #1 TE § e F )

(d) The mangrove trees  prolect  vulnerable
coastlines_as they hold soil together/&=-
et arel g8 g Azt A gEn &9 €
wiife 4 firdl & sies W@ g

UGC NTA NET JRF June 2020 (12 Nov.) Shift-1

Ans. (d) : mmﬁmqngdamwaﬁw
T ﬂﬁ:uﬁﬁrﬂmmﬁﬁlﬂammaﬁ

A @ favarE @ e 6 & ®9 § St
T 21
79.  Which of the following statements about the
Valatile Organic Compounds (VOCs) are

correct? ~———
S diftes (df 7 W) & oan o

Fr=fofaa #f ¥ Fi9-9 w9 9 82

(i) They cause acid rain/sat TIg q/ g
auf gt #1

(ii) They may cause cancer/5&hl ATE o &
B WAt §1

(iii) They play an important role _in the
formation of photochemical smo WAt

Taat s gu-dEn (') & fmim
Teraqul gt frme &

Select the correct answer from the options

iven below:
%mﬁ—rﬁg?r W waitus Iugwh e &

{M (1) ﬂl'ld {H)*’{l) 3R (ii) ﬁD\

(b) (ii) and [lu}'(u)-’#ﬁi(m)
(c) (i) and (iii)/(i) 3T (iii)
(d) (i), (i) and (iii)/(i), {ll} (iii)
UGC NTA NET JRF June 2020 (12 Nov.) Shift-1
Ans. (b) : AT S9 FiaE (@28 F a9 9

mmélummﬁmqpm(mj?ﬁﬂhu
m@%@mﬁmﬁl\mhmam%

Mﬁqﬁm mqram Eﬁﬁﬁ}&fﬂmaﬁl
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Easy.Notes 4u

{(a) Green chemistry refers to the redesign of
chemical products and process in order of
reducing or climinating adverse
environmental and health effect. / #9 &Rt

¥ ad @ % welEwiE Fa@ @ fawfra
WAE & FH FA A FAE wA & fd
T G AA W @ [ a5 E
ferd & &)

(b) Eutrophication results subsequent loss of
biodiversily 4
st g Erdl

(c) DDT is a biodegradable pollutant / DDT ©%

PECER
(d) The altitude of stratosphere is about 0 -10 km

from earth's surface /2R gt & et &
i 0-10 faft. 3 ot g 7
Correct statements are /78 HATE :
(a) (¢)and (d) (b) (b) and (d)
(c) (a)and (b) (d)y (b)and (¢)
CG SET 2017 Paper-1
Ans. (c) : B & A T GO g A4 TGt
mmmmﬁnmmamnw
&q fffa @rderm fm Fedt 21

124. List-1 with List-11 and select the correct answer

using following codes
Tf- | F: q%llﬁgﬂﬁaa?{ﬁm;maﬁ

Ahseth) g
- 1 g=h- 11
(a) | wardiTfgema | (i) SeEEEs @i
(b) | wieh e TECE
ClEE TIER: )
(¢) | = 7ar wem= & | (iv) 37 auf
ERATFEE
(d) | IR ufFT 3] (i) Temae
(¢) | Fwifs amfere | (v) sftsww w531 & amfeee

125. Which of the following zones are correctly
maltched with their permitted noise level units?
1. Industrial ......ccovvnrennres 30 dB

2. Commercial ....ccvenanianns 79 UB

3. Residential ........coueeee. Silence Zone

4. Courts veererccsrane. 35 (B

frefafas # § :E-71 8§ 399 I 9N
T THEGT o OTT e @ |/ v @ §?

1. afrgifim ........... . 90 h

2, mftnf/re ............... 75 Sielt /
3, 3TATHE crrrrerannn wEerd WA

(a) Only (1) and (2)/Faa (1) 3T (2)

(b) Only (2) and (3)/&Fa (2) 31 (3)

(¢) Only (3)/&ad (3)

(d) None of the abm'eﬂ'flﬂfﬁ § 9 @ 48

1IPPSC SET-2018
Ans, (d) : 394 fasedl &1 A4 U 39 YEH §—
21531101 = S 75 &
aferfes .. esa@Y
HEAET .ooveeevrrenens 55 @Eﬁ v

b, g faar s &7

126. Assessment ol black carbon and its impact is
carried out by:

T A @ gedia A FHaT waT e

WCCA

(d) ISRO
HIPSC SET-2013

(a) DRDO
(c) MoEF

WETEAT | Wl I wa=d i :
List-1/G=1- | List-117 g=i1- 11
\/m Peroxyacetyl (i) |Global Warming
RS
yl’nl_\' chlorinated |(ii) [Photochemical smog
biphenyls T
A (ot aare
argithTged
yﬂioxidcs of (iii)|Water Pollutants
“ carbon and EGER FAED
sulphur
4T Gt
& SIZATFATEE
(d) |IR active (iv) |Acid rain
molecule hpro g
IR wfera ary
(e) [Organic Waste |(v) |Discharge from food
Eﬁ'ﬁ'ﬂ? arafine processing plants
iy
Codes/&T :
(@ (b) (& @ (e
() () (u) (v) (1) (v)
() i) (i) @) (v (V)
(©) (v) (v) (W) () (i)
(d) () (i) (v) (v) ()

CG SET 2017 Paper-1

Ans, (b) : FEarg Uftad" ediwa T YRAE T (Indian
Network on Climate Change Assesment - INCCA) &l
& , T4 U Soag gRand faed ge ad
2009 § A ¢ ) 355 W@ 2ve e -

1. ey uftads & frgmae @ ofig W W ang v
7 fa=fam s

2. O FEA T oA 3R S T

3. SAarg WRadd W HTEEE g S SHEuE @l
fasfam

4, Ffa wmfds o =1 fawm som
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asy.Noles.4u

(a) 1981 (b) 1982 &
(c) 1983 # 71984 F
RPSC SET-2013

Ans. (d) : WU 9 TG Gh g § sins e
# a9 e 8, 7 e 3 REer, 1984 § @1 9@ F
T WS ) UE e | fem gftea wEre s
et § Freeht sediel 9 (frasa smeaEs—e) & FRm
g, Fowdl &l o we § @i 3 geg @ W A agd
HI AT 3 atg & RIS AT § dh 3T & of
ferm g

(Environment Issues :

Air
Pollution) =

128. Which of the following Air TPollutant has
maximum Relative toxicity ?

e o | fem g quur &1 ATt fatems
wad 2?2
arbon monuxldu."ﬂﬂﬁﬁ AH RS
(b) Hydrocarbon/8% 1 I
(c) Oxides nf'sulphurﬂili’:lﬁ & m_s’
(d) Oxides ol'NurngenHE?ITﬂ & Fawss
CG SET 2018 I‘npcr-
Ans. (n) : ‘T AAEFEEE F g gV 1 GOEE
ferderas gad wfas 2 R —
?;i;r ﬁ:ﬁsﬁms'g FHEA mm&’ T FEdel
|w mﬁﬂmiﬁﬁ
% o § oI A d aﬁ?, e
mammmnwmﬂawawmtﬁmﬁﬁﬁaﬁmmﬁq

&1 I €
\%;gﬁéq AT FEfE difE iR 8, S
I FHT F wARER T el a1 @ &1 W

e ST 2O e, i iR AT

& vzl e 9 I9d e 81 0 Wad W e

Ceiciakecrn i)

T & AaHEe- Sihawd $am & g & uitommasy

e & 3aUEs IMA B o) TEH

SRHFARE ¢ | T9H P Wiga T ¥ fared gwq

&1 TROT @] 21 9@ 3l aut & (e W Joerd g

AFEISA & AGAES- 36 VGEF W W@ & IiEan

7 $F &1 NO, F1 v TEW g | ol F ufrg

i st & aar Swel § SueHr 3e9d a8

129.

Identify the correct sequence of countries in
increasing order of their present annual carbon
dioxide emissions.

FHET-TE-ATFAEE I &
A U & MU 9T 90 w WE e @
'ﬂﬁlﬁ[‘l{: Teee——————

Qukne Slud

C. USA/ quax. D. Russia/ &9
E. Japan/ STq=

Choose the correct answer from the options
given below

Hrat R 7o frwear # W W IV @ A

aifau:

(a) ESD<A<C<B (b) ESD<A<B<C
(c) D<E<A<C<B (d) D<E<A<B<C
NTA UGC NET/JRF June 2021(24-12-2021 Shift-1I)

Ans. (a):

w HE ETE-HTFHEE e (i)
(B) ¥= 1168042 ./
(C) WaY, 453530 /
(A) HIE 2411.73
(D) ¥ 167433
(F) SM9= 1061.77
130. Biogas has a calorific value ol about

&1 FHrg W e e 2

(a) 1800 kcal per cubic meter
1800 f. 4. sf w7 diex
(b) 2500 kcal per cubic meter

2500 Ff. 3. sfa o e IL ~
(c) 3000 keal per cubic meter 42%
00 f &=, fa w7 izt
ﬂﬂﬂ kcal per cubic meter v

5000 & 3@, sfa w7 e

y

Ans. (d) Y& T 39 & e WeT aiR
maMWWE:mWWW
@ﬁmw_,_,m{ q @1 o, gi_smee, @
Fyufore_fen = afe 3 T TR amE & det
T 4800 F 6900 . Fa. sfi o9 fex 7% ram-a7em,
nid]
131.

In a typical fine continental aerosol, according
to its composition, which of the following
constituents is most ahundnnt"! '[{BI

TER PN TR H, 30 7oA F
i % @ T foeeh AEATA €2
Sul[:Jh::lf:f'lit"*}:r‘c.T
(b) Organic Carbon/Sfas-FmT
(¢) Element Carbon/STfos-FmE
(d) Nitrate/ 532
NTA UGC NET/IRF June 2021(24-12-2021 Shift-1T)
Ans. (a) : U% WElUS mEEMY g w0HE @ 39S
HWE$H$MHW?wm$ﬁﬁW%
132, Which of the following pollutants is termed as
‘short-lived climate pollutants'?
weraryg

gEE' FEd €7
A. Black Carbon (BC)/ &ies &&= (BC)

B. Methane (CH )/fives (CH,)
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Easy.MNates 4u

D. Surface Ozone (0O, )FFI'H'{I A= (03)
E. Carbon dioxide (CO;)
FHE (COy)

Choose the correct answer from_the o
given below:/ few g

& TG it

(a) B and Dunly.!ﬁﬁ?l B3R D

(b) B, D and E only/@aa B, D 3 E

(c) A, B, Cand D only/&a4 A, B, C 3t D
(d) B.C, Dand E only/&ad B, C, D 3T E
NTA UGC NET/JRF June 2021(24-12-2011 Shift-1)

tions
Il

Qaline. Study

T | wEd IUgT I H G g

(a) Both (A) und (R) are correct and (R) is the
correct explanation of (A)(A) 3R (R) =T
TE E I (R), (A) F T " )

(b) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A)/(A) T (R) BFT
Wl ¢ WiEA (R), (A) & FE AT A 2

(c) (A) is correct but (R) is not correct
(A) T @ afFa (R) W =8 )

(d) (A)is not correet but (R) is correct
(A) T8 8 & @fEA (R) T &)

NTA UGC NET/ARF June 2021(04-12-2021 Shift-11)

Ans. (c) : ‘31T ST WgEE e | %
m%mﬁﬁmmmnﬁwﬁgﬂm
fem m wgwa @ Fafafas wges arenry SeEr
s ¢

:;»Eia:arrah{uc]\/ :bm?lﬂ-ﬁ[fmﬂﬂ[ll}-’('s}‘/
= fiF (CHy) ' = Ta A9H (0)

133. The second highest concentration in biogas is

that of ———
e % gadt arftream W fRaaEt gt 82
(a) Hydrogen Ru!ildcﬁﬁg‘m HoFEe
(b) Sulphur dioxide/TTFt EEATFTE
() Methane/fa=
(d) Carbon dioxide/F=A SRAFIE

Ans. (c) : FAC AR 0 @& qoT § NFaH 19 dE5
T $FE @1 9 § 957 F4 AEE & € FiS 596
siot ol siffes 2@ @t fwan g 2

wﬁ?wqaﬁgﬂmnﬁmmmmmu
ek 8 & S 98 g w0 3 S F o g @
w1 fF uw qm FHteE s e ) B gt s

Z&A 1 i 0 == @ AT S8 @ 2

135. According to WHO standards for drinking
waler quality, the concentration of Arsenic
should not exceed :

farg W@ WEA & AEE &
@ o & fore amifre @Y W
T R W ——

'II"EI'EIH
ﬁ‘

NTA UGC NET/ @) 10 pgl ™! (b) 6.0 pgl”
3 (c) 5.0 pgl” (d) 1.0 pel”
g‘;’? g:r'wa' )'EWI' Hqﬁd%“ i = 4 NTA UGC NET/RF June 2021(04-12-2021 Shifi-I)
A T Ans. (1) : f39 @A AT (WHO) & Al & 37q0R
ity & T @ @ vE & fon smtE @ wE 10pel” |
e ww R (%) mfﬁﬂﬁﬁmﬁqu:rﬁﬁmwﬁammwu
i : T I, O F4R, 950, FE2 TG T (@6 qa a5
BT CHy SO-T5 = | [Sitafeer areme atiferm wrirsféasr afz &t @1 @@
T 21 IFEE s CO; 25-50
- 3 @ 2
Blecir el Na 0-10 - ;
ETﬁ‘m H. 0-1 136. During a combustion process, the lollowing air
- pollutants are produced :
iin) H:S, 0 etc. 0-3 yeweH @i Wieear @i smafu § Prefaiaa
134. Given below are two statement : One is labelled ?
; p arg-Ygadh Jedariad ‘Q.‘IT:T'E

::m‘::!;,‘eﬁit;r (A) and the other is labelled as (A) Nitric oxide/ATERm sifaamze

Hrer < waw R U § : uw wfawad (A) & (B) Nitrogen dioxide/AT3ZIa= ST33ifaNss

wu § feftaa & 1 GO0 39d SR (R) & FU A- (C) Nitrous oxide/T3ZH MFAEE

Assertion (A) : In comparison 1o coal and oil, (D) Carbon monoxide/&IET THIGATEE

natural gas contributes much less to  global (E) Ozone/3TST

;ﬂgpzi;lnlmb;ﬁt i e i ST Choose the correct answer from the options

given below :

i Afige ATT-ge S 1 @ga &0 e A d o Ry T Rreed § ¥ wH IR @ 9@

Reason (R) : Natural gas has lesser hydrogen per i

carbon atom lhan oil or coal.

Ty, ﬁmmﬁﬁﬁﬂﬂﬁﬁl (b) (A), {()and{D}only}'ﬂEﬁ'(A} (L)EﬁT(D]

In the light of the above statements, Choose the (c) (B), (1) and (E) only /@@ (B), (D) 311 (E)

most appropriate answer from the options (d) (A), (B) and (E) only [Fa (A), (B)aff{ (E)

given helow: NTA UGC NET/ARF June 2021(04-12-2021 Shift-I)
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et g )
137. Which of the fnl]tmmg Pollutants has the least
residence time in atmosphere?

= 7 @ e vgue & ag § geaw Uit
T &7
(a) Nitric Oxide/MEfe= 3Fmze
(b) Nitrous Oxide/EgH AFES
(c) CI\I()rquJrucurtu?rrEFrfoT AT

(d) Methane/ a4 «

NTA UGC NET/RF June 2021(03-11-2021 Shift-11)
Ans. (d) : = & 72 T W @ sEfalt T =g
Cl il Hafigid &1 (Residence Time) &I g 3|
3THa FoaEE | g, ol = s agaved @ i
& 9§ WA @ smafafy s e 8 @ 10 o @
wafa M & wfl ) S AR § it § 8 4 10
¥ 7% 99 fam W

138.

Given below are two statements
et <1 wa= fgg o §:
Statement 1: Methanol (CH;0H) also known as
wood alcohol and has a much higher oclane rating
than gasoline.
AT - | : GgArd (CH,OH) Frd &g s 0t
FeT W 8, 1 WA R e @ qen J
T i @ 21
Statement 11: Methanol burns with higher flame
temperature than gasoline or diesel. Thus, it
produces a higher amount of NOx.

- 11 : Hoie TR Fgar $9a &1 qaqn 4
Ffis 352 of ATET F WY T 8 3T 30 YER
T8 NOx i Hfteh wm1 § I & 21

In light of the above statements, choose the
correct answer from the options given below

wUHT & 3Teis o, Hre ey Ty fawedt
i’fﬁuﬁmmmaﬁﬁq
(a) Both Statement 1 and Stalement 11 are false/
F | 3R (1 2 3 €
(b) Both Statement I and Statement 11 are true/
A [ 311 SFE 89 £
(c) Statement 1 |s false but Statement IT is true/
T | 3 ¢, e 11w 2
(d) Statement 1‘1:. true but hull.mu..ng Il is false/
oA | 99 ¢, i F9a 11 3 &)
NTA UGC NET/ARF June 2021{01-12-2021 Shift-11)
Ans, (d) : 49 | 9 € F0E "aAEd (CH,0H)
FiE arewEa W Fe o 8, @1 fEea fauio Tt
@ qeen A @l sl W od) ud Fwm 1] 9w 2
i HEATA WG Hga o & qen § &9 al
ATYFY & W9 e ¢ 3R T8 NOx &H W&l # 309

Online:Stusy

Asscrtion A) & BT H

(Reason R) FECH :
Assertion A : Ground level concentration of
ozone decreases at night.
ANHTT (A) : A & gl WL U Hehrgul
T o U FEr g

Reason R ; Ultravoilet radiation photolysis the
ozone into other components.,

AT (R) : TRTHT fafar H{e= @ o=
UZHT T THTIT-3TTTZT AT £

In light of the above statements, choose the
correct answer, from the uplluns given below

& =r fag T ferereat
| H g I @ 9a9s aﬂ'ﬁarq
{a) Both A and R are true and R is the correct
explanation of AfA 3 R &1 T € 3 R
A @1 uél =mem ¢
(b Both A and R are true but R is NOT the
correct explanation of A/A 3R R M1 &4 &
T R, A F1 T = T @
{c) A istrue but R is false
AT 2, T R 303 ?
(d) A is lalse but R is true
A 39 #, W R 9 2
NTA UGC NET/JRF June 2021{01-12-2021 Shift-1)

Ans. (b) : 3THA &1 T W T TR0 9 § gZ HA
2 7 g g @ AW 9% Hed § Rw smm
“qET fafdrw e @ R FRE H NE SIuES
@ 217 N 7= & A (R) 3w (A) F T
AT F4 2

140. Given below are two statements
desrwaafeum € :

Statement I : Summer smog is primarily
associated with photochemical
formation of ozone and other
pollutants,
ey uq &1 uw TR gEraa
IS A 3 yEweEt & WaIT
TaTafyE (Werditaa ) fmior
AT
Statement I : The Great Smog of London
disaster, is a classic example of
summer smog.

T FeT Wi sy e g &
YW HIEL T IHE ISR ¢
In light of the above statements, choose the

correct answer from Ilu' nptmn-i given below @
Tl & AT 0, e fau T

ﬁﬁnﬁmaﬁrmaﬁm

&I - |

waq - 1

T €1 Safe famen (d) 1 21 (a) Both Statement | and Statement 1 are false
139. Given below are two statements, one is labelled &9 1 H N EHT 78
as Assertion A and the other is labelled as (b) Both Statement [ and Statement Il are true
Reason R mlaﬁ'{nmmar
NTA UGC First Paper Planner Volume-1 517 YCT
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E . hﬂmr 1 nllld'
AS Y= NGRES U
(d¥*Statement [ is true but Statement 1l is false
T | T &, fF 79 1) 3w 8

NTA UGC NET/RF June 2021(29-11-2021 Shift-11)
Ans. (d) : #157 FY F g0 FRO (O IEH
SquEl & YA TAEE A # qe dm @ 9w wim
g T eE Ug FwrEiayg &5 6 e 96 8 a9 32
deA win s WA w4 g 9 7 s g FE
&1 I I B
M FA | T ¢, T T 19w R

3: faFed (a) 9 21

143. What is the CORRECT sequence of occurrence
of various atmospheric layers from carth's

surface?/gul T TAE ¥ FW
mﬁaﬁmﬁwﬁrmgﬁmayt’?

A. Thermosphere/dTUOUEA

———

B. Stratosphere/AHaTIHSTT

C. Mesosphere/METATSA

Yo~

141. Match List T with List IT L e—
D. Troposphere/
= iy posphere/$HHTSST
: LSl L - Choose the correct answer from_the options
List-1f Hﬂ | List-11/ W ] given bElO“'l’ﬁ ﬁ"rq 1Tq ﬁarvef ﬁ' 'a' I
Ozone depleting substance | Name/ATH T TaA wifa:
Skl &“g“m‘f (2) D,B,A,C (b) D,B,C, A
A. C3HE; 1. HCFC (c) B.D,C, A T C B O A
B, CiFHLCl, 11. Halens/ &@H NTA UGC NETARF June 2021(28-11-2021 Shifi-I)
C. CoFCly 111. HFC Ans. (b) :
D_CF.Br IV_CFC S
Choose the correct answer from the options (700-10000 km)
g_ggn below: { M\:]
. = ATHTES Spacc cra
few mu fermeat & & wEt I Hfa: / \/ (80700 km)
@A-LB-1,C-uD-1Vv |/ _
(b A-1IILB-LC-1V,D -1 -1+ W AEE (¢
() A -ILB-1V,C-TI,D -1 (50-80 kom)
(YA -IV,B-I1,C-1D-1 4. w#ﬁrli‘ Radiosounds
NTA UGC NET/JRF June 2021(28-11-2021 Shift-11) (12-50 k)
Ans. (b) ui‘w‘ B}
=T W ATER “louds
- il il | (012km) 21_
I E I G R CAL Eiti D —
A CIIIE, — RS 31: faweq (b) 779 €1
B. C.FILCl e | 1ICTC 144, The air pollutant NOx is a mmbilalﬁgg‘f_
C. C,FCl IV.CFC arg-ygua farmrant wfteer &7
D. CF;Br - 11. g H (a) Nitrous oxide and Nitrogen dioxide
142. What are cssential for the formation of : ' e =

photochemical smog?
YHI9T - TAMAS UH - &gt & a1 & g
FT W 3Tavas §7 —

A. Oxides of sulphur/SF6T & 4Ta0T5T

B. Oxides of Nitrogen/AT32Ia= & afaqEe

C. Volatile Organic Compounds/aTsayiiet a1
ifirer

D. Water Vapour/SEamg
E. Sunlight/qd-yeor

(b) Nitrous oxide and Nitric oxide
AW FFmEE AR AREE
\y{Nitr_ngen dioxide and Nitric oxide
A TG IR AR AnRE s
(d) Nitrogen pentoxide and Nitrogen dioxide
NTA UGC NET/RF June 2021(26-11-2021 Shift-11)

Ans. (¢) : AEIEEF 7 NO, & AT NO, aa1 NO 21
I WFR fawea (¢) 7 B

Ch th ‘ ¢ th " 145. Given below are two statements
/1005€ 1he COrrect answer iram, tie oplions Statement-1: Small amount of atmospheric
given below:/~rer g my u ﬁ"ﬂé I Nitrogen dioxide NO, is produced from
&1 =g . polluting sources
(a) B,Cand E only/%ad B, C 3R E Statement-11: Most of the atmospheric NO; is
(b) A, Band C only-%‘ﬂ A, B ¢ 5:-::):;'}:.:&“" to photochemical reactions in the
(c) A, B Cand D nnlyr‘ A, B C;’I’:D In light of the ahove statementis, choose the
(d) B,C, D and E only/®ad@ B, C, D 3TE most appropriate answer from the options
NTA UGC NET/IRF June 2021(28-11-2021 Shift-1) given below
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S?l&é: Ugua Hdl W AgEEetd ATgerad
ITFATEE (NO,) T 3ET GRATT | I
T gl
wHuA-I: iy aguEeta e T
ATFATEE & IS aguEe | wrer-uaratis
wiefiranail & @ g &

ITYTF FHAAT & e, Ao faw w fraeat
W W wad IUGTH IAT H AAT R
(a) Both Statement | and Statement Il are

correct/®aF 1 30T 11 241 W1 21
(b) Both Statement 1 and_ Statement

incorrect/®A 1 3 11 241 e €1
(¢) Statement | is correct but Statement Il is

incorrecvFA | Ft 2, fEg w11 e €
(d) Statement 1 is incorrect bul Statement 11 is
correcy/FA 1 7o &, g #1198 £
NTA UGC NETMRF June 2021(26-11-2021 Shift-1)
Ans. (a) : TR ER HEFHEES (NO,) TR A
oA § 0 v T ary vgEE &1 Al g o
NO, 3 34 AEZEA HGHEE FU aF ¥gN6 ad
S & feio #E § e @ 4 9 qeEn G,
aw e i, A wnel d fAwe a gv & A

Il are

arg & fae &1
WY TR Sl s & w9 § 56 & e
T Y @ T st g AR

T ATEEE T I T A § agaad @ gl
3A: 2F1 ATFYA T 2
146. Ozone layer to become ozone

concentration of ozone should he

hole, the

Liofico ¥ ufafia a9 &
W AT A =iEu)
<220 Dobson Univ/< 220 2f=77 397
{(b) <300 Dobson Unit/<300 TS
(¢) < 320 Dobson Unit/<320 e84 3F18
(d) <400 Dobson Unit/< 400 = 372
NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)
Ans. (a) : S 9 & 379 fog | uRafda am & fol
HSIE @ TUAA <220 St 798 €
147. Match List I with List 11

gEiT-13 are g=ht-11 = firems sifag:
List-LAg=it-1 List-II/ geit-11
Air Quality L Colour Code AT T
Index/aTg TOTEATT

(A) | 0-50 (1) | Yellowsdrar

(B} | 101-200 (i) | Red/@m

(C) | 201-300 (i) | Green/30

(D) | 301400 (iv) | Orange/ART

Choose the correct answer from lhe
given below :/ er fou wu fawea #
I & FAA RITAU:

%l‘l ons

Qnling «atudy

NTA UGC NETARF June 2021(22-11-2021 Shift-11)

(b)  (A)-(iii), (B)-(i) (C)-(iv), (D)-(ii)
(€)  (AXMii), (B)X{i) (C)iii), (D)-(iv}
(d)  (A)-(ii), (B)=(i), (C)-(iv).(D)-(iii)

Ans. (h) :
List-1/a=i1-1 List-11/ T=i-11
Air Quality Colour CodeAT He
Index/arg Ul
qam
(A) [os50 =i [zu
(B) | 101200 =] (i) i
(C) 201300 [ (iv) | ol
(D) | 301400 (i) |7
148. In a polluted urban area, which of the

following constituents of photochemical smog
has the least concentration (parts per billion by
volume)?/ ZT-TqTa Wi

I FA T HEd TaR U AET (A6

AT ToT o 2191 ) o 15 &2

(a) CO Carbon monoxide/CO FHA RHINFAEE
(b) Nitrogen dioxide/TEZH SEATFRE

(c) Hydrocarbons (without methane)

gaeEEA (faafEa)
\(df Ozone/3T3H

NTA UGC NET/JRF June 202][21 11-2021 Shift- Il]

Ans. (d) : W2f9A YEG & o, WW@T’I&TW
HZd HAH ®H HAI (WEAA & ¥ I 0 H oafw) §

gl 1 W FHiwa w4y 2, S engeEEe
3 AEEE f EERE A WgT awE 6 S

fafgror & fam & T & 20

149. "Wheezing' is the most relevant Health Effeet in

case of the air pollutant/ 7% arg ygEs & AmA

i i’ watftrs w w@we gk v § -

(a) Ozone/ TS

(b) Carbon monoxide/&TE- HHIHIFES

(c) Nitrogen dioxide/ARZISA EENFEE

Sulphur dioxide/FwH 5 HFHEE

NTA UGC _NET/IRF June 2021(21-11-2021 Shift-1)
Ans. (d) : 9 YZUF GOl T SRS M & Ea
 waffus w0 @R Wl s ) d@ifm v e
w1 & e oW o w9 i TUE 3w | §
I A 2
150. As part of the [ntended Nationally Determined

Contributions, India's target of 33-35%

reduction in carbon emission intensity by the

year 2030 is soupght to be achieved with
reference (o

e T W W Puifte drem @EdT
Ayl TeemEs wdieyid) & Wed ad 2030
aeh A= IS B AT H 33-35% Tl S
T WA & oed Tormds ded ¥ wre wear §2
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Easy.Nates 4u

(bY 2005 levels /2005 &R

(c) 2015 levels /2015 &

(d) 2020 levels /2020 &1

NTA UGC NET/JRF June 2021(24-12-2021 Shift-1)
Ans. (b) : THE T W faeffe amam ofw awgi &
smla o9 @ 390 ZW A I 3 Sy
aftad= & WWIET #1 F &4 &1 TP ded g i
udig T o fffe arem & mew A 2030 7% FEA
gl & A § 33-35% FM S F 9RA & @=g
2005 TR H wad § Sa & §)
151. Given helow are (wo statements, one is labelled

as Assertion A and the other is Iabelled as
Reason R

#rar @ wua fer 7o € uw @t Afirmus (A)
3T gat @t weh (R) @ o §:

Assertion/37TTRTT (A): Global emissions of
carbon tIIU!IdL stagnated durms the ycars "01-1-

2016/FHET R GRS &
2014-2016 & @ R o1

Reason/Adh  (R): Strong cnergy efliciency
improvement  measures and low  carbon
technologies  were dcplo ed during 2014-
2016/2014-2016 % T Fait ZH G I 3R

fret @req wifeRe wer & aRfEfE g8

Choose the correct answer from the options is

gnen bhelow:
et fau T famedt o ¥ W I g

(a) Both A and R are correct and R is the correct
explanation of A/{A) 3 (R) &1 Tl €
(R), (A) F1 TE =@ 21

(b) Both A and R are correct and R is not th
correct explanation of A/(A) (R)=141
& 3 (R), (A) F1 7 @mem 21

(c) A is correct but R is not correct/(A) F@l 2,
U (R) T 7 @

(d) A is not correct but R is correct/(A) e T
2. (R) veg @ @

UGC NTA NET JRF June 2020 (30 Scpt.) Shift-11
Ans. (a) : FEAEE A(FFE H AEAVITE IA AW
2014-16 & A fier @11 98 @A 4 gRom 2014
16 F W Fw W gER IwE IR fe s
ATl & fRarage & Gorasd W g1 HEWif
FHA Il § @4 9l g F4 fi7 a9 OECD T #

Tl ITEM F Taed Gz @ off aftmm 2
152. Identify the primary air pollutant among the
following :
wﬁmmalgma&mml

{a) Ozone/ 3T K

(b) Black carbon aerosols/&T® FEA T

(c) Sulphate acrosols/ TRz TATHCH

(d) Peroxy  Acetyl Nitrate (PAN /TG
e T (f T )

sl

153. Identify the correct sequence (decreasing

order) of lifetimes of the following greenhouse

gases in atmosphere:

agied o graw i &
raawmme & e W (TEd W) H gger
H: —

1. Methane/dfia=

2. Nitrous oxide/ATE2H ATEE

3. Surl‘ntenzuncl'{-‘!ﬁl’ﬂ'aﬁﬁﬂﬂ

4. CFC-11

Choose the correct answer from the option
given below:

e fe o faeedt & @ wlt 3w g

@ 4>2>1>3 I(b) 2>4>1>3|

(€) 2>4>3> ] @ 4525351

UGC NTA NET JRF June 2020 (17 Oct.) Shift-11
Ans. (b) : agmved § fafefga f9 @39 T &
ST & U & e g -
mﬂﬂ“;raﬂ/rz>CFc-|1>ﬁr€ia>1qeﬁ'am

(298a) 55 a9 maﬂ)/( f—':}/
154. Given below are two statements:
2 o fg T -
Statement/&da | Diesel Vchicles cmit

excessive amounts of oxides of nitrogen and

fine particulate matter areA

T 0 e & anemss o8N gam

(g wifdgae fzr) smafsd & &

Statement/STT Il : The diesel engines run

with rich mixtures having high air to fuel ratio/

T 9T Ied TG 3uT |z

Torsror @ wea £

In the light of the above statements choose the

most appropriatc answer from the options

given below:

Iuheh AT & INeiE W faeifea faweat W

W WET waifires I9g I G-

(a) Both satements [ and statements 11 are
correct/FeA | 3T 11 &1 T8 &1

(b) Both statements | and statements Il are
incorrecyE4A 1 3 11 AT T 78 &1

(¢) Stalements 1 is correet but statements 11 is
incorrect/&44 | H‘%Eﬁﬁmu o T 2

(d) Statements | is incorrect but statements 11 is

/ comct'ﬂfﬂﬁlqﬁﬁéﬁﬂ‘”ﬂﬁllﬂﬁ?

UGC NTA NET JRF June 2020 (9 Oct.) Shift-11

Ans. (o) : ﬁmmqum&'

e afn_m (13 gz fex) Imfsa &

?lmllmémmmﬁa@mm-

Tt 7 s & T 2

UGC NTA NET JRF June 2020 (5 Nov.) Shift-1
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Easy.Naies. 4Ll

erms of the amount of carbon dioxide
emmed per unit of energy output from their
combustion:

o W E g W yfa 3
9l Wit o IeETAT gl e B
SATSHETSES I UET & Hed | Iraidl o sgaftas
Hi—
(A) Natural gas/ureafeaes fra
(B) Coal (lignite)/@rae ( fmme )
(C) Gasoline (without cthanol)
(e TR )
(D) Propnnciﬁl‘h

Choose the correct answer from the options
given below:

o feu mu famedt ® @ Wi 3w G-
(a) (A)>(B)>(D)>(C)
(b) (B) > (A)>(C)> (D)
(c) (B)>(C)>(D)>(A)
(d) (D)>(B)>(C)>(A)
UGC NTA NET JRF June 2020 (9 Oct.) Shift-11
Ans. (c) : 61 @1 36 T F FTER A EE A
wits W i &4 arel & 25 311311133 aﬁr T &
Hard -
aa (fge) -2154
ﬁﬁf@ﬁ (e em) —157.2
-1390
srr@fﬂaa - 17/
Which of the following types of particulate
matter pollutants are used in calculation of Air
Quality Index (AQI)"
arg TurE qaa-nai (T &g g ) & Mo |
frafafea § @ @®@d v & ggW @0
(ufégere #eX) wguai @ yanT fear s #7
(A) TSP (Total Suspended Particles)dl & @
(F1 FEHEE a0
(B) PM 10 (Particulate matters of size 10 micron
or less)d T 10 (10 MEEA A 3EH &8

HER & YEHH)

(C) PM 2.5 (Particulate matter ol size 2.5 micron
or ]ess]nﬁ TH 25 (25 H'ITFFFf q IFH FA
HFR F GeHT)

(D) PM 1 (Pamculaic matter of size | micron or
]ess}ﬂl‘{q'l{] HEWWE'H'HEFFI AER FH
HEHE)

Choose the correct answer from the options

given hc]n“

i frar T Fred B R Wl Ive P

(a) (B), (C) and (D) only/F=e (B), (C) 3 (D)

(b) (A)and (B) only/&ae (A) 3T (B)

(c) (B) and (C) only/&a= (B) 3R (C)

(d) (A), (B) and (C) only/#ad (A), (B) 3K (C)

UGC NTA NET JRF June 2020 (5 Nov.) Shift-11

156.

ﬁﬁammwwmwmﬁmm@

-dum-10 '\,[9\

- §Lum-2.5

] m_ {UJ} /_/-
- FTH TR SEEE (SO,)

- AZISA BT AFEE (NO,)

- FHA HE AFMEE (CO)
- UAT (Pb)

- AT (NH;)

157. WA & VEU W W W YEAA: I & 6-
(a) TFH & INFEEEH
ML & HFATEN 3N 3T IS e
(c) FEA HHEEGES 3T UH.9.0W.
(d) o9 & AWF9EE 3R 3EE
UGC NET/IRF June 2013

Ans: (b) TRA & TE0 § ¥ (Smog) H T AT
& FFEE AN AT R W T € A
el A Y TEfAE (Photo Chemical) qq & w9 4
smafrs srfEn 3 oF T @1 39 Ay v A
Frt aer wnfiret 21 3-

1. U,?é'"'l'ig (Aldlhydusj /

2 7-!13?,:175'17-[ F m

3. PCIDX}’&C'LHE?E (PAN) /

4. Trappospheric A~

5. amqyiie s difEm/

158. Arrange the Global Warming Potential of a

molecule of the following greenhouse gases

(relative to (‘0,] in decremmg order:

formiferd 3= grw i & 3wy @ dfge -

gfig &wa (FHE= 515 3#3@33 & W) &

ued Y § saftad i

(A) Methane/Ha=

(B) Nitrous Oxide/7 328 HFHREE

(C) CFC - 12/41 TEHft-12

(D) CFC = 11/4 u% #-11

(E) Sulphur hexafluoride (SF)/
HeR g FanEs (SEF)

Choose the correct answer from the options

iven helow:
%ﬁ T fawedt ® | W I A
(a) E>D>C>B>A
(b) C>E>D>B>A
(¢) D>E>C>B>A
(d) E>C=D=B>A
UGC NTA NET JRF June 2020 (11 Nov.) Shift-1

v

Ans. (d) : 54 7T A9 gRE TG F o) ) 4w A
3f & (A e AT F ) e g w9 H
T YR &-
Towl gHTGANEE (SFq) (22200) > CFC- 12 (8100) >
CFC-11 (3800) > TEgH AT (296) > ™A (23)
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Easyhetes 4u

Statement/&TA-1: Volatile Organic Chemicals
(VOCs) are contaminants more commonly
found in _groundwater than in surface
waler w™WEaa (VOCs)
AHrTE: AW A @ oueT 9-we W
WIWT-Ta: U A aTe watfirs ygue 7 €

Statement/&/RIF-1I: YOCs arc one of the

criterion parameters to determine drmkng
water quality

TqurEr faifta
T VOCs &Hidt & mraguel § ¥ ua §

In light of the above statements, choose the

correct answer from the options given below:
Iud+h @Yl & IR & et R

() Both Statement | and Statement 1l are
true/&% | 31T 11 Z1 W &)

(b) Both Statement 1 and Statement
false/FHaR | 31 11 ST oW €1

(c) Statement 1 is correct but Stalement 1l is
false/®2A-1 9 @, feq F2=-11 7o 21

(d) Statement [ is incorrect but Statement 1 is
true/F9-1 3107 2, e Fa-11 T 2

UGC NTA NET JRF June 2020 (30 Sept.) Shift-1

Ans. (c) : T4 |1 o € FAIE 9999 i TorE i

m¢ﬁt{amﬁsﬁ7mfﬁawm(vommam

qIYRvE 7€ €1 TEeE 3 e Ryifa # ae aEee

& pH WM, 3o 3w ward, e, FEEs,

arirE, TR, W, WA, T AEE, FREE,

ML TR

160. Which among the following are emitted from a
coal-hased thermal power plant?

farera ddw | Iewel= wrew §2
(i) Carbon monoxide/FHA A 3fFEE
(i) Ozone/3TSTH

(iil) Sulphur dioxide/TeE 213 ATFEE

(iv) Methane/Mia=/78"

(v) Pariculate nmttcrﬂféﬂnﬁl T2t

Choose the correct answer from the options
Eé\ré-n below— -

fe T farereat & & vt Iww g -
(a) (i), (1), (iii) and (v) only/&ae (i), (ii), (iii)

Il arc

— amenfia aw

QO nline.ol

hi oge

t
following has the highcsl concentration (ppv)y
photochemical smog?

ARG s'rsﬂ &9 W WIETRNEA qu—a:‘ra‘t b1
frafefaa o @ fem & Jeaaw qigar (6 o
(1) Ozone/3TH
(b) PANAA
{c) Hydrocarbons (Without mulhﬂnclmﬁiﬂihil
02 &)
\,(d(g:::on monoxide/&THT AT
UGC NTA NET JRF June 2020 (29 Sept.) Shift-I
Ans, (d) : WfUA ¥EG & 0 GREMEA gE-FE °
FA A aFERe & g g (f & ) @f 8
162. Ildentify the correct sequence of countries in

decreasing order of their contributions to per capita
emissions of carbon dioxide emissions at present

adu H @ SE-aiearss

wiweafss 3= H Mg @ O 9 &
TG Y W TE §EAT Sl UES i

A, Indin/9d

B. Chinas=fi=

C. USARITT g amftar
D. Japan/sMa=

Choose the correct answer from the options

given below:
= faarcal § | 98 390 &1 994 i
(b) B,C,A,D

(a) C,D,B, A
(d) C,B,D,A

(c) D,B,C, A
UGC NTA NET JRF June 2020 (25 Sept.) Shift-1
Ans. (a) : FAAH I T SRAGUEE IoGsH & NASATH
T | AT 39 At S9i w1 Fe A w0 e
(16.5 wWifea == wia = )
g TP M
\’
S (9.5)
d
o (7.5)
$
qrE (1.7)
163. The phenomenon of ozone depletion is caused

N
v) I T & &0 T I §-

(b) (i), (iii) and (v) only/&=e (i), (i) 3 (v) A. Volatile  _chlorinated  hydrocarbons/

(c) (i), (ii) and (iii) only/Faa (i), (i) 3 (i) areryiter

(d) (i), (iii), (iv) and (v) only/&aa (i), (iii), (iv) B. Emissions from thermal power plants/&Wer

3T (v) AT WiE ¥ SeEeT
UGC NTA NET JRF June 2020 (29 Sept.) Shift-1I C. Combustion of urban waste/qEd STaRTE

Ans. (b)\;/ATaeT-3MIf a9 fagy 40 @ FEA 6 =T
HIFIES, FH : a m et D. Excessive us¢c of nitrogen-containing
I T B A NG 4 A4 759 Ud A fertilizers =
Teieft 7T F FF S —— arafire ya
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Easy.Notes.4u

given below:
=frr few g fremedi # | Wl I A waH W
(a) A, Band Dmﬂ}’aﬂ? A, B3 D
(b) Aand D -.‘.-nlyféﬁlﬁ A3mD
() A, Band Cnnlyaﬁﬁa A B 3t C
(d) A, Cand D only/Fad A, C 31 D
UGC NTA NET JRF June 2020 (25 Sept.) Shift-1
Ans. (h) : H9H WA &1 & [ Io@dl FRE a9-
mw (CFCs, HCECs) 3R
M qUIfAE A & SIS AW AN T S
ERUT T FAV 2 |
164. The global emissions (by weight) of following
primary pollutants from natural sources are
maximum in the case of

froafefga § 9 foew wafrs
youe @ Afge TEEA (W # gfe #@)

Qnling, Study

UGC NTA NET JRF June 2020 (24 Sept.) Shift-11
Ans. (a) : W61 GO (a0 8-
ECUECRTCT
A FEA ZR-HiFEEE (L

qAa g YRl
% H-2EF W & &9 °
dfys a9 F T
fafen aqr w8= &y
FFAT
C. A2/ SaEEE |1 37 au &1 Aeo
D. 7 31 gReEEA| 1V, 8 aq FREE

166. Indentify the correct sequence of countries in
decreasing order of their contribution to global
carbon dioxide emissions :

FTET-STE-ATEAEE IEad |
ITH ANTEA & AR A Bl UETT Hi—
A. USA/OTET

B. FE9 OF-3EEEE |11

watftre grar £7
(a) Nitric oxide/ARZ® AFEE

{b) Carbon monoxide/FHA AHITFIEE
(c) Methane/Hia= N

(d) Carbon dioxide/&=" SEHIFEE

UGC NTA NET JRF June 2020 (24 Sept.) Shift-I

Ans. (d) : NEOF T H FEA SRAGIEE N AiEE
IS (R #T gfe W) walfus o
165. Match List-I with List-I1
eft-1 = G- 11 3 T gared wi—
List@ei-1 T\ List/e-11
Emitted Pollutants/| Environmental Impact/
Wguh wqa
A. Carbon dioxide/|[I. Formation of acid
o3- rain/aned  a@af @
ATFATES forafor
B. Carbon 1. Toxic and are
monoxide/ carcinogenic
- Hm -
ATFZE
C. Nitrogen oxides/|IIl. Toxic and can cause
2 respiratory discases/
affaaTss adqr . gaq
et T A T
D. Benzene and|IV. Contribution to
hvdrocarbons/ global warming as a
EEiC] greenhouse  gas/Tsh
TR If=-gew fm & =
o dfyw weT @
- CAE

Choose the correct answer from the options
gm:n below :

ﬁqwﬁm&ﬁﬁﬁvﬂmwm

[a) A-IV, B-11L, C-1, D-11
(b) A-IV, B-1I, C-I, D-111

B. China/=ft=
C. Russia/=q
D. India/¥9d
E. Japan/aim4qr=

Choose the correct answer from the options
given below :

ﬁﬁqwﬁﬁn‘fﬁﬁnﬁmﬁ—
(a) A,B,D,C,E () B,A,D,C,E
(c) B,A,D,E,C (d) A,B,D,E,C
UGC NTA NET JRF Junc 2020 (24 Sept.) Shift-11
UGC NET/JRF Dee 2014
Ans. (b) : : AT da SR HFEE Ioe N a9 & 3
AT F TG W N TE IAHT b
ad 2019 ¥ H& CO2 T = feemm
o (27.92 %)
i)
UET, (14.5%)
{
qad (7.17%)
!
&Y (4.6%)
L
ST (3.03%)

167. = TaAIg gar3 g &I ~rAleEaa o |
ferm droft § wges g @ <ifvae aiw g ard "
qrERr Tean war &7
(a) Hifama g (b) Jaftar wfasy gitz
(c) fagm o T@=m (d) w2 Gefafa

UGC NTA NET 2019 Shift-11 (2.12.2019) Set-2

Ans. (b) : mwmmmm'&mm

yﬁﬁ?ﬂggﬁfﬁﬂﬁﬁ&tﬁﬂ(mm
viferd sredtym, = 3 Swom, fage et TEEn) f

e a3 2018 F <fEm 3w 2 o R &
3 fasiar 39 9 8-
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EasyNoies.4u

Quling Study

Biome
(a) CO .\Q))D: {a) Grassland (i) 25-100 cm
(c) CH, o‘Rl‘ﬁ(‘ SET-2012 (b) Tropical rain forest (i) 25 ¢cm
= (c) Temperate deciduous|(iii) 100cm
Ans, (d) : 394 fagedi 4 0,7 agAvEd YguY AL forest
21 0, == F1 Fvfaw @ &1 30 wvEg f Fed €, (d) Taiga (iv) 200-500 cm
7 it S L qﬁﬁn £ F"‘I IATTF 2 (e) Tundra (v)25-75¢cm
ATV AW 4 Y e, e, ua, fadel i, 3w waw A
Hizt e, el 3 EREH 3 & FR sefE w g, g o ==
W 39 = wm S 8 EE) § R BEcEE (i) 25-100 5.1
CO@EFHA WIMEAREE), SO (FeH ERAFRES), CH, — - -
mmmmmg. (c) THEIaTST U an (iii) 100 =4,
181. The cause of acid rain 15/ (d) (iv) 200-500 E.HI.
arveftar aef a1 &I g— / (e) Z0gT (v) 25-75 9.5
@ 0; ~ —b) S0:+ NO, Cote : T2
s O ks sEranz E‘“ (b) “’] @ (o)
- - (a) (v} (V) (i) (i) (i)
Ans. (b) : i Ful mrgéu FRO agHEd 0 A ) v G) G ()
PhHFET! o R Jehl S SRS el I (© () V) Gi) @ (i)
SFITE(NO,) % e It &1 o A4 v & @ @ ¢ G @ G
W A § Tt e a e A ae CG SET 2018 Paper-I
o & i e 41 9 A o, anl & W v | (A, (o) ;
W g & A 30 30 aul Fed @ aram Lkl
182. On the basis of biomagnifications factor (L/kg), || (2) 519 & LT 25-75 9.A.
the increasing order of which chemicals are correct || () Fmrpfead asf ard @9 | 200-500 9.9,
am @ ( for./ Rl ) & smum (c) TR T a9 100 5.1
Y T o=l & -1 gE91 T e § 7 - — ':ﬁ
(a) Benzene < Chloroform < DDT < Chlorodane (yzm 25-1004.4L
< M < A <FAmEa (e) ZUET 25 7.0,
(b) Chloroform < Benzene < Chlorodane < DDT/| 184, Which of the following is true regarding
FARGH < q=ii < F@aned < A vehicular traffic pollution?/ TR IMATTHS
(¢) Chloroform < Benzene < DDT < Chlorodane/ oL Fumuh, Pttt ?
(d) ChlnrnforTH < Chlzrii?‘f ;:l nzene < DDT/ @ |IIII|'I|EI'I1I!IIHI|IOI-1a.[If 53-8 norms from April
<
g e e i 2020/215T 2020 | BS-6 A & FH@A-GaAl
CG SET 2018 Paper-I (ii)) Implementation of BS-5 norms from April
A TR == e e %?ﬁm D 2020/3 2020 BS-5 WG T FAET
ns. (d) : W{Fﬂ S (iii) BS-6 norms_arc related to Engines/BS-6
#EWWH{G’{WW“W?@% mﬁa‘rﬂumﬁ)atl
3T iz f A A R (iv) BS-5 norms is related to Engines/BS-5
FEAEH < FAREA < a1 < 28 S AT A W B
o SR (CHCly)- T8 TF {8 3iit 3t gafem e (v) BS-6 norms is related to Fucl/BS-6 W&
e @i # ITE WA WEA 3 A e i S & W &)
fn e N (vi) BS-5 norms is rclatcd to Fucl/BS-5 A&
o TR {Lmuf,cnm'-rm fﬂn’ﬂ TF dart % s
é % w9 Which of the foll ?
forar s 21 ﬁ'l:icwu-q the fo u“m[é:ls correct’
* AT (Clloh T R T A | (@) 0, i, ) only 3 (3, G, ()
TERRIH ST e € (b) (i), (iii), (vi) only/&a (i), (iii), (vi)
® DDT (CHiCls)- (SEFERISHe gFeriga)- (c) (i), (iii) only/Fae (i), (iii)
mﬁﬁf :i%” WIE it e et feeda Tt [E {d) None ol the above/3UTE T A 'cﬁ?f e
! CG PEB SET 2014 Paper-1
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o 37id 2020 8 BS-6 AFF1 # FET=EA|
® BS-6 W 391 § AEiAE 2

e BS-5 7F= 91§ T g

ar: fasew &ad (), (i), (v) T 2

185. Which of the l‘ulluwmg statements  about
photochemical smog is mturrrcl"

TERTT FHAEy i P § W

HIF-TT HAT 370 87

(a) It has high concentration of oxidizing agent/
T  qard @) arAl i g

(b) Tt has low c:ml::,nlmllnn of oxidizip ug:..nlf

; ; gard it A

(c) It can be controlled by controlling lhE‘ll'E‘]f!i].Sﬂ
of NQO,, Il‘.dmcarhnn and ozoneFH NO,
AEETEAA Td M & I @t e,
foreifam fren s @aen 21

(d) Plantation of some plants like pinus helps in
controlling photochemical smog YER

mqgwmmraﬁ?mmmﬁvﬁﬁm
T 8

CG SET 2017 Paper-1
Ans. (b) : ¥ THAAE g0 F160 (Smog) ¥4 Fog
ﬁ‘{QmokeTﬁﬁlﬂﬂHm%I'ﬁWﬁE@m
W (0,) 79 Bl &1 99 A= 70 &199sd § 4hd
& Wiy uid A @ A WEEE & Fd F ¢ 9 A
HEA F P AR & AR @ annf
Fref wed F g & s @ ofafs 4 sffE 9
TN 2 WE TS W f s s St
qimm My @6 | AA: FAA (b) HEA € ddiF WA
il Fa= T 2|

186.

Environmental management is related with:
VERE :
(a) Preservation only/&aa dadfiwo §
(b) Censervation only/dae T |
‘}y)}B;lh preservation and conservation/HadiELuT
adr deor &l 8
(d) Planning only/&ad framem 4
MPPSC SET-2018 (17-01-2019) Shift-11
Ans, (c) : TN SOHA WA A TR0 A A
WA ¢ waam v @ oA s T e F
q9iATT % Wra HOE 441 39 W gS4 a7d g9 & W § 6

187. Which one of the following is not a natural hazard?

LR ook amaEy = §?
(a)} Earthquake J&™
(b) Tsunami/ A
(c) Flash Mlood’ 3T arz
(d) Nuclear accidents/ T _/

MPPSC SET-2018 u?-nl -2019) Shift-11
Ans. (d) : 98] UF WHfAs A 799 fAa SifEs )
W 2, S U Ud vl &1 98 W W weiEd &
€1 @, WS qg, qHa qEE, g, e,

QuHiRe-study

TfvETE gz =1 T ]
188. Smog is a consequence of :
~aTE F T BT §2
(a) Rapid buildup CO: in the atmosphere/
agEvEd § CO, & doll | a1 |
(b) Presence of high humidity in the atmosphere/
argqEvE 1 A A0 @ It |
(c) letion of ozone layer /T4 Td & 9929 |
(d)MBuild up  of photochemical  oxidants,
pollutants and thermal inversion. -
FEINE GBI EE , SgEA & T 3
o fofiads &

HPPSC SET-2013

Ans. (d) : YH-FTET Y WA F & TF F9 €1 70 R
1 G FCH A ¢ S agaved § e T
BN (T TaT A52I5 AFAFE), VeS| 8§ a
a1 Tefg oftads e @ @ 9 Fiea & Fmi @ d

Ty AR WA & digy °§ TEn S g g

189.  Acid rains occur due to atmospheric pollution of:

3 Ut feRwas amTarvit ygEor 7 gt §7
(a) SO2 (b) NH,
(c) CO;, (d) H,O vapours

HPPSC SET-2015
Ans. (a) : 3T @9 SO, F ¥gEN ¥ gl ¢ agrved o
mwmqﬁmﬂmmaﬂhgﬂmé
3R TH 3T &1 2 €1 39 WER 5 960 64w 3 e

9T E € 98 Felig auf aednd ¢
190. Which of the I‘olluﬂmg isnot a grcrnlmusc gas?
W ®F i g g

(a) Carbon dioxide/@TH= EBHFRE —

(b) Methane/fiam

(c) Oxygcn«’aﬁﬂﬁ?rﬁh/

(d) Nitrous Oxide/A3ed HiFHES

HPPSC SET 2014

Ans. () : g 18 (Greenhouse Gas) &1 379 SOl
1 3 THi § & A W vd gt G g @) 3
worm fafawwr @1 sawifea @ 8 wd G end #)
ST 741 Co, AGHEH H WE WA arell T H S A
nqﬁmimmaﬁumﬁmmmq/
T I F #1 3FF WE Feess T §- CH
(@), N, (e Fwms) @ CFC
(FAFARIHTE ) | FFsr AeEd 18 a8 8 +
191. '"Taj Mahal' is threatened due to the effect of:

ATanEA o faass ywrg &1 dae 27

(a) Chlorine/FRH

(b) Sulphur dioxide/HeHl gﬁmﬁg/

(c) IIydruEtn’Eﬁm
(d) Oxygen/3TF=+

HPPSC SET-2015
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€, S AEEE & e W F A i @ 2

C.Gi) Yguur (Water Pollutin{)/i

192, According to WHO standards, the pesticide
content (Lindane or DDT) in drinking water

should not exceed
/I‘gu W WTeA % IER Y9 we W
wieayE_&_aen (favga @ €ididh)
(a) lpgl’ (b) 2peL’
(¢) Spgl?’ (d) 10pgl”
NTA UGC NET/ARF June 2021(03-11-2021 Shift-11)
Ans. (b) : T @ @137 & sER, s (A @
A.88.) A 5w Yo § 2pel ! B w78 R afew

193. Which of the following are characieristics/
properties of permanent hardness in water?

¥ WA-
ht ferdrammd £2 —_—

(A) Presence of bicarbonates of calcium and
magnesiu &+
agwmEHeH @i fraw=an

(B) Presence of sulphates of calcium and
magnesiu
ARheH ol fammam

(C) Forms good Ialher when comes in contact
with soapﬂiﬂgﬁr W AN W dgd
AN IqA AT B

(D) Presence of chloride of caleium and
magnesium.

FAMEE St faomrran
(E) Can be removed by hoiling the water/

TH T HI JATAHT T FHAT AT Whel §1
Chouse the correct an-mer from_the options
given helow:/ H= ﬁ{a' ELLS
& FaF -

(a) (B), (C) and (E) only/F@ (B), (C) 3R (E)

(b) (A)and (D) only/&a (A) 3R (D)

() (A), (B), (D) and (E) only/

a4 (A), (B), (D) 3R (F)

(d) (B) and (D) only/Faa (B) 3 (D)

NTA UGC NETNRF June 2021(05-01-2022 Shilt-11)
Ans. (d) : 5 # TPl ST F T e §-
(1) Hicerm ud dfifeam & ﬂ?q-?;ﬂ EARERL Chl
(2) fewran ud dfifvam & adige <1 RoaEan
A fadew (D) 64 &)

Statement-1:  Aquatic weeds are fast growing

weeds which can attain very
high  productivities  when
cultivated on nutrient rich
waste water such as domestic
sewage.

Water hyacinth, salvinia and
duck weed are some examples

of aquatic “ccdx
Fefta TR-Taan oSt | @gs aet
ug-uw g, W @ge S
IAEEHAT UH Sl ¢ 7F T
Ud-T W W §U Uit e
S T IS U ST W

. gy gnfag, dfEfar efn
SHAlS, Ted @-UAaN & O
ECUEUE A

In the light of the above statements, choose the

correct answer from the options given below :

IWF HAF & JeE |, = fod m feremedi
H ¥ w39 @ waA .
(a) Both Slatement | and statement Il are true/
FgF | 3 FaA 11 &4 7 8
(b) Both Statement | and_ statement 1
false/F@A [ 3 F4 (1 & 318 &1
{c) Statement 1 is true, but Statement T1 is
false/F9A | T 8, e F24 || H0A 21
(d) Statemenl 1 is false, but Stalement Il is
true/&ad | 39 2, widd &94 1] 99 2
NTA UGC NETLRF June 2021(05-01-2022 Shift-1)
Ans. (a) : 99 GUER A A9 I9% HE-9H & &9 o
T A W WA € S 9 I ag & AR e e
W q9ll 9 dgd 6| A% RSl 34 YN i § el & o)
e A A A A P e 9@ 7 a8 )
16§ IV & - ard afda, At ende sl
195. Which of the following source (s) is/are 'nonpoint
source (s)' of groundwater contamination?

0 ® & HA g-T@-g5au &

Statement-11 :

&g (I):

=HUT (1)

are

H7-fig i 42
A. Wastewater pnndsfamﬁTEW?lﬁﬂ‘H
B. Refuse piles/&gT-Hiae T &

C. Landfills/eve-frea

D. Agricultural land/@a-gfir

E. Buried storage tanks/T8 §T TSR &%
Choose the carrect answer from_the o

given helow:/el fgu Tu fawedi ¥ &

T TGS a7

(a) A, Dand E only/&ad A, D 3 E

(b) A, Cand D only/&a@ A, C 3 D

{c) Dunlyﬁlﬁﬁ D

(d) B, C and D only/#a B, C 3R D

NTA UGC NET/JRF June 2021(24-12-2021 Shifi-11)

tlDl‘lS
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196. Identify the correct sequence in decreasing

order of percentage of total world's water in

the following locations:

W giavE w1 Proifed e o
3z W araiiel T § waftaw -
(A) Atmosphere/@r”HEd
(B) Rivers and streams/AT&ai HR serarid
(C) Ground water/"[3d
(D) Lakes (Fresh water)/3TeT (@01 91-1)

(E) lee caps and Glaciers/femefrd 3t famm

Choose the correct answer from the o

given below:/ fau m@ ]

@ TG Wit

(a) (E)(C)(B)(D),(A) (b) (E}(B)(C).(D)(A)

(c) (E)L(D)(C)(B),(A) (d) (E)(C)(D).(A)(B)
"/~ NTA UGC NETAIRF June 2021{03-12-2021 Shift-)
s, () : 9 5 g7 aa Savm 31 = A g 8
A A e 8
(i) femrefd air famea
MEGIGE] ﬂ'l’-ﬁ')/
(v) AETT 3R Feamd /

197.

tions
I

Eutrophication in a water body leads to which
of the following?/ Tk SFEmd

(TEITEHRTH ) & Trereawu:
A. Bloom of algae/ framer (o) w390 B €

B. Increase in the level of dissolved oxygen

(DO §U Aterde (ram) W
e )

C. Increase in turbidity and odor of the water
body/SIETYTEA H TEeTa AT I T

W o ghg Bl &1
D. Difficulty in sustaining normal aquatic life/
WATT Aersita & wargu o FAGIE
E. Deficiency of nutrients
ek ded W ST g1 AT ¢
Choose the correct answer from_the options
given below:/ et fag g | WE I

T A il Al
(a) A, BandConly!ﬁﬁ A.B 3 C
(b) A, Cand D only/@&ad A, C 3T D
(¢) B, C and D only/%&« B, C 3R D
(d) C, D and E only/&dad C, D 3R E
NTA UGC NET/JRF June 2021(01-12-2021 Shift-11)
Ans. (b) : UF J@T9™ A F HegEy:-
(1) v (Th) FE 3T E
(2) o i T Aa I T & =) g g
(3) T SesEl & Hamm § FfEAE e

K

- Qdipg-Study

Statement I: Aerobic digestion of sewage sludge
requires lots of energy.

HAF | : TR & arada ravingur & fag
rafires i S SravaEar gt §)

Statement 1lI: Aerobic digestion of sewage
sludge produces huge amount of methane.

waT 1l ; Wemd & aayHuT o
aTeaftres meT o Hra= der g

In light of the above statcments, choose the
correct answer from the options given below

T feramet
iﬁuﬁmmmaﬁ'ﬁa‘q
(a) Both Statement [ and Statement 1l are
correct 4 | 3T 11 31 &t &

(b) Both Statement 1 and_ Statement 1l
incorrecU&a4 | 31 11 2Fi e €
(c) Statement I is correct but Statement 11 is
incorrect/®4A | W1 2, foe Fo 11 e &
(d) Statement [ is incorrect but Statement Il is
correct/ FUA | A &, fifeg ®4A 11 W 2
NTA UGC NETMRF June 2021(01-12-2021 Shift-I)
Ans. (c) : 9A9d & Fgag FEymEn & Ao sl
=9 3 IETTET Tl &1 T8 FAT TeT €, TR ST
F aATg SENET | Hed 6 i fdm Tm w8
199. Anaerobic digestion of sewage sludge is
TR hl Gldg &l uraA
[. AncfTective progess for organic solids
s 318 Tt & fon s e
2. This process requires lots of energy/S4 Wil
| Fal F EvEEm ﬂ'r’fr!'s

3. This process generates methane as an end
product/3d SR T Y 3w & &9 § g
Ty T #

4. Digested sludge is reduced in volume and
easily dewateredTfan g @A # we
S & T T § Selied & S g

5. Very fast process and thus does not require
large sized reactors
s @9 WEa & afn I AL NER &
fesi 37 srvaw % i @

Choose the correct ﬂn:mrr from lh% _guons

given helow:/

wmmaﬁm
(a) B, C, D and E only/%4d B,C,D 3R E
(b) A, B and C only/ % A, B 3 C
(c) A, C.Dand Eonly/ @& A, C, D 3R E
(d) A, Cand Donly/ #a4 A, C 3R D
NTA UGC NET/JRF June 2021(30-11-2021 Shifi-1)
Ans. (d) : 7O & AAE @ ANRYS U 8-
(A) Sifa® 3 ool & A el wfien &
(C) 38 wiwa # 3ifaq 3mum & =g | Wm0 =@ €
(D) ufeq ¥=g 39T § 92 S & a9 Fem A
serten e o T #)

are
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Easy.Nates 4u

List-1/ T 1 List-11/ = 11
Class of water Example/Explanation
pullulans\/ \_/ZEI'({‘UI/ETI'@T
TE UgHehT Y o
A. Disease_- causing|l. Organic wastes

agents/ AT decomposed by aerobic

FF bacteria
argatdl Sframy gr famfea
A Hafe

B. Oxygen depleting|ll. Acids, salts, compounds of

wastes/  SMFTH[  toxic metals/3TF, W,

W FA dwl|  faue s & afs

Iafyme

C.  Inorganic plm]l [Il. Bacteria, protozoa, worms
nutrients/ 9t | ete/ GﬂaT“]

IFEAF U A | (WerEn) Fh ozl

D. Water  soluble|[V. Water - soluble nitrates
inorganic and phosphate cause
chemicals/ excessive growth of algae

S B geduie|  etc/

ST WA oA gevia MEge 3R
iRz YEa e # ofa
gfg Fw €1

Choose the correct answer from the options
given below:
i R o Rremeat # ¥ wlt I gfw
(@) A-1LB-1V,C - II,D - 1II
() A-IILB - ULC-1,D -1V
(c)A - U,B - LC-1V,D -1
(d)A-1IV,B-I,C-1LD-1
NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)
Ans. (c):
el List-11/ T=IT 11
A UgWeh! ol anl FETE0T/SATET
A, TSHS E L. Sy, ssiary
(STErstsm) FH gt
B. ¥iieH &R & [ L argsiE stan g
arel 31 faufen @mfm e
C. UMl & @S | V. 9@ § o Awge
e 3 Ffiere YEm oS
@ 3t gfg F €
D. 5@ ® goAue | 1. 3%, @au, €66
T T IS & e
201. Given below are two statements

et 2t A feu o §:

Statement 1: Nitrification resulls in an increase
in efMuent ammonia toxicity

wuA | @fgEE @ amifan faewa # gl
ATSZTHTUT T TROTTH F

Statement 11; Dentrilication reduces nitrate to
nitrogen gas using hacteria

Qnline .Study

gee Wt Azgrad | # srvufad @ €

In light of the above statements, choose the

most appropriate answer from the options

given below/ & ,

fou g faeedl & § Wt 9T T 94 @A

(a) Both Statement [ zmd Statement IT are correct
(T | 31 = e E

(b) Both Statement | and Slalnmn.nl Il are
incorrect /&a [ R 11 21 TAd |

(c) Statement [ is correct but Statement 11 is
incorrect /F47 | TA &, fFg T4 11 e &)

(d) Statement [ is incorrect but Statemment IT is
correct /&4 | A 8, o I 1| w2

NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)
Ans. (d) : TEET FT WG] (GO T GG AR
1t T &1 fg R & S &5 o
I & AR M H HuEfE wG @ WA A |
I A9 F9F 1| G €| s fawed (d) T €1
202. Which one of the following climate change

proxies is not the terrestrial biotic climatic

proxy?/ Frefafes & € = wwary
wiawsht, uria sra erarg wiewst <& &2
(2) Boreholes/fg - f (FR-Trew)
(b) Leaf physiology/a3-fga
{¢) Tree ring/g% - ded
(d) Pollen and spore analysis/ TR ¥4 ey frecmon
NTA UGC NET/JRF June 2021(28-11-2021 Shift-1)
Ans. (a) : T FGET, 987 TG AU WTHY TE AI0]
fereerm wiffa S/ ey e @ s fe-fe (an-
) nfde S Ty e T 2 om: fEEeT (o) T /)
203. Given helow are two statements, one is Iabelled
us Assertion A and the other is labelled as
Reason R
Assertion A : Schistosomiasis is a polluted
waler borne disease
Reason R : Schistosomiasis is mainly caused
due to the presence of sulphate in water
In light of the above statements, choose the
correct answer from the options gn en below
o waw fau T § ;U @ fhEaT (A)
3fr gEt @ 7 (R) i T §
wfawaa (A) : faw wiftefaw s gia o e
W T E
T (R) : feeifaufaw I gEa: et # wehe
i Juftafd & o g &
ITGTh HUAT & IWEE A =it fawmed o
W W I A
(a) Both A and R are true and R is the correct
explanation of A/(A) 3 (R) &Hi TeF § 3
(R), (A) F1 T =mEm &
(b) Both A and R are true but R is NOT the
correct explanation of A/(A) #HT (R) & #g
¥ T (R), (A) F1 T = T 8
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Easy.Nofes 4u

(A) T ? T (R) 39 &
(d) A is false but R is true
(A) 3787 & W (R) T ¢
NTA UGC NET/AIRF June 2021(26-11-2021 Shift-11)
Ans. (c) : 3VEHeA el AAUGEE U g Fa S
mﬁmw@aaﬁl?muﬁméaﬂnaﬂ
WEA qEl A F A A7 S & @ ag an e
&1 o fomn m wF afrsas &) SrEn A9 w5 &) I
7% 3w 2

204. Which of the following water borne diseases
may be caused by virus, bacteria and protozoa?

o # W werwtAa o g,

ey afit weframupeit & ST g w2

(a) Cholera/@= (b) Diarrhea/3fAR

(¢) Hepatitis@FA-amg  (d) Typhoid/HiEF==T

NTA UGC NET/JRF June 2021(26-11-2021 Shifi-1)
Ans. (b) : TTETETT—AREAT STersi-id T faumuy Siamy A
softamugsil & o @ AT )

% Gl 3o & F FR0 g 8 7e g
ot & Hae o &
YenRa-m7 939 g9 & S0l eF a9 g,
36F a3 4 A% FE F TI0 @ GEA 8
TEETES-3H 3 R M FEd @ 48 Wenen e
T Sfav) § W ) qE dee S O & ae H
Gt 21
205.

The permissible limit for Arsenic in drinking
water, as per Indian Standards [IS : 10500] is
wTAr W= (1S : 105000] & TR U A T
arffares & arga i et &7

(a) 0.5 mg/l (b) 0.5 mg/

(c) 1.0 mg/l (d) 2.0 mgA

NTA UGC NET/ARF June 2021(25-11-2021 Shift-1)
Ans, (a) : SREE AEF (IS ; 105000) & R 97 51
i Rt # g Em 0.5 me/ @

206. In agricultural regions, groundwater can have
ngmf‘csnl concentrations of “hmggullulnnt?

FiU g6 0 gwe ¥ 0 yeue T

& T ?

(a) Cadmium/efian (b) Lead/drar

(¢) Nitrate/AZZE (d) Selenium/AAtTan

NTAUGC NET/JRF June 2021(24-11-2021 Shift-1)
Ans. (c) : 319 &A1 B 39G que 8 ARge WgwE &
quP AA1 el € e 98 s an W I, afes
T A9 W@R & VERU Ud fPseE ae wH woumE
S @ A4 S § S F e €

207. The saltiness of the ocean water can be
attributed to the minerals and salts deposited
by the various rivers that Mow into it. However,
rivers arc nnl 'mlmc hccnmc

W 9 % WRUT & A 3Ed et e
arelt fafuw afeai gro feifee @it af

Quilne. sl

(a) Salls 1,;1 precipitated al the bottom
e T saafm & o &
(b) Salts are absorbed by the plants into it
UTRY FE F1 S &K o g
(c) River water in replenished by the rain
T W aul @ YR @ e
(d) Muds of the river neutralizes the salt
34 #1 M wan & e AW E g
NTA UGC NET/RF June 2021(22-11-2021 Shift-11)
Ans. (¢) : m‘;ﬁaﬁmmammmﬁm
aefl fafem Afed zm Feifes afei st ool @
IoEE 9 S a2 Aafy S @ 9w w9
g, it 41w as § g & o &
208.

dy

For drinking and irrigation purposes, the
availability of suitable water out of earth’s total
water supplies is about less than
h .

4, Tt @ He

o & IUGTh W oI IUCTEIAT §: —
(a) 1% (b) 5%
(©) 6% (d) 10%

NTA UGC NET/JRF June 2021(21-11-2021 Shift-11)
Ans. (a) : U9 311 o &q, gt &) §@ semgd 0 F
3G oI 1 ITAHA 1% 8

209. A high amount of BOD (Biochemical Oxygen
Demand) in a water body represents

Tw wemwEm WO s S (
3T - nﬁnaﬂmﬁanm;ﬁrfﬁﬁamﬁt
Highly Polluted Water/3Teafia ygfd 9e

B. Presence of a large amount of o ar.ﬁ‘ﬁ.rm: materials
Tt T ST WIEAT
Iresence of good amount of dissolved oxygen

@I et wTEr &y
. Severely limited aquatic life

foice

Choose the correct answer from_the o

given below o Hrer fau o

W TAF FHIA

(a) A, B, Cand D only/Fa@ A, B, C 3T D

(b) B, C and D only/&ad B, C 3T D

() A, Cand D only/#ad A, C 3R D

(d) A, B and D only/F@@ A, B #TD

NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)
Ans. (d) : TF F@E d 91,392 (FEEhEa siiedsE|
feniz) i fas v @@ el @A @ ;-
A. Fafus sgfia sid
B. FHEAS g2l #1 s 9 § Juftafy
D. arafus Hifam seig S|

210,

tions
I

Which onc¢ of the following is a component of a
Sewage Trualmcnt Plant (STP)?
T UH Howa- e - @y

mﬁﬁwqmm%’
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Easvy.Nates 4u,

(b) #fon Exchanger/37g9 TaRTde

(¢) Grit Chamber/aTeF01- NES

(d) Cyclone/AmzFaa

NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)
[Ans. (c) T U ToRTE T W @ U e e |
211. Contamination of aquatic environment by

Polychlorinated  Biphenyls (PCBs) can

originate from

AFHZEE G FeATd qararor
& weuw Prafafaa § @ fere g ol @
Heral &7
Sewage eMuent/Haw aftam
Waste incinerators/3Tafie W
Toxic dumps/faarws F=0
Thermal power plants/arafaee €=
Transport sector/aTTagT &=

Choose the most appropriate answer from the

ons |;:||.en below;

=g?} T famedt o B wd 3w gl

(a) I.3.50n|}!ﬂﬁlﬁ 1,3.5

(b) 1,2,4,5only/&ad 1, 2, 4, §

(¢) 2, 3,4 only/Fae 2, 3, 4

(d) 1,2, 3 only/@a 1, 2, 3

UGC NTA NET JRF June 2020 (17 Oct.) Shift-1
Ans. (d) : GiefEaiitide @EGAEed (PCBs) &/ weig
YT S N HAW AewE, AN T S
Fat 2 o & wE
212. Given below are two statements, one is labelled

as Assertion A and the other is labelled as
Reason R

Her 91 waa R 7w §: uw @ wfuwmwa (A)
3ft TH T 9 (R) FEr T E:
Assertion/21T0&HaT (A): Lakes are less prone to
gelting polluh.d than rivers/3id Af2gi 21 a19em 9
YEfE & & S W R

s W

STE.!?I .‘Tﬂﬁéﬂﬂmﬁﬁﬁmﬁt{mm .
ﬁﬂﬂﬂﬁﬁﬁmﬁ{ﬁﬁﬁ'ﬂ?ﬁﬁﬁl

213. Given helow are two statements, one is labelled
as Assertion A and the other is labelled as
Reason R,

Hrer 2 wuw feu Y §: Uw @ wfawa (A)
3t g\t w7 (R) wEn T

Assertion/3TT&aA (A): Lakes are considered
to be more susceptible lo pollution than rivers/

afeat 1 Aue FE! o ygiad 54 @t AuE
HATEAT et R
Reason/deh (R): Water in lakes may take

decade (s5) to be rcplaccdrsﬁFﬁ w T @
wiwefum g9 o g9eRt o Wad §1
In light of the above statements, choose the

most appropriate answer from (he options
given below

Iwg wEEl & aners o frifea faeedt |
A walftrs Iugeh 391 o4 :
(a) Both A and R are correct and R 1s the correct
explanation of A/A 3R A WA OF I R,
AT T8 =Em
(b) Both A and R are correct but R is NOT the
correct explanation of A/A IR &1 &R
3R R, A # T = T 2
(c) A is correct but R is not correcl/A
R e 21
(d) A is not correct but R is correct/ A Teld 4 W]
R 5E &1
UGC NTA NET JRF June 2020 (29 Sept.) Shift-1
Ans. (a) : (A) 3T (R) 41 T 2 300 (R), (A) 1 Tl
S F #| A @ s e & wgfe dd
T 3T ST 2 i 2l o o W NeRad &
H oI @ T f
214. Match List-T with List-TI

T & T

Rcasunﬂ* (R): Water in lakes gels replaced 'Gl?.ﬁ-! ol 'q?ﬁ'-ll & Wg E‘&f‘dﬁ Hﬂﬁl‘l{ T
through natural pmcesses@h?ﬂ q W YEAE THUIT: TETgEe SiT 37 & U 7T §:
sl 2R aftafi g e Listai1 List/gei-l
Choose the correct answer from the options is (Water pollutants) (Sources)
given below: —~ =
e fam T B e Eﬁq A. E::::nding u::"ngti-l:- 1. Mine drainage/
{a) Both A and R are correct and R‘ is the carrect bodics/3Tr® =TS
explanation of A/(A) 3 (R) 21 W g 3 m a8
(R), (A) 3 = =@ 71 e W ST
(b) Both A and R are correct and R is not the -
correcl e:‘p]anauon of N{A} aﬁt (R]a]'.'-“ Ha B. Plant “uirlenlsm 2- Mﬂdern
€ 3T (R), (A) F1 581 =30 € U washing
() A 1s correct but R is not correct/(A) Eecal %, :":g:;:lm r’:::_:j
T (R) 78 74 ¢ T
(d) A is not correct but R is correct/(A) Tel 72l i e
¢, (R) W T & 3l e arawr
UGC NTA NET JRF June 2020 (30 Sept.) Shift-11
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Eagy-~otes 44

toxic dumps/

wofteor  afit
farar+h e
e

D. Polychlorinated 4. Paper mills and

biith EnglfsEE(PCBs)f food processing

units/ ot firet
agAEe (W d | afn @
) WHEHT FEEal
Choose the correct answer from the options

gj'gnhclnw— - )
feu Ty fareneat ® & W 39T o WA W

A B C D
(a) 4 3 2 1
(b) 4 1 3 2
() 4 2 1 3
(d) 4 3 1 2
UGC NTA NET JRF June 2020 (24 Sept.) Shift-1
Ans. (c) : Fﬁﬂﬂ?ﬁmﬂ%
TeAt-1 11
A WU B
A. I AFIE @AM (4, TR e M @w
B. UEY YA 2, g e qEst
3 FM 3
C. 3 (TAE) 1. EH-HTEG8A
D. UciiFelli"e e ERE G C U
agsAEed (4 4 ) fars e =
215, FefafEga W | &E-wr @y ﬁﬁ
gty (& Teargrge) & ter ?

(a) YOG FUTER qETd

(b) FHEA EETFEE

(c) SIS

(d) amoTsier HEt A

UGC NTA NET 2019 Shift-1 (3.12.2019) Set-4

Ans. (d) : wﬁm-ﬁﬁmmmmﬁm
W 4 G=1 g €1 ST 4 SEA 5 TaEis
s 81

gl AT ¢ | N i 3491 §eE 10 @ 9@ o

216. TSheh WA § chiWGhel SMGHTA &1 TIT &I &-

(a) Fr=t (b) 3=

(c) mm (d) faega =

UGC NTA NET/RF Shift- 11, Set-06 June 2019
Ans u.; @hﬁmn?ﬁaﬁm#ﬁmﬁ

€1 ZF (Eutrophic) & &1 w4 ool 51 4
%lwmmmaﬁ?m@mﬂam%
o ard dmm W g &) wwfEm F o A fEh
S FOUGF Gl T TR F IO SEerd €

& s § S@EE § Ul qe sard # e
T 21 3hF AfafE 9w § A & Ui F SR

PRS- Sty

217. fA=teiiEad W @H-6 Sl ygiad W @
HOT BT &2
(i) frenfEar (Giardia)
(ii) 7 (Denguc)
(iii) UATRTERTEY (Amoebiasis)
(iv) TFWEE (Typhoid)
ﬁﬁqwﬁﬁﬁﬁﬁmqﬁq
(a) (i), (ii) H (iv) (b) (ii), (iii) 3 (iv)
(c) (i), (i), (i) 3M (iv) (d) (i), (iii) 3 (iv)
UGC NTA NET/JRF Shift- 11, Set-10 June 2019
Ans, (d) : T3 FEd@ w@at aa SEEvEE WA o
mﬁgﬂﬁ'aﬁm@ﬂﬁﬁﬁrmélﬁf&ﬂaﬁ
& FOT WTsa il 4 Iea=1 Fimicat Ffafad -
foarey gro-difea, Ae-fewia, JEm, d@wE
TFaaE 32|
IgEy, {9 A
WrErStan gro—unefanta (e, fanféa som,
fn T anfz)
Q?H-T W—m'sgim. 313_;'&_&' fe ﬂ'ﬂ, ﬁlEIWTQIEr
T 7 a7fR) —_—
31: fameq (d) 9d I g
218. W W TEEal Afawar | &g adt Tagm
(a) #fe (b)
(¢) TEE - () T (ifeame)
UGC NTA NET/RF Shift- I, Set-07 June 2019
:(c}mnmﬁﬁmamqﬁ
mmelmnﬁﬁﬂmwﬁmq@mmn
T diErcfaa @1 Addrataa a9 & ¢ e @ |
StFfTm Weor F F e FH A AR §1 sy
foresil @1 Wiw FE @ 8, wWunon FEe sl Infedi
3 g W Aren 1 a3 A 8 =g 3 favgm
wmﬁqﬁ#ﬁmawgaﬁamﬁmaﬁnaﬂﬁlm
g dm ¥ frg w7 &6 € FEiE a sitadien o &
A 3 F IR, A R T o g
219. Udl WAA & a8 (g ° 9§ A A-leli@d 7§
ferart Wt 2w §2
(a) TEFTE \/ (b) Hrm
(¢) TE (d) ==
UGC NTA NET/AIRF Shift- 1, Set-09 June 2019
Ans : (n) Tl 9700 F 77 &0 § -9 FRTH F wgfm
BIFT €1 S I & WHH W Sgid A €1 99 Wi,
m@a@amnmwﬁ?nwﬁuﬂiﬁm
(0.05 fryel) @ fes €9 9 W IR AE IR F
fow G & i &1 A & gdf T S e
ame, FRR, s aw FREvE § O a9 8§ A 9
mﬁﬂmaqrwﬁmq_awﬁqeaﬁm%m
ER W@ Afedl [t 81 el &v Ay iR &9
T A ¥ yfaq 21
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227.

Indentifly the sources of s0il pollution from the
following list:
T H# g yguer & dar
TEET HITAT :
(i) Industrial effluents/3frefiTe afgam™
(i) Eutrophication/Zitheryr= ( Garaur )

(iii) Unscientific disposal of nuclear waste/
@l

(iv) off-shore oil drilling/3Uad@ W@ WA
(fgferm)

(v) Improper management of seplic systems/
Torareh @t arfae yEus

Choose the correct answer from the options

given belnw

T ¥ W fawen =1 w9 S

(a) (i), (i) and (ini)4i), (i) W[::li

(b) (ii), (iii) and (iv)Aii), (iii) 3T (iv)

(€) (i), (iii) and (V)A(Q). (iii) 3T (v)

(d) (ii), (iv) and (v)/(ii), (iv) 3 (v)

UGC NTA NET JRF June 2020 (12 Nov,) Shili-1
Ans. (¢) : [T U fawed o et afewm, ivEE
sufene @1 sEwta fere, fa sonfer @ sefa
mww&wglﬁmaﬁmma
THE aa gfewa W v, Her wed, §-amfwe,
iz 4 o A
228. YgiUA WA & &WUT & AT W= IO & HeT

TR I TEe—

(a) &=, fordt AR, =R (@EERE) AR
qiferat

(b) &, P (FHEHE), ST (UEREE)
3R e

(c) AR (ZHTEE), =Y (UZEfm) 3
GEGT

(d) &, sfror sfER, SRR (FETEE) S
aufe
UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10
Ans. (a) : ISR 0 favE 1 Sden 7 o, fawm
&1 | fammweie I 6w owgm e 2 fava mne
FEA AR A #: & & fowmefa v § 4
wff FrmfEl & 80% 3 T 7 § 7 v fEE F @
hﬁzﬂiﬂmﬁﬁzﬁmﬁﬁf‘?ﬁﬂﬁmﬁ—
| WEHUI-HA S s A g weE & ol
ITGMT F TR A, AT AT # I A wd
I3l F AT W
Igyg =9 § 9 1 g w9 s Sl @1 S
T 21
WA I F TR &4 I T FE O e 8-
1. 7 it s 2. Tz § = okt

3Mme &ud

5, &
7.
9, trrram
229. Wad HE@yul Ygua W1 Aredt 3T FAT & urHr
&t TuTETT § it & S ' -
(a) ST
(b) W (c) ¥
(d) Fd qfem v=d (e) VaT@
Frefafaa fawedt § 9 vt 397 &1 9a=9 &i-—
(a) (a), (b) 3 (c)
(b) (a), (b) 3T (d)
(€) (a), (b, (d) 3T (e)
(d) (a), (b, (€, (d) 3 (c)

UGC NTA NET 2019 Shift-1 (4.12. 2“]9) Sel-5
. ﬁﬂ'qﬂ a?l‘ﬂi‘i ﬁ dd Al Qq T ]1

¥4

mmmﬁhﬁmm mﬁaan;ﬁu‘r
mm:qﬁﬁvﬂ'ﬁrmmmm
mﬁaﬁmmsl

F TH T UE WMEvEl § R W
ﬁﬂﬁif@ﬂ'rﬂﬂmﬁqhmﬁmﬁmmmé—
|. Hifo wEus 2. THEE W55%
3. HfaF WgEE

& frt i T TNz g e 9 81
dfaw wgual H 39 smifen oifes w1 sfmfa
frar smar & S os@ # geevia fefm, Sfa
fT AT, WS 4 SEs & yiad &% g
T Sifas wmiEl, T , I dfFfa,
Vi, e, ST w A T e % e
mmﬁnﬂa%r
aﬁﬁmmmwﬂmqwmmw
sﬁarul WWHMWBWWWW

s:g_hﬂamaﬂﬁl

230, URd W@EN 3 CEiEd § §@  feaw
fae=a F AN B W 7R WA
W ITAT & &7

(a) T TEA T HR gE fage g
(b) STe O e, T8 A 3R T e,
aer At o daerg
(c) WO TUNH TAEE; A9 fawm 3 W awm
AT, 791 Tae 3 oA By
(d) STET WA HAEd
UGC NTA NET 2019 Shifi-1(2.12.2019) Set-1
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ey e FEmE F oy 8§ o e e a6y
O & 21 adnE | wa v e & e S
o T fidz TEEa # #@w T g e @ o
TR TY FEA AAULE § O S we [6ds,
FE7 3N IS TEEF A4 Ud IU WEEE AfZAT F1 Ees

PRYRe-ptey

(¢) adig Tl Haa (d) TEE! U wIEH

UGC NETAIRF Dec 2011
Ans: (d) 9@ fﬁ'ﬂﬁ ufETsA {Ilydmpnwcr Plant) I
frd 20 31 == g0 9@ &1 o o Fagn 30 3 S
21 92 Sl & AL HA Ay gE f9a g
w F ¢ qe wge fem § i gwleg walaw

F F) e gwd F wine fe mn g
231,781 WTARTUTT WA @1 L&Y ATl a1 A0 ||
e @ @S W g ¥, @@ e i are

S R, T o SRy A e

el sy T ) S e e enfdE @
(a) "1 & T & AH[EY Tl &) e .
(b) wrida ST w1 FaE oW gf § ofim &t s (Climate
R 2 i ) Change and Its Socio,
(c) Fﬁw :ﬁa;t;' fe WA wEE Economic and Political
U i BN ! Dimensions
(d) H9I0 THAAEn & afm A fad W wEE @ | )
3w o @ 3 g 2 235. The primary treatment of wastewater involves

UGC NETARF June 2006
Ans: (a) 98 59 @@ WA 0 Afuwiw AfEE @
QoA @ s @rgl # @i @, 9@ Ader R Al
Afegt 3= AR wfEd @ & e 9w & e

removal off M T (
yraftre Su= o faRa g2Tar wrar 87
(a) Colloids/FTcizs

(b) Microorganisms/ T I

arex)

F ITEY dgdl 21 () Organic waste/Sifa® afaTg

232, RN ST S WIW & 3G TeEd aedt | (d) Solids/3m@
w2 & HAW NTA UGC NET/IRF June 2021(01-12-2021 Shift-11)
(a) ST F FO T G T Fed Ans. (d) ; HUIVE STA (G 9 o) & HAE TR A,
(b) WEME @ YHAR T I Tl wfter dieg 3% Sfew anfiwi & 3 v 2R T 9y
(c) TRERI F W T 71 3 Al & EET TR 1 98 AT ST W A

5% 7 aEwE v frde sEwm zm 9 ¢ Ows zm
39 14 P-A2 SN &1 & 41 Al § 43 91 & 3 a4
I Zeh T=d TR W N W £ o IS Fi fheTm
210 %21 fea S 81 ;e (d) 9 2

(d) 8@ gft @1 @ frdl g e
UGC NET/JRF June 2006

Ans: (a) TgFE! €21 &1 9 S 9T TREd g 9
G & B, FAAE & B T g # F2E

21 Afedi & semwm & Gum 4 weEd), meEd A8 & || 236, The waste component of waste categorized as
T TF‘:{ W "Trash' cn&siits of
E— “wer' & B o gufiga arofre @ e
233 31T (A) amEw | faw & § Saad #@ ——
siafia & & viw PR 21 ) -
S . . (A) Paper, Cardboard cartons/@0Ts, Fedrs @4
I (R) S T e amﬁ" B) Animal W: afTe
A e 3 (B3) I"IITI‘Iﬂ. astes/T]
& (C) Industrial grucess wastes
(@) (A) 3ﬁ'{§(|R}EI71T T & 3 (R), (A) F W (D) Vegetable wastes/¥TTs 3ufg

(b) (A) 3R (R) i & & = (R), (A) F1 3@
'.\ Hﬁ%|
(c) (A) 8™ 2 W (R) 319 21
(d) (A)3WE & T (R) §9 21
UGC NET/IRF June 2006
Ans: (a) BT T AT (A)- amE | fad s
T F a4 3 O e €, =i T
T WY WEG @ WO © it #osem whem A
arifE’ @ €1 3 (A) 3R (R) 2 4 @ 3 (R),
(A) &1 T€ =mem 2|

(E) Wood/=TS
Choose the correct answer from_the options

given below: fau mu I
= 5T S

(a) (A)and (E) only/&ad (A) T (E)

(b) (A), (C) and (E) only/#= (A), (C) 3T (E)

(©) (A), (C). (D) and (E) only/&ad (A), (C), (D)
(F)

(d) (A), (B), (D) and (E) only/%aw (A), (B), (D)
I (E)

NTA UGC NETHRF June 2021(22-11-2021 Shift-1)

NTA UGC First Paper Planner Volume-1

536

YCT

Scanned with CamScanner


Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink

Divya Gautam
Ink


al aEel (&) )

237. ldentily the correct sequence of Carbon (C) to
Nitrogen (N) ratio in decreasing order in

organic waste material

# &= (C) T U
T ot aradd WA # ugento:
(A) Food waste/@Ta 7ef¥TE
(B) Leaves and foliage/aftral man dede
(C) Paper/FTA
(D) Cow manure/Td & T & TR
Choose the correct answer from the options
given below
== fau ﬂqﬁﬂﬁ"ﬁ 8Tl I ﬂﬁ'{'&:
(a) C,B,D,A (b) C,A,D,B
(c) B,C,D,A (d) B,D,C, A
UGC NTA NET JRF June 2020 (30 Sept.) Shift-
Ans. (a) : TEE 3L AR A FES (C) § AZL0A
(N) & Ui (C:N) F1 3aTdl F7 ¢
FE > Ul 4 dEEE > Mg F MR @ G > GE

238. From the following list, identify the sources of

solid waste:
weft & ¥ B swfe & W @

TSt &I :

(i) Residential areas/3TaTdd a}?

(ii} Ocecans/HgTETTT
(iii) Institutional areas/@F=RE 8=
(iv) ;\griculluro@ﬁ

(v) Dust storms/ge w5t avieft

Select the correct answer from the options
iven below:

fau o fawed ¥ WH I @ WAA

(a) (i), (i) and (iii)/(i), (i) F i)

(b) (i), (iii) and (iv)/(ii), (iii) 3T (iv)

(c) (iii), (iv) and (v)/iii), (iv) 3R (v)

(d) (i), (i) and (iv)/(i), (i) 3 (iv)

UGC NTA NET JRF Junc 2020 (12 Nov,) Shift-1

Ans. (d) ; B0 T fGmet o smardr o, wates &,
71 g 3 e F '@ €
239, Given below are two statements onc is labelled

as Assertion A and the other is labelled as
Reason R.

Hrar & T feg ™ € U & afimaa (A)
3T g\ & A (R) a1 T E

Assertion/3fT&AT (A) : Hydrofluoro carbons
(IIFCs) necd to he phased out to prntae;cl the

Ozone layer/ ud & T
EeivArEE T (TAURHL) w g
TATHF §

Reason/@&h (R): IIFCs have a high global
warming potentinl /T, TGHT W Teiterer ST
T Feul WWTEAAT BT Bl

Qrling .oiudy

most appropriate answer from the optio

given below.

ITUTH HAA & s § fmifea fawe §

¥ waifus Iwd ST

(a) Both A and are correct R is the correct
explanation of A/A 3T R i e & & R,
A 3 = e &

(b) Both A and R are correct but R is Not the
correct explanation of A/A I R AT W R
R, A F1 W AW T B

(c) A is correct but R is not correct/A e 7 T
R W 4 &

(d) A is not correct but R is correct/A ®el 7 2
7T R W@ 2

UGC NTA NET JRF June 2020 (1 Oct.) Shift-11

Ans. (d): A T 781 @ 90 R 7@ 21

UG M. § TeEE @i @ e e e g1 g
A T & g g us i 1 e2E F avaEa T
21 Hium f gEE § W e @ B 3 AEH A

T A g & Y § G S ATEE e e g

fora ||faga snites ww feocft-smofa wiea @ i o=

240. Polar strataspheric Clouds are associated with
which of the follow inﬁ environmental issues?

gda |Waw o (RRES) e

frfafaa ¥ @ fag ataia e @ weg §:

(a) Flash foods/3&HES 918

(b) Acid rain/37cg asi

(¢) Ozone layer depletion/siisi T 3o

(d) Photo chemical smog/FRI-THTER YH-HET

UGC NTA NET JRF June 2020 (12 Nav.) Shift-11

Ans. (c) : YA TG HEAG (RRIEHE) T& A
g e § weg @)1 guAm dEd 0 HieE e 9
F1 ofio @ S 9 R dgendl #1 WA 9@
fvmn & fou s one 6 FERTE] FHEA, &EA
dmEz i TREEEEREEA | A W A &
for Taerdl IS & TEAE, e 3R AEW F TS
¥ forw ad 1987 # wifzaw MEETE swfm g

241.

The most economic method for desalination of
water iy " /9 (v &
QUFHTI ) T TS TTHeHT fafs § -
(a) Distillation /3THdI
(b) Eleclmdialysis.'ﬁl'g?{ A
(c) Reverse Osmosis/¥ATd TUETT
(d) FiltrationfFe=t
CG SET 2013 Paper-1

Ans. (b) : 96 & [EHEHYA (TR gaFHT) 1 HAEITEE
e fafy fagasmie fafa 21

@] fagm & & Iwdm S aduRma fafedi #
WeRT # AEA & UiEaga Wi § 1 gda ieafafay|
1 faoifsm &3 T s | faeavie, T w
TF WA, WA fedw, T3 faafeimer iR
AU FA I 1
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of pollution, while Set-11 indicates their
source. Match the two sets and select your
answer from the code.

e 2 T o o § vuEl ¥ e & yan
feu 7u € wEtE wUE-11 § 394G wie gad

1 =1 wgE o gt ot of few g we

W AT I T
Set-1 Set-11
(Pollution {Source)
Type) wE-11
wEl (&)
(g
W)
(a) Air (i) Point and non-point sources
arg such as discharges from
iﬁl?%ustarfi;s %:{'ﬁg NI
o L=1n)
FAM, T ¥ I
(b) Land () Industries, thermal power
UICS plants and motor vehicles
CI‘I‘H'i'i'lOI‘L*. e
wET 3l
R R
(c) Water  (iii) Roadway, aircraft,
S industrial as well as high
intensity sonar,
wEE, AL, 3R
I=J &{Hdl e GAT
(d) Noise (iv)Over use ol chemical
= fertilizers.
WS A @ 3T
I
Code: /2 :
(a) (b) (c) (d)
(a) (1) () () (iv)
(b) (i)  (iv) (i) (iii)
© () 6O @) W
(d) (v) (i) (1) (1)
UGC NET/JRF Shift - 2, set-2 18 Dec- 2018
Ans. (b)
wE-1 mE-11
(T YER) ()
(a) 99 (i) Zam, wfe faga d@d1 iR
T Tl F I
(b) 9f (iv) m:aﬁae ECicalis i oiE
(c) == (:}ﬁaafrcﬁtfa%antﬁv
AT e A IS
(d) = (iii) ¥, agaH, FaifiE i
I &l Gl ‘HA

265. Infernational Drinking Water Supply and
Sanitation Decade (IDWSSD) was observed

between :

g g wenfd o wemar v

frofafas ¥ 9 foeg srematts ® g=mar wan?

Qnline oildy

UGC NET/JRF Shift - 8, set-1 21 Dec- 2018
Ans.(h]:ﬁmﬁﬂaﬂ]‘iﬁ 31 Ta3dl 591 1981-
1990 &1 FTemats &1 WH=T T 2

266, The most harmful types of environmental
pollutants are :
T gty ugees §—
{(a) Tuman organic wastes
EIGE]
(b) Wastes from faccal matter
famr s masd
(¢) Non-biodegradable chemicals
-SRI THE
(d) Natural nutrients present in excess
SIHAF Ui Al &1
UGC NET/IRF Shift - 2, set-6 20 Dec- 2018
Ans. (¢) : TE-SENERNE WEd FOius s
qaleefig Wgus; € a1 97 Sig SN @ a1 A
3 wd wEimE afERs e wgew 8, Gew
fogrem e @ 7 & o 2

(Noise Pollution)

267. The
human car is of/T& W WA & T
afitem T W = u Al amars feas
2frae & g &2
(a) 0dB
(c) 10dB
NTA UGC NET/JRF June 2021(04-01-2022 Shift-11)

faintest detectable noise by a healthy

(b) 1dB
(d) 20dB

Ans. (a) : UF @™ U9 F S F &VEY T T A9
94 arel 3EE 0 dB 31 1000 Hz 31 891 21 2m@: fasey
(a) T &1

268.

Given below are two statements, one is labelled
as Assertion A and the other is labelled as
Reason 21 waw Ju g §: s arfhwe
(A) & ¥ ° 3T a0 3u& & (R) & ¥ o
Assertion A: The decibel level for a given
loudness may be different at  different
frequencies in the audible range.

IFFTHTT A: WS @ Yo & fT stegar
T o fam-fuw smgfwar ur e (2dtEer)
=T Tiaa §f aahat B

Reason R: The human ear has a differential
frequency response/ ST R: AT =t =

Tordee g W g §

In light of the above statements, choosc the
correct answer from the options given helow

| el I & wa it
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Eagy-Notes:44,

(¢) Both A and R are true mu{ R is the correct
explanation ol AJA 3 R EH B9 & HT R,

271. Noise levels (db) are referenced to the human
A T T =mEn 21 hearing threshold at a frequency of
(d) Both A and R arc truc but R is NOT the ferm W HHG- SaU-HAGHET &l iy
correct explanation of A/A R R T A & yEau T (EaEt) 9T wa oot faran s £2
T R, A o e o i 2 (a) 50 1z (b) 100115 —
NTA UGC NET/JRF June 2021(27-12-2021 Shift-I1) (¢) 1 KHz (d) 4 KHz

Ans. (¢) : ¥&d @ Yaddl & (o g23d 9" ¥ - NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)

fra amfedl @ s (3da) = fa-im 3@ 2 ||[Ans. (¢) : IKHz @1 319 W AMd gau saam &

it W @ @ faves gt Sgm fW @ 5w || [afr v (@) @ dEw FEw o s @) em

frfafan 3o 3Tewi & wasn o1 Fa 2- faweq (c) W 21
tafT weerr 3frad sdtEa 3Tgi (db) || 272. What will be the resultant of two noise levels of

Ul 31 TR 20 db 81 dB and 90 dB generated from two

: . independent sources?

TR Hf, TR — Gl T gfaw 81 3w i 90
ISR 3 edtad & afy @i & uftumy @ gm?
A ARl 60db  J (a) ~96 dB (b) ~91 dB

R 80-90db ¢ (c) ~98 dB (d) ~118dD

S g9 &t Aas 120-130 db NTA UGC NETAIRF June 2021(03-12-2021 Shift-T)
oo e 90-95 db [Ans. () : TR 7 30 ¥ T @A 9 TR R e |

A AEHAA A 3R R &1 Tl € 3R, A 1 qdl— 273. According to Noise Pollution (Regulation and

T 21 Control) Rules, 2000, the night time noise

standard prescribed for  Educational

269. Identily the correct sequence of the following Institutions is

noise pollution indices in decreasing order of
their magnitude in an urban area

oEdt & o wafy wgmw % Profafew gastEt

Y Ik WA & Hed &H § -

A. Ly B. L C.Lg
Choose the correct answer from the options
given helow/ sfrer f¥u w7y farrei W @ IW
& FGT WA

(a) A,B,C (k) A,C,B

(c) B,A,C (dy B,C, A

NTA UGC NET/JRF June 2021(27-12-2021 Shift-1)

w@f yguur ( faf+aws ud fe=er ) fHaw 2000
& agEn ufy 0 defos Wt & faw
fruifita wafy o §:
(a) 55dB (A) (b) 50dB (A)
(c) 45dB (A) (d) 40 dB (A)
UGC NTA NET JRF Junc 2020 (30 Sept.) Shift-1
Ans. (d) : |=H kSl (fafrmm w fegerom) e, 2000

Ans. (b) : mmqahwmﬁmﬁf@am
T IAF 9Zd w5 OH T TR g

Lyp(10%) ( Lo (50-70%) ( Log(90%)

270. According to Noise Pollution (Regulation and

Control) Rules, 2000, the night time noise

standard for commercial areas in India is

wafy ggan (e sf frsm fram 2000

% AN WRA W afofemes & o fera

NfEfs =ty nEE §:

(a) 65dB (b) 55d8B

(c) 50dB (d) 45dB

NTA UGC NETHRF June 2021(24-12-2021 Shift-1)
Ans. (b) : & wgg0 (AfFEm 3R @) f@m 2000
F AR T # fafir &E F fow ofmfem sk F

£ ofa | W?ﬁﬁ HEE F fan fim'tﬁa &=
TEE ¢ 40 A (A =E W) |

REVIE] /| sty dmr dB(A)

fe1 ufa
S e 75 70
aiffsae &3 65 35
Samdy & 55 45
it 9F (e, S, e | 0 | Y
nfz) ——
274. [Exposure to excessive noise pollution can cause
wgum &
IO B W §7

(A) Hearing impairment/S&0 G

(B) Insomnia/31F&1

(C) Rise in blood pressure/twmam ¥ gfa

(D) Respiratory disease/a5 Fadl T

(E) Reduced work efﬁtiem:ymff&mﬂ'l T A
Choose the most appropriate answer from the

ag = o fefafas 2-
& ofy wfer fo & wwg
wif & 40 db 50 db

ti iven below :
Ay far i Rt -8 Tt e P
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(b)=€A), (C), lDIrﬁrlly*'E“T“'?'T (A), (C) 3 (D)
() (B), (C) and (E) only/3& (B), (C) 3Kt (E)
(d) (A), (B), (C) and (E) only/#ad (A), (B), (C)
A (E)
UGC NTA NET JRF June 2020 (5 Nov.) Shift-II
Ans, (d) : IFNE S T T T AT TG F
w1 2 g fafm s @ @ 9 oagE |l
THF BY § W0 @ @ 8, -
= 2
afdz
wram § 3fE
Y & T W & A

275,

ofy fedt < 7 e @t diaar 7 g @
'@?ht?hiﬂraaﬁ\myr‘ﬁ'(ﬁ'mw
(c) ~6dB
(d) ~10dB
g, [=21, (e 7)
21,,]
Iy
a, f=10log*

Il the intensity of a given noise increases two-
gt
(n) ~2dB
UGC NTA NET JRF June 2020 (17 Oct.) Shift-1
Ans. (b): 7
a, = 10x03010(
B=3.010 =3dB

fold, the noise level in decibels (l_."l_B increase by
(b) ~3dB
1
B=10log—
Iy
276.

M, f > lﬂlog(

log *=0.3010)

In u city the noise levels represented by
equivalent sound pressure level over 8 hours
period were reported as 80 dB (A). What does
'A" Refer to

ferelt vrgv W 8 Wel & dner TEE ViR W @
woE Aty T WS wnam A 80 EE (A)
FATAT T TR (A) TEEeT e ST § 7
(a) A type of amplifier used in the measurement/
WY § GG EMA UR GFR & 59T Fi
(b) A type of microphone used in the
measurement/AId H W EFA OF SR F
HIgshEIA &1
(¢) The measurements of day time/f&a &1 @y
1 T &
(d) A type of weighing used in the measurement/
AT H NG aar Uh YER & IR F
UGC NTA NET JRF June 2020 (9 Oct.) Shift-11
Ans. (d) : FEART dB(A) 7, dB SHEG F IS € o
wﬁﬂmﬁwﬂiﬁma‘rm#lmﬁﬁ[mmﬁaﬁ
Mﬂmnwgmmmwmamm(m
#) fsim 5w 2

LQnline.Siudy

with reference to a standard sound intensity
the following magnitude.

@ ygEwr @ frefeiEd A @ W
tafy dae & gt & wrg Sfeer (fEf) o
AT AT E)
(a) 1 pico watt per m¥/1 daEe wfa ded
(b) 1 milliwatt per m*1 fafeae afy @t
(c) 1 nanowatt per m¥/1 1 A §fq b
(d) 1 microwatt per m*/1 WEHEE W W2l
UGC NTA NET JRF Junc 2020 (29 Sept.) Shifi-1
Ans. (a) : @5 55 1 1 TEERE W 92 2 wmm e
wfl fiam & w2d & e =fad (S ) 3 o g,

278. Day time noise standard prescribed for
residential areas in India is

e § srarda gE % fag fam | Pt vk
= T &

(a) 75 dB (b) 65dB

(c) 55dB (d) 50dD
UGC NTA NET JRF June 2020 (25 Sept.) Shift-I

Ans, (c) : WA ¥ smarda et & fon i o fuffa or
F T 55 dB 21
G/ | OIS e S | (A TR )
G kU]
i 75 70
e 65 55
T S5 45
oA A= 50 40

279. VA & 92 VIgH W O I1amaTd &A1 | A
Y T AWAR W Fretatey § # fow wafy
i @ I R
(a) 81-40 dBA (b) 41-60 dBA
(c) 70-95 dBA (d) 110-120 dBA
UGC NTA NET 2019 Shift-11 (2.12.2019) Set-2

Ans. (¢) : WA & a2 Wed # THA qE0AW & H 36

af T AER W 70-95 dBA (E€aen) aft wi

T 7 T 2

280. AT YEUW & Hed W fFrAfeiaa fiea=l uw
faram @rfae-

() SN ER T A A T IA L a9 @ &S |
= ST 2

(b) I TS FHAWH A aell qmE 3fea
WEITF F =0 0 TG FE L

(c) 2y pa & @ 2@ Y foma &t af &
T €

freafafaa o | vl faeea &1 waq &t

(a) T (a) MR (b)  (b) FoFer (b) 3R (c)

(c) ¥ (a) M (c)  (d) (a), (b) 3N (c)

UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8
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firen = 2

F9H (b) I US EIUH WA g A 3 e
AE F B H FE IO 8, T ) e & A e
7 & wr i T fEd § R 9 aeh af siEEh
TS § A4 SAN & IR 9 ard @ d S0 2l 8l

FUA () Wel 7@l &1 FHifd 2 pa (WEHTEHE) @ &

0.000002 <A/ T1 —20 e F T o 2
281, talT Yeuul & QRTTEEy

() T ST 9 FHER &l e 2

(by 3=

(c) 9@ FaAl

(d) TaM ¥ e

(e) s dim § agaE

() 790 g4 T

wEt faaea @ wg= aifa—

(a) (a), (b, (<), () 3T ()

(b) (b), {c), (d) H {e)

(©) (b), (c), (d), (e) FH (f)

(d) (a), (b), (c), (d) SR ()

UGC NTA NET 2019 Shift-1 (3.12.2019) Set-4
Ans. (b) : @&, ¥g8U & uftom ®y A=, 9 FE,
wram # gz, sam dm 4 agee, faefaemm, oo,
genfe it @ v @1 bt s e Aeme
(Fwrradhy faand off wafaq @t &) taﬁﬂqwaam
UG g W owE i ag S g, fomq wofdi g
HICITH H FAE &4 o 2, ey w9 amm of #m
1 ST 21

2827 TO @ B@EAl € MATH i Ieddl IO &

) DR R By

(a) 1-2 femEw
(b) 100-500 g
(c) 10-12 faeierRs
(d) 2-5 freeEs

UGC NET/RF June 2008
Ans: (d) T791 F FH 2-5 RS 0 gag o
Haeefie 21

284, 3nnfefas amgiy g4t @ WHa @ SIS

HagAviTer g §:
(a) 1-2 KHz (b) 100-500 Hz
(¢) 10-12 KHz (d) 13-16 KHz

UGC NET/RF Dec 2005
Ans: (d) 13-16 KHz 3gf 2t § 99a FF s
Haes Wi @ &1 & WP g2 (@-An 4R We
arell w2 e qug d faedl an a2 @ 39 Iw
92 &1 A (Frequency) #ed ¢ 3gfa i fFel
TEAET (Sinusoidal) F F Fo (Phase) e &
[ H w9 F ol gug wEa &) g @ SEE w
(FEFe SfEave) & 2
oF S [0 S § A o e @ 39 el =

(Time Period) ¥4 &1 314 T = }

285. Sound becomes hazardous noise pollution at
about -

Aty uTae Vi yguun &= A §, we -

(a) 10 decibels/ 10 eHaa W

(b) 30 decibels / 30 SHEA W

g et ? N
ﬁq?ﬁ; g vy ﬁ:}ﬁ% {c) 50 decibels/ 50 ZHiad T
:2; W :d: i (d) 80 decibels/ 80 THET W
UGC NET/JRF June 2008 . - RPSC SET-2013
Ans: (n) FEE 3 IoaW AF T fom Sremer @ ||[Ans- (d) : 80 S § S F @ WK A1 5D Hl
WM AW 3 @ F A 3 e 37 EE adee || [T & SvEe wf 3 dem @ 3 g g
gt 21 2fae (dB) WA us FfE g Ry F fau anfaerarsit — 140dB
an it Fear & amftafiE wa @ ) g — 3048
w@f & digm F A W @ g & fafatas w1 5
R b AT — 120dB
1. T GEGERZ- 20 SdEa B — 100dB
2. WO SR S A @- 50 gdEe T 3 — 90dB
3. WA AN & - 60 SHEw 7F — 80dB
4. 3TOEA & W - 70 SdEA I — 70dB
s.mﬁéammﬁﬁm—ssam g — 504D
6. “'tﬂaﬁﬂ W, 74, Wl §RfEa @ @l W- 90 r— — =
7. AR aFEH & T w- 120 § 140 e hm — 40dB
8. Tahe 3909 & @ W —180 § 185 e¥aa ot &1 e — 30dB
wfy &1 fiwm o0 e s &9 W anil F g FHGHE — 20dB
3 A A & T 2 T —_ 10dB
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Wrﬁ'a:) Waste (Solid,

Liquid, Biomedical,
Hazardous, Electronic)

286. To characterize hazardous waste I'ollowing
characteristics are taken into nccnunt :

ot AU @ afawisg &
ﬁrnﬁﬂg'a T/ FA-dt fagremi o ﬂwrr
femar wmar g7
(A) Conductivity/=STeTdl
(B) Ignitability/sFe-Tefiera
(C) Corrosivity/HeTHT
(D) Magnetic succeplibilitj.ffi_[f-iﬁ-ﬁ'ﬂ .‘ﬂﬁ[
(F) Reactivity/Hafcrarsiiedr
Choose the correct answer from the o
given helow:/ famear 0

& AT Hfd—
(a) {A] (B), (C) and (E ]nnlw
FAq (A). (B, (O 3TI'{ (E)
(b) (B), (C) and (E) only/Faw (B), (C) 37 (E)
{e) (A),(C)and (D) nnly,’?ﬁﬁ (A), (C) FHR (D)
(d) (B), (C), (D) and (E) only/
Fad (B), (C), (D) 3R (E)
NTA UGC NET/ARF June 2021(05-01-2022 Shift-11)
Ans. (b) : SEeviEd, (FEEW) TEREW TH
yfufrarsiem @nes anfte & sfiefE 56 & fog
g fadmm 21 3 fared (B) 5 2

tions
I

287. Match List-1 with List-II :
TEfi-1 & |rg gEi-11 @ firems wife—-
List-1/gEi-1 List-11/g=-11

Hazardous substance Major Source
AT e T |

(A) LeadsTE (1) Electrical

insulation/

(B) PCB (Polychlorinated (1) Plastics industrial
biphenyls)/ uses/
A, (e FAMRE A $afEad

(C) Bcnrcnc"iﬁﬂ?l
(D) Vinyl Chloride/
fammse s
Choose the correct answer from the options
given below:/ o H
I @ A witau—
A B CD
(a) [ W I IV (b) I M IV I
() L1 1 IV @1 i

(111) Paint/¥2
(1V) Gqsoline-’
e

A B CD

dji: 1 .
(@aTE e ) (W &) -
A, @E (IRT) n. o=
B. f.41.4. (feh 1 fagda $geiem
C. A IV. s
D. faese e . wnfesm efigaeq awam
288. Match List-I with List-11 :
eft-1 % v g1 @ fuer Fha—
List-1Ag=-1 List-T1/g=i-11
3-Tall HUEH Ik IUET

Their uses
(1) Printed Circuit
Board/ iz wiEe &g
(I1) Insulation/

2

E-Waste Components
{A) Mercury/
war{i (am)
(B) Poly Chlorinated
Biphenyls (FCB)/

il g2 ang
s ()

(C) Brominated Flame (111) Flat Screen monitors/
Retardants TAZ TR TiTaed
W freTim

(D) Poly Vinyl Chloride (1V) Capacitors and
(PVC) Tiett fameer Transformers/
wArEEw (drdw) wufaed wE

Ziowie

Choose the correct anwer from the n![;lmn-:

given below:/

I H A FTAC—

A B C D A B C D
fay T mMIviIi (byI! o mriv

{fe) mr v I r (dmivi 1

NTA UGC NET/JRF June 2021(05-01-2022 Shift-T)

Ans. (d) : T Frfem T -
-1 -1
(F-F90 Hues) (3% I94m)
A. THEEE () . e & Aied
B. uieh  #FeifAds @@ IV, Fufged Uz
TR (ﬁn‘{r’raﬂ) Farspantt
C. #iee vom REE.‘{H I fide gfde o€
D. el foEe FrEsa 1L 3Hee
(q.)
289. Arrange the [following components of

municipal solid waste in order of their
increasing abundance.

ot ety & Profafiaa oot
W Ik T A & agd H=0 1@
A. Paper and Cardboard/&mTst afr wrgars
B. Food/Ara=
C. Tin Cans/Z9 & @ 3
D. Dirt and Ash/ye 3fr @

NTA UGC NETARF June 2021(05-01-2022 Shift-1)

E. Textiles/@e&
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Easy Noies 4.

given below:/ =t faw u farsmeat ‘aT-IT
W HUF FITAT:
(a)y C,E,D,B,A (b) E,C,A,D,B

(c) E,C,D, A, B (d) E,C,D,B, A
NTA UGC NET/RF June 2021(04-01-2022 Shifi-1)

Ans. (d) : TR & [AtarEd 3 FURE 9T IAE

T S F AR H 39 NER 8-

3= 2ie = 3.3%

e = 4.5%

dwal = 6.2%

T, 99T 3R a8 = 9%

gd (FA & 79 fe=1) =9.1%

T = 12.8%

T FZ-TTE (YT I TW) = 13.5%

USH = 14.6%

FHTS AR A =27%

290. Biochemical Oxygen Demand (BOD) is a key
indicator of the process performance of waste

water treatment plant, The plant is said to be
efficient, when I[!,OD:.-' 'ﬂ'lﬁ%?ﬂﬁﬁ' aTtedteT
fents (teidt) amfie wo viuw wE@R &
T TTaEs @ Us T dahas & fadt o
T TG W THET AAT § A AE-

(a) Decreases &l %

Qnline.Stud

(A) ¥ &, W (R) W T € y
(b) A is not correct but R is correct
(A) T8 i &, 7 (R) & 2
(c) Both A and R are correct but R is the correct
cxplanation of A
(A) 3 (R) 31 T@ & T (R), (A) T FE
e €|
(d} Both A and R are correct but R is NOT the
correct explanation of A
(A) 3 (R) ZH W@ & 9 (R), (A) & F@
oices e il
NTA UGC NETMRF June 2021(27-12-2021 Shifi-1)

Ans. (d) : #f5gq 3 @ 7= &1 3= o § g9 S
1 g MR T fawE e 92 wEA §) S e
Sl S @ FRw @ T @ R Gl e W,
Tehdledl, U7 HaEd wEn anfg Al @ F R @ A
81 W@ 0 w3 iR agum F FE ane g U
FROT I @ e W @ e e e T
#1 70 YW (A) 3 (R) 31 T § 3R (R), (A) 3T wE
T Ad 2l

292, Match List I with List 11

welt-1 @ G- 11| gafea st

(b) Increases for first 36 hours™M&& 36 ©2i # List- 1/g=0-1 List- 1AEH-11

© 1 v & Hazardous waste Characteristic feature
C ncrcascs'il {-E" Em m

(d) Remains unchanged/3mf@afda wd ¢ ( : (I o bl)

NTA UGC NET/JRF June 2021(04-01-2022 Shifi-1) || A- 1gnitable/Zvea | 1. "r%““sﬁ‘“ e
Ans.[n]:mﬂmm;;ﬁmﬁm = — IlC' — ’
el & Iurad & Sfas shEa o L1 i =R 3T . Corrosive/98iS . Causes serious health issues
T afem Rl @ T #) T SR S W e F fom iR e
i % F e @ us ge gaas ¢ fad g4 @1 || C. Reactive/ HI. Destray  containers/S
T T A & 9 AN AT fEuE 92 f wfaferare (&) W AP T 2
291. Given below are two statements, one is labelled || D. Toxic/fafan 1V. Able 10 sustain combustion

as Assertion A and the other is labelled as T YR 5 F g
Renson R "
3 2 @ R ¥ afirwaT (A) Chouse the correct answr from the options
'ﬁﬂﬁaﬁ{ﬂﬂm&qﬁt}:}%mﬁ-{ gﬁgnhln“ foraredii 1 @ W

: EELY QI:Q
Assertion Al Chromium and Iron ﬁﬂITI'E

contamination is found in wastewater of some
industries

AT (A) : wiwaw T dig yguw & Fo
I o STTIITE At | qTAT WA

Reason R: Higher dose of Chromium and Iron
can cause toxic efTects in our body.

&R (R) : aft #ig a3 & == WE

W o9 & & AR YRR 9T faares v 92 | [zt

HaAT 8

In light of the above statements, choose the
most appropriate answer from the options
given below/ UG FdAT & , H

fedr el o & Wt I @1 =AW

(a) A-1,B-ILC-1V,D-1ll

(b) A-1IV,B-TII,C-11,D-1

(c) A-1V.B-1II,C-1,D-11

(d) A-1,B-1V,C-11,D- I

NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)
Ans. (c) -5 F1 TH IIEIFF{ Forram 2-
geli-1 get-11

V. 339 U0 F& & qrgal

HeTT [I. 9 () F1 7 T 8
wfefFamoTh |, 37t e
ELE] [I. '@ & fou i afens

I fawe (¢) o 71
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Easy.Notes 4u

2w T
StatementI: In waste water (reatment
systems, most of the large
floating materials are removed
in the screen chamber.
aOfie W wuE yunelt
HieHTyT @S T AT USTd @
A ST | ger fan A
Colloidal and dissolved organic
content of waste water are
removed in the grit chamber.
: ECi:
yemviter uene @t fire Sy #
e feo s &
In light of the above statements, choose the
most appropriate answer from the options
given below ; . -
T & 3w A, e faw my faraear
o A W S H TaAT DT
(a) Both Statement | and Statement Il
correct/FdA T 3K 11 &1 #&l €1
(b) Both Statement 1 and_Statement 11 are
incorrect/&d | 1 2T T &
(c) Statement T is correct but Statement II is
incorrect/®uA | U8 E, ﬁlﬁ & 1| A 21

(d) Statement T is incorrect but Statement [l is
correcV & | el &, g w7 11 7 21

NTA UGC NET/RF June 2021(29-11-2021 Shift-11)
Ans. (c) : HUYY Sie 9EA wonedl  sifvErm g a
amwzﬁemmﬁ:{émqaaﬁ'mmér Fe H g,
W WY W & didided 3R geave w@d @ e
Fan ff 7 g Afeiivm &= 0 = fem osmw @)
it T (e 3wan) qemien Fi g @
72T ST & I WAfHE IR d &9 9 6
3T T 1 T8 €, fg e 1w 2
294, Flotation is a unil operation,
wastewaler treatment to/a- TR
forma Juam smite W@ ¥ & g w1 W
fFm AT &
Remove the lighter suspended suhdwf@ﬁfﬂ
Teifam S uegral & ge o
. Concentrate biological sludge/ €% H*frata 1!1'&
@rag & o
Remove oil and grease/ e af e (=) =
= o

Statement 11 :

wgq - 1l

are

used in

Remove the temporary hardness of the water/
WA AT &l

Choose the correct answer [rom the options given
below: few g I

(a) A, Band Conly /&ad@ A, B 3T C

(b) B, Cand D only / %5 B, C 3t D

(c) A, Band D only/ Fad A, B 3R D

(d) A,B,Cand D/ &5e A,B,C 3R D

NTA UGC NET/JRF June 2021(28-11-2021 Shift-11)

e 1 ﬁt{ Ef'ra ‘11; F 1 Fcrtn ST én
(1) e Freifaa 2rg wed 1 g2 §)
(2) Wiz 4= T #s & o)
(3) e 3t & g2 H)
295. Match List I with ListIl:
get-1 = g -1 ' gt s
List/geit-1 List/g=T-11
(Toxic and (Major Sources)
Hazardous
substances)
(A) | Vinyl chlonde/ | (1) Llectric
ICEIEREE &R EE Insulations/
Folldz s ST
(B) | Polychlorinated | (II) | Fuel
biphenyls combuslion/
(PCBs)/ a9 g
EIHE T
(dt =t =)
() L_lqnzo{u}pyrcm: (I1l) | Plastic
T (T) aiE Industrial uses/
&
sfratfrs Fwam
(D) | Polycyclic (IV) | Wasle
Aromatic Incineration/
Hydrocarbons/
qiT = pricTu
tiifes
GEERRR

Choose the correct answer from the options
given below ;

=it R fraedl H A W IR o w5
(a) (A)-(1), (B)-(11), (C)-(IV), (DH1T)

(b) (A)-(1), (B)-(111), (C)-(11), (DAIV)

(c) (A)-(I), (B)-(IV), (C)-(I1), (D)-(I)

(d) (A)-(LID, (B)-D), (C)-(IV), (D)-(11)
UGC NTA NET JRF June 2020 (5 Nov.) Shift-11

Ans. (d) :
{a)ﬁ%ﬁaﬁm (I efes & i
IgEm
(b) SrefiFaies Feifdgdd SEATH
A AT (9 W )
(c) =1 (1) urgdim (1v) 3 safEo
(d) Tl FEfTE TEEs (1) §E E
TTEFEA

296. Among the following elements which is
typically the most abundant in dried sewage
sludge?
frefafien ael § @ F9-w @ 12 Tw &
@ wiag ¥ fave we @ waifie o #
IS
(a) Total nitrogenF@ (ZET) AFZF
(b) Total sulphur/F@ (I2a) TR
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(d) FETEEHFIGE, AW T, A,

UGC NTA NET 2019 Shift-11 (5.12.2019) Set-8

Ans. (b) : T@EE TN F) HyEEE & SR WA TR
(O e=w) @ wAfv T w1 giemm w9 § W N
Frfatas 8-

I > FHASE HES (CO,) > W (CHy)

> AEZH IFEE (N,0) > FARl FAlEEA (CFC)
>3-iT'~5iFi[01'l

A &=w W 38y @ fred if 3uftem 4
v fafgme e @ woi @ Sew sheeei & g
g 2 waw qa A ageEe ™ § 9m 2| 5 e
win 2uf & fafsor 7.4t 320 7 290 TATH, AL A
gﬁﬁﬁﬂﬂﬁgqﬁﬂwﬂ&a@qﬁﬂmmém
Ecaliit & g A & A E Fo
zufi Sl Fame O waldd g T Fuftaq
mmﬂ?ﬁﬁemmﬁﬁﬂiﬁmﬂﬁsﬁrgﬁﬁm
TgHvEA T & WA 31 FE WA A e e 2
T fF FRA & G geh @1 afem aeE 18
B & o1 f& adwm i 1s'c &, famd e S dva
T € UA W ANEE A T @ @ 99 A e
i & & & W T T T WO 39 @ 2 i
T34 T ) 7 g § Fefafes se g

1. Tt anfd

2, TEMENR A (CO, T fiw)

3. g3 3 A v

4. S 9T H Y

‘ D. ‘FI'IT-IEI' WA W YgEHl
wqiE (Impacts of Pollutions
on Human Health)

302. Given below are two statements
et 21 Statement 75U 7T €:
Statement I: Oxidative stress is an imbalance
between accumulation of oxygen reactive
substances and ability of body {o destroy them.
AT | mEdiE T
grdl & e R I Aw & @ vl @
e & i T T
Statement 11: Oxidative stress is significantly
lowered by the presence of oxidants.

wa I TaTa w1 Iufifa
o IO HH & AT E

In light of the above stntements, choose the
correct answer from the ?tinns given helow.

| W I & =@ Hiu:

(b) Both Statement .I and Slalemcn!
true/FET 1 30 11 31 w7 €

(¢) Statement 1 is false but Stmement I is
true/FA | 378 8, = F 11 7 g

(d) Statement [ is true but Statement Il is
false/®4 | 9 &, fed 91479 11 3193 81

NTA UGC NETARF June 2021(27-12-2021 Shift-11)
Ans. (d) : F9-| T § FE FAH CHHEIFA GG
Wit wifmarrs get F tzzrvr%w i TR T A A
iR @ @EW & A9 wwqed 8 siiRfiga e e &
it @ 21
A T 1w T @ it dgE e st
1 wufeafa 0 & Ay S A
303. 'Blue baby syndrome'

caused by presence of/

g’ yema: fHw Fw grar g ?

(a) Arsenic in water/97 1§ 3mHfH

(b) Fluoride in water/siel § Eﬁﬁ'ﬂ?@'

(c) Nitrate in water/sfel L ?TI'S?E

(d) Sulphate in water/STe i 7o

NTA UGC NETARF June 2021(27-12-2021 Shift-1)
Ans, (c) : =] <=1 [gm =1 gt & w49 5
A T €, TR U O ¢ W AWAR QAT
ﬁmqaﬁél—iaﬁmvm CiRC G R
Frem Tz S 21 58 FEaEE & o 2 5RO ¥
i affeiis @1 W FH e T ) qe ge &9 § Ry
i, et 1 gge &1 sufigfa & Smer dm dl
304, Which of the following contaminants in water

can cause adverse human effects such as

mental disturbance and impairment of speech,
hearing and vision?

I | fa=fafea @ 4 fee dgua ® wetts

ammifer ofr amvft, sraw wd 3fe <6 amonsi 9@

WioRe YT WTd TR Ut § 9Ed §7

(a) Arsenic/3THE (b) Lead/ =

(¢) Methyl mercury/fFara g

(d) Nickel and Chromium/fRaer 3R Fifan

NTA UGC _NET/JRF June 2021(26-12-2021 Shift-11)
Ans. (c) WISl 900, T @ UF & @ o 9g7 dedel e
21 w9 "fRfan v, O @ e ww § we s

bmmﬁﬁm*ﬁtlrmﬁ?ﬂﬂlﬁ#ﬁmﬁ
quﬁzaﬁlmh Y OFE W WO
m?lmﬁﬁammmm?WM|
305.

in_infants 15 mainly

=] wEr

Which one of the following waterborne diseases
does not require direct contact with water but a

host to spread?/ TR et afaa
T & PEN & 0 o9 & geasr "Wudh @t T8t
T U ATES (BN W STAvAHAT Bt

(a) Cholera/gst

(b) Malaria/eiftar

(c) Schistosomiasisfa=ifaanfas

(d) ’['rachnmafi‘ﬂ‘ﬂﬂ

NTA UGC NET/ARF June 2021(26-12-2021 Shift-I)
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mmmmmmwm(ml
F FAU T €1 T% favm ®U § S@Ffm ww i
il & Fied 9 Gedl @) a9 @R 3R 33 § Fuad
eIRal & |EE @ g

306. Which one among the following diseases is NOT

caused due to exposure to ultra - violet mdiation?

Frafafes & 7 s=-ar 1 gn-drft fateor

THTE & ST Tl eraT 67

(a) Bronchitis/STE=a ¥4 (b) Melanoma/Semm

(¢) Ocular damage/ & &fi(d) Erythema//HfEaT

NTA UGC NET/RF June 2021(28-11-2021 Shift-11)
Ans. (a) : Hell-HI, 98 &4 & A0 T 2 51 9T
fafetoli & TEA F IO FOd § IUA A eHS udd
gz, e 3T 3 weER o 8 IRG HArw 9
gfd 7 ham ™ o I fafeo o & o
g & wafs o ad g I WA T9EA Foan
T8 & 21 3: fawen (a) T R
307. Match List-1 with List-11

List-1 List-11
Disease Mode of spread
A. |Cholera I. |Lack of water to
maintain cleanliness
B. |Trachoma 11. |Invalves water contact

but not ingestion
. |Ingestion of polluted
water

C. |Schistosormasis

D. [Dengue IV. |Requires host
LImow the correct answer, I'mrn the options given
below/rer fe T farereu W I
T=-1 qai-1l
(W) | yEw = wd)
A. [gan I [=e=m @a & far 5«
CARECIC]
B. [ter G=mn) Il [390 W@ § "9 ol @
W AR AE
C. |rr=mtaatas (1. [wefea s @1 afmian
D. [T V. [JumT & aayasdr g 21

(a) A-L, B-11I, C-11, D-1V(b) A-IL,B-1I,C-1V,D-I
(¢) A-LLL, B-1, C-11, D-1V(d) A-1%,B-1,C-1V,D-II
NTA UGC NET/JRF June 2021(25-11-2021 Shifi-IT)

Ans. (¢) :
qeil-1 Tel-11
(TnT) ( waTt @ i)
A. [ewn (L. [wefaa s @ afmizo
B. [t G=mmm) [l [=e=wm wa & fou s@ @
B CIE
C. |ferermimatam |Il. | 399 91 9 "9 @l @
sfareu gl
E [V. |7t @it sErvae & &)

Lnpline..study

e & fau e &

Statemcnt I : Noise Pollution has an adverse
impact on hearing ahility as well

nmg)tho!oglcal
well being of a person/ &R (1) :

YiTgher WaTa Sai+h i Hau-YIivh 3; |Tg-[ra
wHtae - ot uga #1

Statement [l : Human perception of noise levels
is linears/&ma= (11) : STEAETOT, EAf-
T & way o s §1

In the light of the above statements, Choose the
correct ans“er from the options given below :

I HAA & IEEw o, Jer {2y my fawed
# § TE IO & A HIA
(a) Both Statement | and Statement 11 are true.
a4 (1) 3 (1) 21 7 §
(b) Both Statement I and Statement I are false.
9 (1) 3 (11) ST 378 &
(c) Statement I is true but Statement 11 1s false.
F47 (1) O &, @ =a (1) 379 #
(d) Statement I is false but Statement 11 1s true.
FHa (1) 3709 &, AfFA T (1) T &
NTA UGC NET/ARF June 2021(20-11-2021 Shift-11)
Ans. (c) : T 5901 T ST YWE A & g9 I 5
TE-T4 AAE @R W TEa 81 98 F99 T & i
& SgEv T e § e g ae SE 8 S g gam
Gae s, aefes, deAEs Tl e @ gEd 2
T (I-AEE A G wgaw & H@dy s |
Fa &f & 3m: 78 T e 21
309. Given below are two statements:
et 3t wae fau &
Statement/SEA (1) : Chronic toxic effects result
from single dose ol very high toxic substance or
continuous exposure of sub lethal dose/@FTH 3fiS
faure Tad & RE 2 seEr e s g
# T S 1 sl Fifaw fager e & w9 F
gt 1
Statement/FET (1) : Acute toxic effects are

long lasting and irreversible mainly caused due to
prolonged exposure to toxins and survival rate is
very low/aaqe  fawga  swra dufafes
IFwATE A ¥ q wNE e wE o fand
e F ud § g B wEwfas en § ad o
T H SET F 99 U9 3 S0 e e

In the light of the above statements, choose the
correct answer from the options given below:

s ma

HYUAT & eI W =TeTigd faehedr o

W W I A

{a) Both %m!cmcnt I and Statement 1l are true/
FT | 311 WA R

(b) Both Statement | and Statement [l are false/
Fa | R 1 G e E
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Easy-Naies-4u

{d) Statement [ is mc\nrr_ccl but Staterment II is
true/®4T | 30 & fig &7 1w £

UGC NTA NET JRF Junc 2020 (4 Nov.) Shift-11
Ans. (c) : FLA-I[ T4 él ﬂﬂ!fﬂﬂﬁﬁfﬂ?ﬁl T=d &
Heafer, WA & 9= a2 §99 § & w9l @ S g S
i SifEn & e § geg o & T 2
310.

Given below are two statements :

T Ao fRrm g :

Statement/&YA (1) : Sunlight is a pre-requisite
for the formation of photochemical smog in urban
arcas/¥iEldl & A wEmw YI-FRa &
fwfon & oo g a1 ware o qEien 7
Statement/FIT (1) : Photochemical smog is a
ru.urrmg phenomenon in winter and summer
scasans in urban arcas of India/SETTUHTE S gH-
TR WRA % YRl A # vimwm i demm |
a-an i arell Siwe & |

In the light of the above statements, choose the

most appropriate answer from the options
given hulu“ :

HAAT & IR § it faeeat o
T wdt I A ¢
(a) Both Statement T and Statement 11 are true/
&4 1 & 11 S ad &)
(b) Both Statement | and Statement II are false/
Fa | 3 11 A e )

(c) Statement 1 is correct but Statement II is

false/®2 | 7 & fobg & 11 e €1

(d) Statement 1 is incorrect but Statement II is

true/&9 | 316 ¢ fg 327 119 &)

UGC NTA NET JRF June 2020 (4 Nov.) Shift-1
Ans. (c) : TG |1 o0 & FIF FH19T THAE qH-FET
A F el &t 1 FEa v 0 9 awh e g
.

Given below are two statements: One is labeled
as Assertion (A) and the other is labeled as
Reason (R):

Hrer 21 wuw fiw T §: us w @ (A) 3R
gEL @i A (R) el 74T £

Assertion/3T08eRaT (A) : Emissions from diesel
vehicles are relatively less harmful to human
health in comparison to petrol vehicles/ATHa

W & foau e aga @t gaar # dee
ATl & oA AN FiER g
Reason/@&UT (R): Emissions of hydrocarbons
and carbon monoxide are inherently very low
from diesel vehicles argAr

qAT FEA WHI-NTEHEE F IR A
w0 T FTE W BAT 8

In the light of the above statements, choose the
most appropriate answer from the options
given below:

(a) Both A and R are correct and R is th correct
explanation of A/A HR R @H WE B W R,

AT T = 8
(b) Both A and R are correet but R is NOT the
correct explanation A/A st R 2F B € 3k
R. A % W =men 7 )
(¢) A is correct but R is not correc/A Tl 2 9
R & 7 &1
(d) A is not correct but R is correct/A T 7 &
W R T 2
UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
Ans. (d) : SOFEYT A ¢ FGF ad digd G2
el & G e 8 S e o €
7 T &1 d9d el o gEgiEEa au SeEa-aE
AMRNEE & IS F=jd &9 & &6 &1 g &1
Jiz.

Photochemical smog in urban areas is known
to cause

vedt gt ¥ yeer TRvEfie (W ) gu-
Feu B frea & Prafafes oftom 2@ §:

1. Respiratory effects/ TR Hat §aTT

2. Eye irritation/37@ # s

3. Nose and throat irritation/a1& 3T 76T o w@=
4. Carcinogenic effect/& 8T 5ie gva

5. Reduction in visibility/Zyaan o st

Choose the correet answer from the options

iven below:

mﬁﬁwmwwmﬁm

(a) 1,2and 4/1,2 3 4

(b) 1,2,3and 5/1,2,3 3 5

(c) 2,4and 5/2,4 3 5

(d) 1,2,3,4and 5/1,2,3,4 3 5

UGC NTA NET JRF June 2020 (13 Nov.) Shift-11

Ans. (b) : S TR SN AR & AW 9 ST
Tigw  sifamsE, TFEEA, wﬁf%aﬁ' ™ R
TEEZ (PAN) &1 SoTe venafE ymEet & @ o mi
A AN B E | 99 U9 AERES WaEEe A1 9 T
i 9o U o 8, T 3= mem O WEE, oW g8,
T F Y B, W UE YW a8 5Ea 2
313. The most relevant effect of particulate matter

in air, on human health is:

ag ¥ wunew e @ SuflRfy @ wea

WA W waifts yrHthe yua faetaiad §

o @ %:

(a) Impaired blood formationAw fAwivr gifamedar

(b) Chest congestion/@rl § FHe

(c) Aggravation of respiratory discascs/4Td HaHl
T &1 T

(d) Headache and nse |n blood pressure level/
I ThaM w1 OH gfa

UGC NTA NET JRF June 2020 (13 Nov.) Shift-I
Ans. (¢) aqnmnmaﬁaqﬁaﬁrmmﬁm
W HaiyaE wEfeE sE varg g dt 90 &1 979 8
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Easy.Netes 4u

List/g=i-1 List/g=t-11

Pathogens in Discase they cause/d
water/ et § IV | frefrat, W Ieaw o &
A. |Virus/feramy 1. [Cholera/ &=T
B. [Bacteria/sframuy | 1. [Schistosomiasis/
|C. |Protozoa/ 11 [lepatitis/ gUeT3ER
D. [Helminths V. |Dysentery/ Of=ra

(Parasitic

worm) /

( wTsiTdl @ie )

Choose the correct answer from the options
given below-
Hrar fau wu faeredt § | wE 3w g -
(a) A-1, B-lII, C-IV, D-lI
(b) A-1, B-IIT, C-I1, D-IV
(e) A-lII, B-I, C-II, D-IV
(d) A-111, B-I, C-1V, D-II
UGC NTA NET JRF June 2020 (29 Sept.) Shift-11

Ans. (d) : T8 R Feraa @ -

¥& % {my 3 drmfeai, S 30 @ 8
A. sy . gyeriy

B. sfar L&

C. ST Iv. afm

D. e (vEE ) . fFremfa=s

315. The impact of noise pollution on human health
is governed by:
THE W@ Ut Aty yguer @ g feRwd
fafrafera grem &2
(A) Intensity of noise/Sal &7 Al
(B) Duration of noise/=f &l Fremafy
(C) Socio-economic status of an individual/&afts
# afas-anfds &faaa
(D) Sensitivity of human ear/did &H g

(E) Frequency range of noise/=f # 3mgfa @&

Choose your answer from the option given

below :

(a) (A), (B), (D), and (E) only/&a (A), (B), (D)
3 (E)

(b) (A). (B) and (C) only/&ad (A). (B) 31T (C)

(c) U}L (C), (D) and (E) only/@®at (A), (C), (D)
3 (F)

(d) (A), (B), (C), (D) and (E)/(A), (B), (C), (D)
L (E)

UGC NTA NET JRF June 2020 (12 Nov.) Shift-Il

Lnline. Stud

labelled as Assertion (A) and the other

y
labelled as Reason (R) @ .

w7 for o £ P @ U @
FTHTT (a) 3 TET = 7 (R), FeT TR
Assertion/3RTmaT (A) : Carbon monoxide

(CO) is n serious asphyxiant even a short
exposure may have fatal health issue

=Y sfeaEe (CO) s it gaius § 3
T WY 3 % IFET F UEE @R WEe
IR B wEA §)

Reason/feh (R) : Hemoglobin present in the

blood has greater affinity towards carbon
monoxide than oxygen/{vh

fureta & ofedfem @ ger @
HrTaATeT % wft arfires wgw e grar £
In the light of the ahove statements, choose the
mast appropriate answer from the options
given below :
Iudwh wUAl & anea o Proifea freedt o
¥ waifirer g I o9 ¢
(a) Both (A) and (R) are correct and (R) is !hg
correct gxplanalinn ol (AY(A) (R)
@ & AR (R), (A) T T @A 2
(b) Both (A) and (R) are correet but (R) is NOT
the correct explanation of (A)/(A) (R)
M T € W (R), (A) 1 T == T g
(c) (A) is correct bul(B} is not correct/(A) Hel g
W (R) WEl T @
(d) (A) is not correct but (R) is correct/(A) Tl
7 € W (R) T B
UGC NTA NET JRF June 2020 (11 Nov.) Shift-11
Ans. (a) :
AFET FR T I AE & 4 a6 IS F T
AT &
FHA GEEEEE T GIEE a1 59 @ oW 5,
Wz & T O F IR0 ST aw U o
ya of 3 A3l 21
317. Dissolved oxygen (DO), an important

parameter of water quality, is essential for
survival of

gfew afefem (€ af) W@ &
umqﬁmﬁz%mﬁﬁwﬁ#ﬁﬂﬂg'ﬁﬂmﬁi
e e & frg amavas §?

(a) I]umnnsmﬁﬂl
(b) Animals/a3]

(c) Fishmaelt
(d) Crops and vegetables/Faa 3R wfamat
UGC NTA NET.JRF June 2020 (1 Oct.) Shift-1

Ans. (a) : 999 @A G @ 990 & g9E =i @
dam, @t # FaEy, T w5 S FEeTyie 3
wfy & g & g RfaEim aa

Ans. (c) : gfem FTF (DO) 57 rEW & Heayel
AHEVE § &9 #, 5 4 0 g e & A a1 g9 2
S S ST SH TS & [0 A HavaE 2
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EasyNotes, 44

A. Pnthngens}&ﬂ"lﬁm

B. Radioactive wastesATE3imufeza amfyre

C. Non-reactive substances/3THla eraTeTeh
wared

D. Corrosive substances/H%Rah ugrd

Choose the correct answer from the options
gm.-n below:

ﬁqn‘qﬁlﬁﬁﬁ'&vﬂmmw

(a) A, B and D only/&ad A, B 3 D

(b) A,B,Cand D/A,B,C 3 D

(¢) Band D only;‘éh‘d'(‘-l B3R D

(d) A, Band Conly/Fad A, B 3R C

UGC NTA NET JRF June 2020 (25 Sept.) Shift-11

Ans. (a) : GAES NP 98 &40 @ fawd @ &
e U afan & foau safus @du & @ )
Hiw @A FUE B -
i, e
ii. edufaza amfire
iii. Ter e
319,

In case of which of the following primary
pollutants, the man-made contributions to
global emission (million tonnes per year) is
more compared (o that from natural sources?

Prafafas @ # forw wrafie wgus & wet #

g ST (whr ad e ) S aed o

Wigad HiMl @l oA § WEE o (ehar @t

AT HiEre &7

(a) Sulphur dioxide/AeH ERHFIEE

(b) Nitric oxide/AEle® 3RS

(c) Methane/fia=

(d) Carbon dioxide/@THA ESEHFRS

UGC NTA NET JRF June 2020 (25 Sept.) Shift-11

Ans. (a) : ToHL S N9HES 98 WA YE9F ¢ (a6
ne § dfesw I ggiod E@m @ qeer § 9 &6
fomar @1 armem wfus &)
320. Given below are two statements, one is labelled

as Assertion A and the other is labelled as
Reason R

#ra & wuw Ry mu §: us @ srfieaa (A)
afr gEt = 7 (R) T T
Assertion/aT&TT (A) : Polluted rivers with
very high values of Biological Oxygen Demand
(BOD) may produce a foul smel
Jtedie wi (o o €7) & Tl I U
aTelt ygiad Afeat | gy Jwdt f

Reason/deh (R) : Anaerobic bacteria produce
sulpllur dioxide and oxides of nitrogen/

AR SRFARE
AEZI & s ey wa

Qnling <iud

most appropriate answer form the optio
given below_

i

{a) Both A and R are correct and R is the correct
explanation of A/(A) 3fTI (R) 2F1 & & 3K
(R), (A) 1 & =31 2|

(b) Both A and R arc correct but R is NOT the
correct explanation of A/{A) 3t (R) T T
# 3R (R), (A) T Tt =mEn 76 &)

(c) A is correct but R is not correct/(A) T& g
W (R) T A 2

(d) A 1s not correct but R is camrect/(A) e 2
T (R) TE &

UGC NTA NET JRF June 2020 (25 Sept.) Shift-11
Ans. (c) : Sfgw A ¥ (BOD) #1 #1630 g4
ardll wgfd Afedl ®§ giu A @ il uAdifEs dean
3R HEIfa &1 3Ae w4 £
321. Wi ATy o Seag

wEA SEdtEEEE (uE fw ogew ) &
ArZAT 400 drdrum. &) yiavear & w9 d gar o

Het fonet |z &rfi?
(a) 0.04 wrwm (b) 0.4 wfav@
(c) 0.004 sfoym (d) 4.0 sfaym

UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10
Ans. (a) : YEIF[AR- S gitads & feo 3wt
m;mmmmmﬁmaﬁm=4uo
PPM 21

%= :

100
a 1PPM __
10,00,000
ZgfaT 1PPM = 0.0001 %
400 PPM = 0.04%

PPM- didiun. &7 quf =9 wm wf fefaaa (Parts per
mllllun}ﬂmﬁlﬂgmﬁmﬂﬁmﬁmﬂ
& o v & R fRh e & 10 W e A
Suftaa favia & Wil & dew & sy s e @
oy Fed 2|

322, faeifmafoa <t f6 ot & duds § st &
B arelt Uen s dmrdt §, frefeafee F |
fermtr theredt €72
(n) frnféan (by €. @

() TEHE (d) 37
UGC NTA NET 2019 Shift-TI (5.12.2019) Set-8

Ans. (¢) : [EIfEEEE T o1 (& oW & &9 § 7.

¥ 5 I Um A e g, ge W 9y saner e

ard <9 7 U U & Tl g (TR & HwH

& FRUT Gord 21 g8 Sehd ®N Rad ahie, ue

o, afaw o ufyan st SfaEE § o s ) e
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Eas

Vo QLD Bl

a.'r:r-t& 31y whwand wnfve §7
(a) Deposition and erosion /ATEA & SHT o)
(b) Evaporation and transpiration
a4l Yeda-

Photosynthesis and respiration
ST AT 741 Y5
Fixation and denitrification
Fraaa aar faAsdiEm
UGC NET/JRF Shift - 2, set-10 22 Dec 2018
Ans :(c) aﬁqaﬁwhqhﬁaammmg—
(a) NHITT-FHyeAqT, ORELE]
it wafs IFeT FEA TEAEEEE S S-S
fifaT W W TEEEee & 9 ° Rgiw & ¢ o
& i I & v 91 guefn § agaved ¥ wRE e
FEE T Femw Fyew F o 7 & R IR &
&9 § i 3R Fa fagEa a2
342. Recently in Brazil, a bacterium showed the

antibiotic resistance, which was not reported

previously :
e @ # arda & Rew shany § -

(iFramittes) wiwnr fred fn st e 7w

=@t ar-

(a) Pscudomonas specics / SIEHAE T

(b) Salmonella species / dentan ol

(c) Klebsiella species / Feafaan i

(d) Streptococeus species / FeEiFRd ol

UGC NET/RF Shift - 2, set-4 19 Dec 2018

Ans. (b) : @ @ H Fearen R A FA-dEE
(Gdardites) Wy e R o v W A
wagdisl 7 @ 2018 F I 7A@ # deAeen
s amE SEn F aw @ T 3% wh S
siaay @ 2 21

TR 3 e E Ee o

(Natural and Energy
Resources : Solar)

(c)
(d)

343. Poly crystalline silicon often used in
Photovoltaic cells niusergicnnduclnrs are ;.

ard-arees & ®Y o T ¥

Ygvh B+ At ag- e (Uil feRrees)
Taterar §-

with  different
are Fea-firr femeen
(b) Many individual  crystals _ with_ different

orientations &9 - T fis-fe e

(c) Amorphous 5I|ILGI'I converted o crystal
silico 7% 1 wa=n fafeem @

uftaffa g & 31
(d) Crystal silicon grr.mn in laboratory/

(a) Many individu: 1]

crystals
orientations/fir

!ra'rﬁ & ard aghazaﬁz (mt-i’r m'eaﬁz} faferw
fira afafame @ fim-fis frees 2
344. The main mncept behind solar ponds to store
the solar energy is / W ST & WUERW & g
TeR digy & 19 g&7 sraam §-
(a) Fixed salt gradient from surface to bottom in
the pond @M § T & 79 7% @AW &
fafem Foii =1 grEr S
(b) Presence of sand in the pond/diciA # e &
RILIREIC]]
(c) Presence of solar cells in the pond/dTd™ i
e TA F1 9= S
(d) Uniform salinity of pond/aM &1 TF T @a0m@
NTA UGC NET/JRF June 2021(04-01-2022 Shifi-1)
Ans. (a) : TF TR U TR UA1 F1 A9 BT T 2 S
I 3R el 1 UF g A ¥eH F & for din |
% wafin 3l wfea @ @1 "R A & wenw & g
wﬁmaﬁ}l@mmqmﬁnmﬁma
ffem @oii @ vl W1 R0 §EET IwEW @i, W &
fererairm, m.gamaﬁ:miwqmmméu

345. What is gasohol?/ e o741 &7
(a) A type of chemical for thc decompeosition of
stubbles/Tell (W=a) & fawes & fau o
¥R =1 THET
(b) A type of chemical used for chemical
remediation of waste water/30fE 5@ F
At ITaR & fav wam fE 9@ aren
Y &1 THEA
(c) An instrument used to detect gas Ieakuﬂes in
factorics i itg Raa &1 wr o &
fera wam o 7 UF 3T
(d) Mixtre of gasoline and cthanolTHTEA 31T
uAA & Ay
NTA UGC NET/JRF June 2021(27-12-2021 Shift-11)
Ans. () : 949 T99 8, $3 Wi 394 Fson @& g
g A & Fﬁﬂﬁﬁﬂﬁﬁﬁgmiﬂmél
T Mgl A 4w e ¢ G 90 WA i
3 10% UaETA & fMaw g@@ &1 gme wam s
ZEA ol | $ue o e o
346. Given below are two statements:
rer g1 wue far g §-
Statement I : Solar flat plate collectors

essentially work on the principle of Green
House Effect./ TaT (1)-HR T0aA @I TS

Hreersa ywra & fergia o & @ €
Statement Il : Black ahsorber plate radiates
infrared radiations ®YF ([1)—=1Hh

e ¥ sIne fafemtor e )

In the light of the above statements, choose the
correct answer from the options given below:

YT i fawE e T e e . TN & m faaweat
NTA UGC NET/JRF June ZDZHUS-[I 1-2022 Shift-11) # & Tt I w9 wiau—-
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Easy.MNotes.4U

A [ T 64
(b) Both Statement I and Statement 11 are false
T 1 3R 11 3 39 )
(¢} Statement 1 is true but Statement 11 is false
29 1 G4 €, Wi F4 11 3764 2|
{d) Statement | is false but Statement L is true
FUF | WA §, WA F94 1l T B
NTA UGC NETARF June 2021(03-12-2021 Shift-I)
Ans. (a) : T1 Are 2 SAEE HAESE W9E & (A
W E FE =W e
=i WO wiZ ¥ Te fafewtor frmem €
347.

'Smar water still' is a device to
arey frew' @ §:
(a) Pump water using solar energy MR T
IYAM FA g FE WO & few 47
(b) Convert salinc water to potable water using
solar energy S # IWEM T Y
AV A d YT el W A FA 5 T
(c) Heat water using so]ar cnergy
Wi Hal @ ITAN F g Ul F W FA &
few s 4
(d) Generate eleclricity using solar energy JEair
Tl 1 37 o gy fasel da w5 @ A9
NTA UGC NET/JRF June 2021(01-12-2021 Shifi-1)
Ans. (b) : AeR a2 fed &8 Ivww 2 faw gEm
H FA 9 wew A owgE 9l 8 dR g ol a e F
fern faan st @) o wigfaw amfEer s dwe
shears @ swm & 2 fawws I e @ de
TEEl A A & fedl & 9F A wH W
& faw g & el & sl 20 § g W w2
348. From the energy security perspective, which of
the following energy sources is considered most
secure for India?

e uithes | W & forg Preffga
T form He oY watfies G |rET ST 2
(a) Geothermal/ AT (b) Hydro/S@
(¢) Solar/dR (d) Wind/aa=
NTA UGC NET/JRF June 2021(25-11-2021 Shift-T)
Ans. (¢) : To TN 9 F 9 & g wr S | W
1 waifus qEE w o g

349, Given below are two statements: One is labeled as
Assertion A and the other is labeled as Reason R,

21w fiu T §: U e (A) Fwe A
fafiga & 9 goo 6@ (R) S0 & w0
Assertion (A) : Production of electricity from
Renewable Encrgy sources is without adverse
environmental impacts/&RET (A) :

Fal wE @ fagd IWES WA A SuE
Tataur W giade gwra wE uger g

Reuson (R) : There is no net emission of carbon
di-oxide into atmosphere from exploitation of
Renewable sources of energy/&d9 (R)

Qpling Study

In the light of the above statements, Choose the
most appropriate answer [rom the options
given below:

IR wAT & e o, e R o et
T | W IUGwh I H TG HIAT:
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) 3 (R) e
T € 3 (R), (A) T wE =mEn 2
(b) Both (A) and (R) are true but (R) is NOT the
correct explanation of (A)/ (A) 3T (R) i
T € 3 (R), (A) 1 T =@ T4 8
(c) (A)is true but (R) is false,
(A) & 2, wfeh (R) 3754 21
{d) (A) is false but (R) is true.
(A) 39 7, @A (R) &9 £
NTA UGC NETAIRF June 2021{21-11-2021 Shift-1)
Ans. (d) : THEWG Fot @A TH Fol g, 9 FGOE
Hral w fnft @l @1 Twd d S, goadtg 3, e,
R 74 W A AEEE W S @ T s
=l & A A agied ¥ 7 e st @ oan
TG (F2) It 7 @ ¢ v g9 fawdl § S e
TEA A i mwhmmnﬁﬁmnamﬁi
¥d: A 941 0 F24 (A) HEA & 797 S0 (R) 9 21
350. Which of the following sources of energy is not
a form of solar power?/ fr=feafaa 0T @E-
W S Al W A T A6 82
(a) Tidal Power/=amird Fs1l
(b) Wind power/9a4 Fal
(c) Coal/&m et
(i Hydro Power/STfae
NTA UGC NETARF June 2021(20-11-2021 Shift-1)
Ans. (c) : FFA TR FaAl & &9 761 &) g4 T FA @
wafie B 81 W9 Foll WaE WEdr & ded |0,
2 3R gEe @ TR SfmdAlen W a2l
351.

The contribution of renewable energy sources
including large hydropower projects in the
total installed clectric power capacity of India
at present (June 2019) is approxlmalelj

" (IF 2019) WA W HE G

s e smar § gEd e
ufErradi wfga Fdenia s &6 @&
TS T §:

(a) ~35% (b) ~23%

(c) ~19% (d) ~41%

UGC NTA NET JRF June 2020 (13 Nov.) Shift-11
Ans. (a) : T A (A 2019) T F FA Tl
wafes foqn gom § gea Sofagm sREsmTsl afe

Attty 39 SE F1 GEE T 35% 21
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Easy.Nates. 4l C

ssertion A and the other is labeled as
Reason R :

2 2 e faw 7w §: ww Y v A ol
At T 7 R g T

Assertion/aT R (A): Selar ponds, store
solar energy in the form of heat/d aTema, ang
% WO W O FA1 T dER wE
Reason/d@H (R) : solar ponds contain water
with definite pradient of salt concentration/dTT
e # fafye yauenr § wavEr |wigar aren
e HSE B §

In the light of the above statements, choose the

most appropriate answer from the options
given below
wHUET & ATerE W Freifea fawed #
A waifires ey IT FA-
(a) Both A and R are correct and R is the correct
explanation of A/A FRR i 5l é-' 3 R,
ATl Td =men g
(b) Both A and R are correct but R is NOT the
correct explanation A/A 3R R &1 T & ¥
R, A 1 @t =mEn T 81
(c) A is correct but R is not correct/A Hal ?- -]
R W& 76 21
(d) A 1s not correct but R 1s correct/A e =4 %
TR T &
UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
Ans, (a) : A 3R a1 W& € 3N R, A 91 && =30
§1 R T U% @R T & 9ER & S §@) He
AERT A9 F T H T €

353. Presently, which of the following contributes to
the total installed renewable enerpy capacity in
India currently.

o ¥ # gt T weEi st
8T o it o frw-faeg &1 amer €
1. Solar energy/8 Tt
2. Wind energy/9ad Fif
3. Hydroelectricity/sid fad
4. Conversion of Urban and industrial waste in
energy/WRd 3R @ amofye w1 i A
Lv Gy |
5. Biomass encrgy/@Tamra Sl
6. Geothermal power/famada =t

Choose the correct answer from the options

given hl:lnw
o A W faremew

(@) 1,2,3,5and6/1, 2, 3, 5 3 6
(b) 1,2,3,4and 6/1, 2, 3, 4 3R 6
() 1,2, 3,4and5n,2,3,4aﬁ15

(d) 1,2,3,4,5and 6/1, 2, 3,4, 5 3K 6
UGC NTA NET JRF June 2020 (13 Nov.) Shift-I

mﬂmmfﬁmﬁmmﬁﬁqﬁwmw
E{ I T (Gawfd s & oww A wafe
T & e 3 died T BAR W WA A
1 3791 € S T A R TE Fell gerd 0 Fh
afm= wis - 2019 & AR, 17 R, 2019 @@
A UE TdEE HE gaed # ARG W TaEiE e
Hﬁﬁa‘tmﬁﬁmsuoméﬁmg—dmﬁﬁﬂm
TIETEAES o2 &1 W 150.66 AR 21

354. [Identify the correct sequence of energy sources

in terms of their heat of combustion in
increasing order

Fal |l @t g5 Iun & va
Ich WET ATET T i UgeI SHiag:
A. Methane/diem/a9=
B. Natural fats and oils/STHfTE T8T sf d=r
C. Dry wood/fT=h hIB
D. Green wood/gRe &8
Choose the correct answer from the options
iven below
Pt faedi & & wt e g
(a) A,C,B,D (b) D,C.B, A
(c) D.B,C, A (d D.C,A.B
UGC NTA NET JRF June 2020 (25 Scpt.) Shift-11
Ans. (b) : T Wl &1 o IW & F<H H L
frey 2-
A I < I[F B < TFadh a0 F 76 < a0
355. Given below are two statements, one is labelled

as Assertion (A) and the other is labelled as
Reason (R)

o woe feu wu € : ugem Afwas (A)
afrt go & (R) B—
Assertion/3TT0&HTT (A) : A windmill with

proper design considerations can be made to
operate at efficiencies in the range 60% to

65%/3Ugvh @A
TFhT 60% H 65% H HERITEAT U oA
& foru fafda = = wadt £

Reason/dh (R) : The efficiency of the windmill
depends on its design parameters/9a <!
T HIHGITCHT A AWheT Wremel w1 Frdt
Eaoigdl

In light of the nhove statements, choose the
most appropriate answer from the options

given below :
waAT

{a) Both (A) and (R) are correct anq (R) is the
correct explanation of (A)/(A) FR (R) A
T € 3t (R), (A) B T === 2

(b) Both (A) and (R) are correct but (R) is NOT
l‘pe correct n;xplunntinn of (AY(A) 3T (R)
BT W E 3R (R), (A) F W AT T
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Easy,Notes.4u,

W(Rlﬂ_ﬂ
{d) (A) is not correct but (R) is correct/(A) Te™ %
T (R) T 2

UGC NTA NET JRF June 2020 (24 Sept.) Shifi-11
Ans. () : (A) TR & T (R) T &1 d b I &
AR, I9gw ey sl Afed @ vEd T
msgs%mmmmmﬁﬁﬂaﬁm
TEA | WA T dEE 30-45% IRgEEd W

i e 8 3 o g3 9 feafd S0% A @ T 2

356. TrfeiEd W W &F JdiEuia  Wietas

w227
(a) o fafenmm (b) f&=
(c) WFfH T8 (d) wraur

UGC NTA NET 2019 Shift-I (6.12.2019) Set-9

Ans. (d) : YEAE TEEA @ AdEA0E HEEE
mﬂmﬁnmwwﬂqmﬁmmm%l
T dO S G 39 & A Wed § Adaoid FiA
T AT W A T f | AdEd HEEE Eee 2
a i, v wal, o, ), A, yEndm el v Ae
WWWWW§ITWW
HUEYH gdE S B & TR T E A 8
sl dane A f dife w8 s I
et § TAN A9 0 A 2| ISR & o EEen 4
tgiferm afz ol w9 § e e fo S @ @ I
Ieqa & § @ (0 @ af @ )
357. 9@ WHNW EWT @9 2030 9% Wa W faee

vifeh & Fo v e ® et st

= fyerht = foran e 7

(a) 20% (b) 30%

(c) 40% (d) 50%

UGC NTA NET/ARF Shift- 11, Set-08 June 2019
Ans : (b) : W W T T 2030 TF T # faga
vt @ Fa def@ e 7 o SEo#@
fedierll &1 @%g 40% Tl T 71 YRR A geE A &
a7 I &1 g o 9 T = #
feiard @mm 25% € F 2030 7% TR 40%
T T T T 2

358, WA WM g a¥ 2022 Weh T & ST Taee

& foru st Yoo v @ it wem §

(a) 40.0 TfmErE (b) 50.0 TfmETE

(¢) 60.0 Tfmarz (d) 100.0 immaTz

UGC NTA NETMRF Shift- 11, Set-04 June 2019
Ans, (d) ; IRF HER Z0 a9 2022 7 90 & 9L fagd
& fau wo e dwa @ Feiia e 100 fomEie
21 UE TR A 2022 [ 175 WEE #1 F6a w0

g wfed R @ weaant @y 1 faam g @
mwﬁqﬁmﬁtﬁﬁmnuw & A A"
60 a5 o # 10 WEe @ eE sw
s 4 5 ez & 3= 3o & o )

Qnline.t

e I wd @ aft waw @ &
arafterd g1

FAT (1) : U FSAIAA T ATATHIT T
T WEHE W §
Mﬁﬁﬁaﬂ:—mmﬁ—ﬂmuﬁh&?
k33

(a) = (1)

(b) =4 (1)

() (1) 3 (1) FH

(dy (1) 3 (1) | T FE T8

UGC NTA NET/JRF Shift- 11, Set-02 June 2019

Ans. (¢) : I AER TZEEA (International Solar
Alliance-ISA) F JEHT A 31 ®H F Faw Ta=
1n|5ﬁcopﬂ[qgaawmquﬁaﬁ=rmm
A F M EE wwed awEm fTEew 2017 F @0
BT ISA T e g & e § asia A S
qeaE (NISE) 7 Fram €1 gz Ut geeh smieia 3t
g 6y @ e yema ana 8 fem € s g
35270 oF a1 9 U 091 & 419 121 § fus gd
FCE 1 TYA YA HieR TAET #1 U6 §ed
Zw 81 39w sAfafEa Adian FEEl § R WA
A% U 76 2¥ 9 6 8| UelS HUsd 5 meET
F1 7691 U= AW 2

¥a: faFe (¢) Wl IW Fm

360.

What percentage of energy coming from the
Sun is re-radiated towards the space?

Td & IguA St @ AT gawe siafty #
g: faferft g &2

(a) 15% (b) 25%

(c) 30% (d) 50%

UGC NET/JRF Shift - 2, set-6 20 Dec- 2018

Ans. (c) : 99 50 Y&l @ N@ FGEW 79 T2 TR
qﬁahﬁwmmwﬁmﬁaﬁmm@maa@-
W @ geft @1 ogsn AW’ & &1 gA & 100
Tl 035 T g T e W Owge # e
& sl § quafdn & W § TafE 9 65 Rl &
a’rgqummam*nﬁahmmél

3ol.

FAl & (AEfAfEd Skl § € dH-97 90a o
TR WrATET (YTERT) TEAT 7
(a) TR (b) @ (arg) Fif
(c) ®9dl aiig T (d) SEHE FH
UGC NETURF Dec 2011

Ans: (a) Hr-Fal {Solar energy)- J90 AuT JIgTE
TR ¥wi § @ F e w6 o s
Iue T ¢ 3T G g9 # SfEren $u9 & aord 61
Sl (Solar encrgy) 1 394N fhar s WA g1 @O
Zo § meray fem RRd oF amn wm 0 R S g
o T &) e sfafem 92 eom A @ e T
2| 39 WHER gEd 9§ S de & mm W e
Hal & WG A FAr At e ouRs e &
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: mﬁfgﬁ@mﬁ h ﬁal?.l

faamoyia Ton =1 aa-its g Afds Tega ¥em St
T8l WR-F WA v a9 e o afew
AHE (Global Problem) #1

362. :\wmgc solar radiation encrpy available in
India in a year is about:
WA ¥ yhad 3a‘rn-rr fafEor oA § -
(a) 20 MJ per mj per day
{b) 40 M) per m" per day
(c) 50 MJ per m® per day
(d) 100 MJ per m™ per day
CG SET 2013 Paper-1
Ans. (a) : WA 0 Nfdas ¥1q HEG €Y fGE© 20 MJ
per m” per day 6 21
363. The main constituents of Liquified Petroleum
Gas (LPG) are -
o ra (we.di.5f.) & geT vew -
(a) Butane and Methane/s32 @ Hiam
(b) Butane and l’mpanc.’%\? T WA
(¢) Propanc and Ethane/STHA § 327
(d) Propane and Hydrogen/ST0- & &TSEIaH
RPSC SET-2013
Ans. (b) : A9 WAfEEN T (LPG) TF TRSEEA
aﬁﬁmmﬁméluﬁgmmu@?ammfﬁm
B €1 T W @ T, TRE & Al 39 ud
F© aEl 4§59 & B9 § FEW oA ¢ TAALS, A
feam & v & fo 7g weRe fren Fran s @)

&= (Wind)

364. Given below are two statements, one is labelled
as Assertion A and the other is labelled as

Reason R

o @1 wuw Ry o € s
(Assertion A) & ®u ¥ 2fT gow IwE wHw
(Reason R) HETH :

Assertion A: As a rule of thumb, sites of
average wind speed 8 m/s or above can be
considered very good for electricity generation
from wind turbines.

AfTFHTT (A) : @i I F a7 == w
g &t sfa vfa 8 deAde ar 3ad afis
Bt %, 3¢ vad wigwal ¥ et Iwed &
T =rga 3r=eT WA S g §

Reason R: For average wind speed 8 m/s, the
power produced is not very significant,

@O (R) : 9a7 @t oftew ofe 8 Wevwde ®
&W g U Ieanfed fag@ @i W aga aifue
wE gt &

In light of the above statements, choose the
correct answer from the options given below

QRHNE- Bikiay

¥ WE I T TUF WA
(a) A is false but R is true
(A) 378 €, 93 (R) ¥ 21
(b) A is true but R is false
(A) 9 &, T (R) 3 21
(c) Both A and R are true and R is the correct
explanation of A

(A) 3 (R) T T79 § 31 (R), (A) T T8
ST 2
(d) Both A and R arc true but R is NOT the
correct explanation of A
(A)W(R)mmzmﬁm} (A) F Tdl
A T
NTAUGC NETHRFJuneZUIIIZT-IZ-IOZIShil't-ll
Ans. (b) : FFRIE ¥ d o &= W ar & 3{|a i
8 m/s a1 I e ol @ 37 T F1 93T giFwd 9
forell 3w & forq agd 2reeT Wl S wEAI €, afd
FagiftE 30 & faw & ATER v T FW H & 10
et TR =fE s S v e g 3w
SUE W UTT T99) F TEEA T 96 § fou | a9
W EAl 8 3R W %R W IEd 5 ¥ 6 WeyHas
el 81 38 NER, 8 m/s § FW IGA gar & M & fay
f ZafEa fasel wga vaf| @1 am: F49 (A) T T
(R) 3787 21

365. Given below are two statements, one is labelled as
Assertion A and the other is lnbelled as Reason R
Hror 3 wmew fow U §: uwm aftmww (A) F
= ° 31T TAT IWH HA (R) &F B H:
Assertion A: Coastlines are considered as high
potential areas for wind energy generation.

ATFHTT (A) : FOR T Taq
IaeS & g srmafires dvmaaned @ uftgot g
AT AT &

Reason R: Ocean water can be utilized as
coolant during wind energy production
WU (R) : TaT Fol Idred d WPl T @
wﬁﬂm&;mﬁyﬁmmmmt
In light of the above statements, choose the

most appropriate answer from the options

given below/ = & Il W,

few I faeredt § # WE IO 1 WA SITAT:

(a) Both A and R are correct and R 1s the correct
explanation of A/(A) 3T (R) Sl &8 § 3K
(R), (A) 3 Te =7 &

(b) Both A and R are correct but R is NOT the
correct explanation of A/(A) 3t (R) g Tl
& T (R), (A) T T8 = T ¢

(c) A is correct but R is nol carrect
(A) 7l & o (R) W& 7 2

(d) A isnot correct but R is carrect
(A) T8 7 & T (R) T &

NTA UGC NET/JRF June 2021(30-11-2021 Shift-1)
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mmﬂnnuqﬁ:{n‘i#ﬁnmmﬁl"miam
8 w2 § 2w m R0 “ved A I § 9gd 9a @
Vet & &9 i A fEar o gwa ¢ o w9 g dte
(R) T 31FRaA (A) T T =T T T 2

366. Which of the following states has maximum
wind power potential in India as per MNRE's
latest report?/ THUA.ATE. @1 e &
sgan frafafas & @ fam =0 § wma ®
g FHT w1 AftreRan @ §7
(a) Rajasthan A== (b) Tamil Nudur’ﬂf’-’fﬂ?@
(c) Kamnataka/Fig®  (d) Gujarat/Tsrd

NTA UGC NET/JRF June 2021(26-11-2021 Shift-11
Ans. (d) : MVRE 3 309= {02 & SFER ¥ T
§ ges Tl &) gearE aifafEa
.| T |uEd @ HEEA [vae S @t
4. 100 m (GW) TATEAT 120m (GM)
1| 84.43 142.56
2. | UTEE 18.77 127.75
3 RN 45.39 98.21
4. | afaerg 33.79 68.75
B EZEL 10.48 15.40
6. | TS 55.85 124.15
7. | 3y wEW 4422 74.90
8. e 928 43.78
aur anT 302.25 695.50
367. Which of the following state has maximum

installed wind power as per MINRE's latest
report?/ TH T T § & di=aq wides
srgan Frafafes © @ few oo & arfireem
uas Al arwar wiagiud 7

(a) Andhra Pradesh/37T¥ w29

(b) Kamnataka/@aies

(c) Maharashtra/HeT g
(d) Tamil Nadu/afieTg

NTA UGC NETARF June 2021(26-11-2021 Shift-1)

Ans, (d) : MNRE's & &1 Hfddsq (2021) & 301 -
e T aIwa
Affrerrg 9608.04
LERG] 8561.82
HERIE 5000.33
ERICES 4938.60
T 4326.82
iy FE9 4096.65
LELICH 128.10
fm{ 62.50

Ts9 & E SAEaT 954 Hel edtsia a1 s
i‘;l' T, T AT & &9 fgh zaia &
mﬁuﬁmmh@mﬁwﬁaﬁﬁmﬁmmﬁl
T o A A EE 2

Lnling.Study

m/s, the power output from an ideal wind
will increase by a factor of about

afy wa= & T 4.0 WL/ @@et 5.0 WA &

AT &, A U IV wAd wEE W OPTE BT
are Rrga ST § wan fRe & U |

g gnfi?
(n) ~ (b) ~5
{c) ~ (d)y ~

NTA UGC NETARF Junc 2021(25-11-2021 Shifi-11)
Ans. (¢) : 2 9E9 i TG 4.0 W/E. T9E8 S HA
A § W OUH Y UaH uee W W g A fagm
I § @ ~ 2 % s § i @t
369. Identify the correct sequence of wind energy

potential at 100 m above ground level in
decreasing order

G H 100 . o FME W Ta=T FoAt oA

T WET ITAET A T =TT &

Karnataka/&A72H

. Andhra Pradesh/37T% 5&91

. Gujarat/T=iT|

. Tamil Nadu/ATHeTg

. Andoman and Nicobar Islands/3EFR 4
faemER fvaE

Choose the currecl answer from the o

given below/=T=r T2

T T BT

() A=D=C>E=D {b) C=A>B>D=>L
(c) C>E=B>D=A (d) D>C>A>B>E
NTA UGC NET/JRF June 2021(24-11-2021 Shift-1)

monNnE >

tions
I

Ans. (b) : G&R & 100 W2 1 120 WX & Fa

W Yaq F WA FAUE F6 eiEd a—-

T 100 ¥, 9T w&@q | 120 #. W g
Fol & (GW) | T smar (GW)

TR 84.43 142.56

FAlEE 5585 124.15

T W29 44.22 74.90

AfreaTg 33.79 68.75

FUEZAE 3R | 0.00843 1.27

famEr #iy

EiL

3 WA - C>A>B>D>E

370. According to India Meterological Department,
average sustained wind speed over 3 minutes of

a cyclonic storm, is in the range
W Terwmr ager, faf
ATl gET @ 3 e @ afaw fer vaa
AT I EET § -
(a) 40-50 km/hr/40-50 fa.0. /4,
(b) 50-60 knvhr/50-60 fa.#t./4,
(¢) 63-88 km/hr/63-88 .. /4.
(d) 200-225 km/hr/200-225 f&.11/8,
NTA UGC NET/JRF June 2021(21-11-2021 Shift-I)

NTA UGC First Paper Planner Volume-1

563

YCT

Scanned with CamScanner



ﬁmtrafmﬁraﬁmea -g8 fadl/e, gt 21
371,

Given below are two statements:

et 3 waw R §:

Statement 1 : Wind farms are generally set up
on exposed hilltops or coasts in remote areas.
T (1) : T HTH FTE: YT &AW it
o yivd feedt avwar Tz 92 W wrfue feg
o £

Statement 11 : Wind velocities are steady in
these remote locations.

H (1) : 37 YU THT W UG 7 T g gl
In the light of the above statements, Choose the

most appropriate answer from the options
given below:

IYAIH HU & e |, e U T faamet
# ¥ Wad IUGTH I H AT WA
(a) Both Statement I and Statement X are true,
A (1) 3R (1) 3 7 )
(b) Both Statement 1 and Statement 11 are false.
e (1) 3T (11) B 5704 2
(c) Statement | is true but Statement [1 is false.
T (1) T 8, A F (1) 3704 £
(d) Statement | is false but Statement [l is true.
FA (1) 304 2, A 949 (11) 74 £
NTA UGC NET/RF June 2021(21-11-2021 Shifi-1)
Ans. (c) : T G ¥4 qgmrrwaﬁmmq‘lﬂm‘
fewdt wd w721 W wfen g oW € W g wE
T TEA T AR @ 2
¥a: Gl T8 w0 F99 | g a9 &9 1] 36 2
372. ldentify the correct sequence of the following
States Union of India in terms of increasing
wind energy potential
T FHt GHAT & wad g B & Hed # e
& Profafes o=t & @ e S wee
it
(A) Gujarat/Tara
(B) Rajasthan/s&—
(C) Madhya Pradesh/qe waor

(D) Tamil \adu!ﬂ‘ﬂlﬂ'—lﬁ

Choosc the corrcct answer from the options
gnen below :
ﬁqwﬁmuﬁuﬂwqﬁ'&
(o) D,C,B, A (b) B,D,C A
(c) B,C,A D (d) B,C, D, A
UGC NTA NET JRF June 2020 (1 Oct.) Shift-1
|Ans. (*) : IWIH ¥¥7 & AR & |

4 Onling-oiud

(b) Propeller rotor/NYeR 2T y

(¢) Savonius rotor/AdiferTd T

(d) Darrieus rotor/Ef@d T2

UGC NTA NET JRF June 2020 (4 Nov.) Shift-11
Ans. (b) : mmm@mmﬂﬂaﬁm
YA B 21 W8 3T 3 RN T € 21

374.

Arrange the following countries in increasing
order of their installed capacities of wind
energy (as on 2018)
ferfcfad 21t @l 39t Ya- Sl i s
&THET ( 2018 T Feafer & EW ) & agd wH |
W :

(A) China/=fi=

(B) Indin/¥a10d

(C) USAZ A T
(D) France/Wwi®

(E) Germany/sTi=t

Choose the correct answer from the options
given h:.'luw :

Hrer fod 72 freeat o ¥ vl 3w g -

(a) (D) <(E)<(C)<(B) <(A)

(b) (D) <(E)<(B) <(C) <(A)

(c) (M <(B)<(E)<(C)<(A)

(d) (E) < (D)< (B) <(C) < (A)

UGC NTA NET JRF June 2020 (4 Nov.) Shift-1
UGC NTA NET JRF June 2020 (5 Nov.) Shift-1

Ans, (¢) : 999 Tl @ wefoa e (2018 F Rafd &
W) w9 f v 47 fofa 7w owm &

x| ey e (Afrmare #)

Wi 15.3

Lt 35

LT 59.3

JUAT, 96.4

i 221

375. Wind cncrgy is very sensitive to  the wind
velocity  beeause wind power is directly
praportional to the

Tad- Sol Uad & o & Wi i
HagAyier § Sifeh Ua= yitvh fr=femad § |
T U@ & yegar aruTe o widt &7

(a) wind velocity/da Eo

(b) square of the wind velocity/Ta= &1 1 &t

(c) square root of the wind velocity/¥a an @

I -
(d) cube of the wind velocity/7a- 7 &l 84

UGC NTA NET JRF June 2020 (11 Nov.) Shift-11

373. For wind power electricity gencration which
among the following tvpe of rotors is most
commonly used?

Taq FaAf Ianea 4 Foafafaa # | fam v
& guie (Wev) & am A ut watfue yam

famar wmar £7

Ans. (d) :
v v & foe o7

. 3
P:KLPxExIAV

el
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Casy motes-4t

P:,j' g A
V= TwETam
K-> foris
A YEA With UEA &1 a7 & S WA A @ 2
376. 3UA YIS & ail A fAfaiad sa=l § ¥ @l
T Wi &7
(almmvmgﬁﬁamﬁmmwwzﬁ
fere fergm-wramafes sfefiran o s @ 21
(b}‘ﬂm ug Ui sewdie IR ww die
TARTE BN # S Fegiese § g fae
T 2
(c) 7h 7 & FEE ff fagm @ ¥ W fa
I & EvEEa el 2l
Iudwh ° ¥ @i ¥ wa ud §?
Hr=r e T faeeat o ° wE fawew w1 W@
- _
(a) I () I (b)  (b) A (b) 3 (c)
(c) ¥4 (a) #R (c)  (d) (a), (b) 3 (c)
UGC NTA NET 2019 Shift-11 (4.12.2019) Set-6
Ans. (a) : g’ﬂqm—f{!ﬂﬂﬁ’ﬁmmﬂﬁﬁﬁaﬂ
forgn it & ofafia & & @ 3@ & q@ @ s
Fel I &1 369 4 fRm FW owa @M @ g Fwm
T Afufwa @) e 3w s F A i Afm e
fordt ot frafos st O =1 @ 2, = o 3=
§ oftafdd w21 dua v § Sufied us wiem
ﬁﬁmfﬂﬁﬁaﬁmﬁﬂm,]aﬂtmﬁmog
I F FY H IWE G 8 HWR WE IEN
a:ﬁrﬁmf{nfm'rﬂimmnmaawwaauo
T 3fft fagg v 3w @ &) SR amE
# guftem Tl & EE FAd aRge T (1) 3 S
HEATEEA gl 81 11,-0, 7t § @d 71 gl & &
wmqaﬁmﬁ?f‘mﬂw{ﬁmmm% Fo
ToEEIE &El Wl 81§ uE uitated 3R gEn fefa
TaagE AW €, W g ¥ UF o § fem am
21 T TERE & T T FoFeR-HEHas &
fau sves @1 9 T &) T AfafEE S99 W W
A &4 & S0 8 7 0 42l A aw fagd e
9 T8 S f
377. a9 2022 7% UAT HA 9 awel I@T wH &
feru e w3 @ wea it faer §7

ﬁﬂm@mmhﬁaﬁ@mnﬁmwﬁ
fo wE a4 2022 7% 54.7 0 Fe A T\ HAl G
1 gIfee &L g

378. frafafea 7 @ few st @a @ swan faga

IS U Fwt wftads & fone forar wmar &7

(a) T (b) 77

(c) Srgrads (d) =gfFrat

UGC NTA NET/IRF Shift- 11, Sct-04 June 2019
Ans. (b) : T & TEEE HA A & I G
IAEA § Tl wefiEdA & fere fEma s @) 9 gl
arg | I &l T o &l aA Hel dl o g1 9
UF T FA CEHE &) 9 T A F A ganEn
Wl W uaEn afFEE e I g ez ag @
nfaw Tt @itE wet § ofafi @ o @) s
T F1 9L #1 7eg | faga § wiafi G e @

w w1 (Hydro) v

379. Small hydro power potential in India is
estimated approximately as
uTH H Y W vivh durear feet g9 @1
T §? ]
(a) ~60 MW/~ 60 WmER
(b) ~100 MW/~ 100 T
(c) ~ 10 GW/~ 10T/
(d) ~20 GW/~20 TmEar
NTA UGC NET/JRF June 2021(22-11-2021 Shifi-1)
Ans. (d) : ¥F § 9 99 fF F9=8 ~ 20 WER #@
F I 2
380. Tidal range (R) is a critical factor in
determining whether an ectuary would be
useful or tidal power generation as energy (E)
available per tidal cycle depends on scales with
R as xc%n%h%nlluwing relation_ .
aTeraT =1, 30 fAunw § sera famw ()
Ueh Wecaqui shiteh BT § @ifeh Wi Sa-wh
Al (E) &t SueraET freifed & sTER R &

amaehar ut fadt &t §:
(@ E=R (b) Ex R
(¢) ExR” (d) Ex R’

NTA UGC _NETARF June 2021{21-11-2021 Shifi-1T)

(a) 60 GW (b) 50 GW
(c) 40 GW (d) 15 GW Ans. (¢) : T I%rq-i .......... R & @mqehm W iR &)
UGC NTA NET/AIRF Shift- 11, Set-06 June 2019 tRAMEF m LiCL ?

Ans : (a) : W FER A G 2022 7 = HA A Ex R’

fasrell 3= m & faw 60 fm afz (GW) T 3| 381. Durin i .

. g physical treatment process of waste
fauife e €1 wmm 7R af 2022 T 175 7 afe water what is the correct order of following
CAE D] ﬁf g #E a*{f% &l "EaEREl @ operations to be followed?

Frfer o &1 soif @i ==t & 100 fm afz, v ST s & e
Fi 60w aiz, Sa-Fi @ 10 fm o @ o T@- frefefes § & H-T yorer o T w82
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Easy-Netes 4u

(C) btn.t.nmgfﬁﬁ'ﬁﬂ

(D) Sedimentation/HEH= =

Choose the correct answer from the options
given below:

irer U U faremedl W W wE I S
(a) (C).(D), (B),(A)  (b) (C), (D), (A).(B)
(c) (B), (D), (A),(C)  (d) (B),(C), (D), (A)
UGC NTA NET JRF June 2020 (11 Nov.) Shift-11
Ans. (b) : YFIN 5@ & Hifeh AR & A FarHI
T T o &

382. According to the classification of Ministry of

New and Renewable Energy and Central
Electricity Authority of India, small hyvdro
power plants have capacity in the range

qa FAl wAA o

= fagm wirew & affaror & erEn
oY I wifvh HeA at g @t o g
(a) 1-25 MW/1-25 HTEie
(b) 100-1000 MW/100-1000 fFemaiz
(c) 1-50 MW/1-50 WTEiE
(d) 1-100 MW/1-100 Faatz
UGC NTA NET JRF June 2020 (30 Sept.) Shift-11

Ontine. Sty

(R), (A) ¥ Tl =men @
{(b) Both A and R are correct but R is NQT the
correct explanation of A/{A) aftt (R) aHf @@t

g 3T (R), (A) T T =men 74 2
(c) A is correct but R is not correct/(A) Hél 3
9t (R) W 7 21
(d) A is not correct but R is correct/(A) T 8
W (R) T 2
UGC NTA NET JRF June 2020 (25 Sept.) Shift-1
Ans. (b) : (A) 31 (R) 21 &l & 31 (R), (A) I
= T 21
Y TR WSl H AT TELE W WAL
o & i @ fF @8 R owguued, T R
w0 F F GW B 81 3% o g2 |l SerEl @
fomfor i & Tz ik sdifee @ @EAyadE W s
#id 1 T4 ¢, &1 I T A g
384, oo AT el et 22
(n) AT A SOl (b) Harm=E
(c) HZIH &7 (d) @R |
UGC NTA NET/JRF Shift- 11, Set-06 June 2019
Ans:(d}:maﬁmﬁiﬁlﬁ'ﬁﬁmﬁéﬁmﬁiﬁ
AH W ¢ #ed aawld & Hiliies g & FEfEa
FA AT A TG q@ & A A §
TIEE WA @R we| et 1 97 T oie miE

Ans. (a) : 79 G4 AN Fo AAEd AT AT
Fg fagn g @ifdo & sEn @ o6 ol
T A oema A A (25 T #1 aE 25MW
(ﬂm)ﬂmmquﬁmmﬁlam
W6 FAE™ (Ministry of power) & 3=l 37 &1

383. Given below are two statements, one is labelled

ns Asscrtion A and the other is labelled ns
Reason R

Hr=r g1 @aw fau Wy € ugem afayT (A) 3fw
A0 TE (R) &

Assertion/37TRAT (A) : In the contemporary
environmental discourse, small hydropower
plants are preferred over large hydropower
plants Tatater  wwiet o

TESET Wi W WY Ry Wil @
aftaar it a1 &
Reason/@eh (R): [Installation of a small

hydropower plant is less capital intensive
compared to a large hydropower phmtfﬁ's.?

| &t TET o T wrEgTat wie
= T R 1{5& Gucify
In light of the above statements, choose the

most appropriate answer from the options
given below:

FHUAT o e T Tifeed fadedt o
¥ watfie Iugwh I oA

gaefa # goft § wEr s 21 A uE we o favm
w92 giAl & S a4 & Frael 9§ Pade g
7% WA ¢ 3R 9 @ ferw e A @1 s
= for 92 0 s 9 2 4 9% ud & of = oA
I AN A NI FAA & e g A ARG T
21 3 9Ef | Ut TR | ga o 9 | i o
WA FAAT B
385. Profefas ® /8 @19 CO, @ @1/t waw

ag1/ast s () 82

(a) @A (b) TR

(c) fem == (d) TR

UGC NTA NET/IRF Shift- 11, Set-10 June 2019
Ans. (b) : CO, T8 A1 FEA EFEIREE 79 F F&d
721 fses (Sink) @1 fiE @1 WIeR wEwTR 81 FEA
eH-FaEEE S F U F g o @ 3R g awm
TEEET FEA & faea WeR yeW &w g gha &
TEEIT & UR d Hed W FEA EE-3aWsE &
o § gfed FHa ed-sifEmse & dqea @1 wE e
T &1 TAR WeEEW H gfad FEA SR-wEEEe db
T w1 H AW €| W T SE-HEEEE & 69 4,
Ig 9 FEAE 3 FWAE EA F w9 0 off o@n S
| g0 afvas AOaE & TN @ q9 T H e
aififr & wreaw 4 F a@gd aguE = FTEA
rd-siFss fiw W wewgef ot g0 wWE v @ 2
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maw@rﬁ?ﬁaﬁﬂﬁmﬁmﬁmmﬁ}mmil
Faet # wallad Fofl W el € 99 Wl F9 gd 81
Tl T T ¢ Y TR F= ww fFmE W
TEAT ¢, S NGO 0 A G &1 g ug Ahea
Tl e F=i €, 556 Im@Em & sgem A gfe

grdt &1

T IEA & FE- T A O>wET s > H e
> TifaE Fal

393. A coal fired thermal power plant has an

efliciency of 35%. The electricity from the
power plant is used entirely for lighting
purposes with average efficiency of 20%. What
is the overall cl'ﬁuenl:\ of conversion form coal

to lighting?/ U& Fraen-wfem aafags @
o garr 35% ¥ fage daw & off faselt @
ITANT 20% H AT TWAT F AT FHITHES
& WO | BT €1 T & WanTyT W waiaiuT
T WY T4 T &7

(a) 15% (b) 55%

(c) 70% (d) 7%

NTA UGC NET/JRF June 2021(21-11-2021 Shift-11)

Ans, (d) : 3z et W wiE & e 35% @ @ 3@
aed @ f 9t 100 5@ ° 35 @ @ Faeeh qwnoes
@ T AG & i 8l

i T @ie 371 & = Bl ImmA 7 39T &6 35%
WIS & W4 § 3980 Fal = 20%

)
we T = 20 g
100
394. ldentify the correct sequence of countries that

are the world's leading geothermal power (in
MW) producers, Choose the correct answer
from the options given below:
fayg & it gardra s=f (MWw) SaeE 29
& TE w H g w4 e g e fawmear
o | Tl I @ s Ffa

A. New Zealand=gsiieie B. Iccland/3E84E

er day, 7 days a week?
¥ forE yaw & S 94T 24
we yfa fegm afm 7 fe= yiv wwg @@« qU
Fratrs wu 4 fasell we= & §2
(a) Geothermal/-A4& (b) Hydro/Sd
(c) SolarAR (d) Wind/ 9
NTA UGC NET/IRF June 2021(24-11-2021 Shift-I)
Ans. (a) : ﬁmmﬁwmmg{mmaﬁm
JoEA A R S g g6 I #Ope E A
Tl (Y2 F A T F) €| T FHR F 6dT 24
x 7 FA@ T 2
q-arirT S €99 A9 SR F O d-
1. 3§ &M =AZ (Dry Steam Plant)
2. Wei¥l WEfhd €W @i (Flash cycle steam plant)
3, arAd TiRfEE wHiE (Binary eyele Plant)

396. India's maximum encrgy comes from
WA W fiaior St &

(a) Hydroclectric Power Plant/Safasel €47

(b) Nuclear Power Plany/9tiIv] fegd w47

(¢) Thermal Power planu L UE|

(d) Solar Power planvsR fagm w47

NTA UGC NET/JRF June 2021(22-11-2021 Shift-11)

Ans, (c) : TRA H HUFW Fal &1 W@ AW a9 fagd
Ha7 g

(UG i ahy
Pt & o

15" Trspnrt
Frovn Ihutan
Nuelear
Poer

Hemewahle
Erergsy

397. WA W TOTHN TehaAl Q-AME fage @r

e §7
(a) 10 "hmEe (b) 5 frmErE
(c) 20 e (dy 25 e

UGC NTA NET 2019 Shift-1(3.12.2019) Set-4

C. USA/4URT, D. Indonesia/SETImm
(a) A>C>B>D

() C>A>B=>D

(c) C>D>A>DB

(dy DC>A>B

NTA UGC NETAIRF June 2021{26-12-2021 Shift-11)

e ——

Ans. (¢) : A% & 3wl ymdm F= (MW) IeE a9
& TE -

20 T (2018) (MW)
(¢) L.UE.T 3693 MW
(d) FeTfImE 1948 MW
(a) il 1005 MW
BEEES 755 MW

Ans. (a) W ORE g & HER
mwmmmmﬁﬂwwuam

st golt sfaew 1 &A= § @ g9 TRd 9@ A
ﬁﬂﬁm%%aﬁw}nﬁﬁﬂﬁmiﬁﬁw\
T 40% TNiqR eTHAT TEED W W AT @i
mﬁlﬂatﬁhumﬁﬁmwﬁﬁqaﬁmzzﬁns
BT B A 1 e o e o 7 e s o 221
iﬂ'{ﬁ‘f'ﬂ’lﬂﬂﬁﬂm T 1 A 60 TEE, wm
Tl @ A Fa @ 10 HrmEe d g e
yfediemrE @ 5 e S Wi @1 39 Newrni
W H S T F g @ A fave § e A
== Fe I @ i A Wit @ S R
T OH 31 AT 2018 dF Fo wfud ewal |
T w9 3 RaEd 29 @ é-
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CO, T UM F ITEm R fom I & 1 A &
FEA EA T

403, Which of the following sources of energy on

combustion produces maximum carbon dioxide

er unit of energy outpul or heat content?
Prorfehgn # @ fira st i % 28T W g
THE Sl AFEUC HUAT HWT @l WIEAT W
FTEH SEATSAILS &1 IR AfiraHan grar §7
(a) Coal (sub-bituminous)/&H el (va-fagfom)
(b) Natural gas/NFfaF T
(c) Diesel fuel and heating oil/2Fre 9 3R
#ifFn afa=
(d) Gasoline (without ethanol) TR (vaAfe W)
UGC NTA NET JRF June 2020 (17 Oct.) Shift-1
Ans. (a) : T T | 0§ HEA & 284 T A IHE
Foll I T FOT F AA W FEA € SEEEE @
IR AfUFAT @ @1 FUen F aEWen WeE ad
FAAEE SMFEE € A1 & 67 W 65.8% FEEE
HFUEE I & oAU Iawerd 81
404, ATATHTR 3UAT & 34 Wi JR1E GIOATT 0
& 39T & deu W, El W = age
(a) TR (@) > AfgE @re > g A fEm T
T FhY
(b) T A @ T 9t F0 > AfEe g >
A (F@n) .
(c) qdl TFE > AfEFe @t > gt A -
Hie] FaU

(d) fEe @ > A (q@n > g A T
U] FEU
UGC NTA NET 2019 Shift-11 (6.12.2019) Set-10
Ans. (d) : SiifaA Sl 7ol ge 8 9 52 gU Sidl § 9w
gerd StaqET 41 S deld 91 J9HE See ¢ | 9E: g8l
E U v U™ T #) A e % 6@ g e
FE I 5 =@ @ A 3wl fafm wen & 9
¥ ¥ oftafda & & ae s@aa & o1 a5a 21 98
T A @R, 9R # o, AfEe g9, T )
ST TS, BUE FEU MG
TEME U & I9E 9 THE 9T F Fal & 309 6
Ay T O reenEd 21
AfEd @ > WA (gEn > el A u
Hal
405. AAHE TUA W HURUE FEA AgA S &
Waﬁm@?ﬁ%:mﬁ'
(a) ¥ 39U 3 JfE = A F AR W T2 A
T 2T FIEE T I F 8
(b) 4 a1l 38 & @R T g A qen § 2
T T T 2 RS W I 0 8
(c¢) 3T o o it AT T H AET et 2
(d) ¥ 3EA 9 W IS I T8 F 8

oA 1 amal e 8, s 3 seim s afg @ s
?mmmﬁaﬂﬂqsﬂémgmmm
|
406. THIRRE (R ATATH ST Ta9TaaT &1 adrar g ¢
(@) &m (b) T2
(c) UE F T (d) TEETE
UGC NTA NET/IRF Shift- 11, Set-06 June 2019
Ans : (b) : TZ1 F=0 7 afLai @, Ted S g Svel
& ¢, e @ ot F a6 & 10 W oF m@
FaEE 0 ¥ 10" BfewEm A% @ 2 T moee Iz
FH € & T AR & A9 ¥ w9 H 9 gf e
1w wa g 8, 5 wheRE (permafrost) @ ST
&1 T wiwE T AAm # o o faEmm
A & ok & A9 F eE § u w8, o
Iad smf # Gen g R MeEw ST FArE &
T e feEm e A F 2
407. The biggest hindrance in usi:% biomass as a
I'Hlljﬂl' Encrgy source 1§

T vIE
HId & B H wE & § way ad ai §-
(a) Technology not well developed
commercialisation
afefsgae & fou stafred gfesfim 78 2
(b) Energy yicld of low level
= T AT Tt A e )
(c) Large amount of land required to grow
energy crops./Hal-GHd IMH & fAU BRG]
wfirg g = amavaEa g 2
(d) Air pollution due to combustion
%EA & FOT 9 NEHUT BT 2
UGC NTA NET/ARF Shift - 1, set-7 21 Dec 2018
Ans.(c) : AAE F TF ¥@ A @6 & F9 0 F4@M
FH 1 TEY agl a1 FA-F0A I & folg qga AfeE
ufy Yt aavasE &1 H-dra ofy @ IeE weEEad
TR FHE & IWEA & o 5 AEd g afnfas
FHE & Io9eA & e G o g
408. Praferiiga 7 9§ aral-10 & yUE 7 SA-91 87
(a) WA 2R FEA 2E-AfwmEe
(b) e 3R R e
(c) Wi, EEEHA R MEfew s
(d) AT IR HeH SE-NFRE
UGC NETAIRF June 2010

for

UGC NTA NET 2019 Shift-1 (6.12.2019) Set-9

Ans: (a) g (CH,) - diFA 31 IR AR @
TR ¥ TR ¥, W R A m F
# a4 g1 oz (Farting) ®, @ael (Marshy) @ ®
(Wet) ST # arg-fadia 2w & & 2

FEA ETE WS (CO.) - CO, Ft gfg &1 Fmwr
Sfaren $v=T 1 284 (Burning of fossil fuels) 3R &-
AYF (Deforestation) 81 3%F a9 &9 § CO, &
IwEm 3% oA Fwfo § @ s €1 @ swet AEn
(Quantity) Frafim et €

g I T8 AT W e a2
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Eagy-MNotag.d))

(2) Methane and carbon dioxide/firm 1@ @A
ZAFIRE |
(b) Carbon monoxide and sulphur dioxide/FEA
HETSTAEE Td desl STEFEs 8
(¢) Carbon dioxide and carbon monoxide/FAA
TrsiEEEe e &Ed AEETEEs 1
(d) Hydrogen sulphide and carbon dioxide/
FEEITT TEHRE Ud FEA SANEEE |
CG PEB SET 2014 Paper-1
Ans. () : TARIES SEOvE (GG 9raq) 0 o
Rugex & fm & FH-eEIEEEe § uEd S 8l
T 3T s @ oty Iy & fau sy sEeE
¥ 3ol g & & fou, )

et T T

(Nuclear and Forests)

India's share of nuclear cnergy in  the

clectricity generation is approximately :

foree SeaTee #, AU FHt @ W & e

410.

FITHT §—
(a) 0.3% (b) 3%
(c) 10% (d) 15%

NTA UGC NET/AJRF June 2021(05-01-2022 Shift-1)
.r\ns.(h):qﬁlmm'f ORE ¥ e, T4, Eﬂﬁl’gﬂﬁf‘(
T T o 7% Wiaal wad a1 S @ @l &) a4q Ao
W i wfd TEE A e @ 6780 e #
3 ad 2020-2021 T F fasrelt 3w § F@E A
3.1 wfivm AEE W 2
411. Arrange the following naturally occuring

Uranium isotopes in the correet sequence as

per the proportion of occurence.

TEEs w9 W oW & fafa=w

RN & & & T FW T

A, U-234 B. U-235

C. U-238 D. U-239

Choose the correct answer from the options

given below/ ==t faw 7o fasedt W & WeT sv1
& oE I
(a) A, B, C (b) B,C, A
(c) C,A B (d) C,B, A
NTA UGC NET/RF June 2021(29-11-2021 Shift-11)
Ans. (d) : T &9 | N9 gUAGR & fafes aaen
T A -
(1) U-238
() U-235
(iU - 234

. 1
-Quiine-Study

Statement/@a= (1) : Emissions of hydrocartBns
and carbon monoxide are inherently very low
from diesel vehicles/@arfas €9 a9 de-l °
FEETEAl 3 FEA ST SRS @ I FH
Enl ]
Statement/&9H (1) : Diesel driven vehicles are
inherently more luel eflicient compared to petral
driven vehicles/@tord =i amg Wﬁiﬁ_}ﬂﬂ q
e ifer A %1 g G s e Eid €
In the light of the above statements, choose the
most appropriate answer from the options

given below: -
HUAT ¥ AMErE o it faweat W

{ watfira Iageh I IH:
(a) Both Statement 1 and Statement 1l are correct/
T 1 3 11 3 W §

(b) Both Statement I ang _Statement Il are
incorrect/&497 1 3R 11 SHT T& Wﬁ%

(c) Statement | is correct but Statement Il is
incorrect/®aT | e & FdTrj Fua || e T 2
(d) Statement 1 is incorrect but Statement II is
correct@aA | T 71 & faeq @A 11 T 2
UGC NTA NET JRF June 2020 (17 Oct.) Shift-1
Ans, (a) : TITAE ®T 7 S dgAl A SRSTRHEA 3T
5 afed a@d @rifas 59 ° U2 9fea aed 3
e 1 3 um B ) 2 S T 8

413. India has huge thorium reserve, which is a

potential source of nuclear energy. This
thorium reserve is mainly sonﬁncd in the.
avd & ure favme w=w &, Wt

anfraes-Fwl @1 WeW Fu w@ia {1 g difEn
ST YT&IA: FEl 87
{a) Rocks of chhota Nagpur platcau!ﬁm AL
U3R F °gME A
(b) Muds of Sunderban delta/f<T= el &
Fag |
(c) Coastal sands of Kerala se/F W% & 7t
EIGR
(d) Sunds of Thar desert/AR FEEI & A1) d
UGC NTA NET JRF June 2020 (9 Oct.) Shift-1
Ans. (c) : WA & U Ay AF@9 WER g, W &
oftas ol & &M Fu @i da g1 GiEn R
TET: e TR & aer e 6 8
414. A dish solar cooker/U@ fEyr @rew Tat

(A) has  reflecting  material of anodized
Aluminium shee/U"iEEse  uegfufafan iz
& quads TR @1 9 e g

(B) has a reflectivity of less than 50%/=
EdFAT 50% W & &l

NTA UGC First Paper Planner Volume-1

571

YCT

Scanned with CamScanner



EagyMNoles4y-Qalina-atudy

F, hmmﬂgmﬁ@ﬂﬁﬁaﬂ

(a) Llll'>[|’]’>NL>RL
(b) TPP>RE>LHP>NE
(c) TPP>=LHP>RE>NE
(dy LHP>TPP>RE>NE
UGC NET/JRF 8 July 2018
Ans, (c) 9% F Fo fagd 7= § 31 =, 2018 7%
IEH HES & OFER W & AvEE & Sfem
freram 2-
1. @9 fagd &4 (Thermal Power Plant =
67.3%
FeiEFTa F9 (Renewable Energy = RE) - 16.2%
. e sw fEE TRErE {Large Hydropower
projects = LHP) - 13.2%
A 1 (Nuclear Energy = NE) - 20%
¥ faeA Ieea & ofed H 390 @m @ 5w
fr= - TPP > RE > LI P> NE
427. A source of renewable power which can be
developed with minimum cost is :
AR ST w1 HE A =gEAay @ |
fafae forar =1 woar &—
(a) Wind mills/ &= foew
(b) Tidal power / 2138 WX
(¢) Geothermal energy / fgtade i
(d) Biomass power / ST &t
UGC NET/IRF Shilt - 1, set-9 22 Dec- 2018
Ans. (d) : 73 5 591 ®m = IEm @ @ O w9
T @ o 99w 2 W T EW A W S W
amma @ fasfum fem o wwm @ @ admm o #)
s It TH-FR wEhE o o e e
T SN W | WA e @ A9 Fol Fed

428.

TPP) -

L

>~

Ilow much carbon is being added to the
atmosphere by burning of fossil fuels?

Shan Fom & e ¥ aran ¥ R

arftres wTET AT &7

(a) 6-9 billion tons / 6 — 9 fafaa= 23

(b) 2 - 6 billion tons / 2 - 6 ffeam ==

(c) 4 —6 billion tons / 4 — 6 fafergs 29

(d) 912 billian tons 7 9 — 12 fafeas &

UGC NET/JRF Shift - I, sct-9 22 Dec- 2018

Ans. (a) : STOYH 99 F I F a@E F 6-9
faferm 27 sfes @da e ¢ S dam & FEA
& I & fou yq@ =9 | feen § @ §-afe do
T FAF

. The radiation reflected back
atmosphere is called albedo.

AT § Yvd qaEida Ao &1 el &
o & I R

The atmosphere is essential in maintaining
the beat balance of the body

T F AN WG IRV A @ & A
AT AT & |

3. The heat and sunlight both pass through the
atmosphere, .
J{ i w9 EH amEw # g TR

to

!-J

Whu:h of the statement(s) given above is/are
correct?

Iue HUA 0 | & Aq1/8 waw @ g8 ?

(2) Only (a) /&= (1)

(b) (b)and (¢)/(2) 3R (3)

(c) (a) and (b) /(1) FT(2)

(d) (a), (b) and (¢} / (a), (b) 3R (c)

UGC NET/RF Shift - 8, set-1 21 Dec- 2018

Ans, (¢) ; AT TR TS T [F0 98 5 WEW Al
Y fafe & sfefifm &@ & ofs &
Y I eelel 31w S 2
FIA @ A9 HAA WU @A WA & fou A
HEEYAE ¢ 48 O G 21 FA: B4 (a) H (b) WL B
wafE mm R I g S A § #ER R §
Fa (c) TE T ¢
430. What is the long term effect of cutting down

larger areas of rain forests?

FewT aut a7 4 A w2 w Sttt yar §—
(a) Decreased carbon dioxide content in the air
g § FEA EERFEES 3 9 g A
(b) Decreased flooding of low-lying land
et s § =g o # 9T A
{c) Increased rainfall in these arcas
A el e s
(d) Increased rate of soil erosion
g swEd | gfa
UGC NET/IRF Shift - 8, set-1 21 Dec- 2018
Ans. (d) : TER T T &7 F FLR T AR TS
T ONWE § g @ 21 g W W e
wEEfE W Ugm § ¥R I9E &9 faga @ a2
T F TE gA FWEA 1 A A # o
THSTR Tl & 3 A T A FA
431. Assertion (A) :
€energy resource.
Reason (R) : The power of falling water would
neither diminish

nor get exhausted.
afymaa (A) : mvn%g?r FAT W W B
HTEAT HHTUA §
@ (R) : v gu o o wifemr =1 & @ gir
BT 9HTA g

IHydropower is an exhaustible
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Easy.Notes 4u

oth (A) and (R) are true and (R) is the
correct uplamuon ol (A)
(A) 3it (R) 3 =t & 3 (R), (A) ¥ wd
=T 21
(b) Both (A) and (R) are true but (R) is not, the
correct explanation of [‘A)
(A) 3R (R) i 78 € fFg (R), (A) A &
e T 2
{c) (A)is true, but (R) is false
(A) B8 #, g (R) e 2
(d) Both (A) and (R) are false
(A) FR(R) ST T B
UGC NET/IRF Shift - 2, set4 19 Dee 2018
Ans. (a) : & wn sifEad (A) B s fagd e
T g 9 qanE 7, 94 4, s&fE Ak (R) b
o & O A A &9 3R T & a2, of wd
€, WY & 76 (R) A0HaT (A) 3 T ST
432. In the scheme of life, soil is an cessential
resource of life, as it plays the following roles.

e @t gren i, WaT & e
TunT &, W Fafatge gt @ fee
=t §—
(1) Itis a reservoir of carbon.

TR FE &1 UER 1

(2) It is the medium for growth of food and
energy for the animal world.

7 W s & fAftw s wt @ defa
1 AT 2
(3 It prmldes oxygen (o the biotic community.
I S TR @ e e 8
(4) Itis a natural reservoir for the hugc amount of
gawr;ﬂaaﬂaﬁaﬂmm qUER
|
Sclect the correct answer from the above ;
T wit fawew gfm-
(a) (1),(2) and (3) (b) (1), (2) and (4)
(c) (2),(3)and (4) (d) (1), (3)and (4)
UGC NET/JRF Shift - 2, set-4 19 Dec 2018
Ans. (b) : 91 ¥aA & faw ga1 #1 feifea qive @
(1) 98 FHET & WUSK 21
(2) magmiﬁﬁﬁamﬁnmfaﬁmm

HeqHq wl
(4) 9% 57 F 9t gE @ AEiE U 2
433. Assertion (A) : The environmental impact of

soil erosion can hest be mitigated by removing
vegelative cover only from the specific site on
which construction is to tuke place,
Reason (R) : The environmental impact of soil
erosion can also be mitigated by distrurbing the
vegetation in adjacent arcas as little as possible,
(A) : T AT H ™
T Faw @ % P o e fow @
wvmfy @ gere age wftes @w fear W
THAT §

Qnlihe -Stud
wHiUEd & | gl § yiada ot off
e = wahaT 81

Code: / & :

(a) Both (A) and (R) are true and (R) is the

correct cxplan_alinn of (A)
(A) 3 (R) 3 T@ &, 3T (R) (A) A
= 2

(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)

(A) 3 (R) &1 W& €, f (R) (A) 3 &
e A8 2
{e) (A)is true, but (R) is false
(A) 78 2, fg (R) Tom 21
(d) (A)is (alse, but (R) is true
(A) 7T 8, T (R) T 21
UGC NET/IRF Shift - 2, set-4 19 Dec 2018
Ans. (b) : fa@ T fumas (A) fF 991 IOEA F
il wara &1 Fad & & fav faa = favm §
T & g Agd duw w9 R wwa g, wdh
2, WEfE ah (R) % 99 AweT & vafawim swa &
witgadf & F gl § oftada ot o @9 =
T &, of w6 2, fag o (R) v (A) T W@
Wi e 2
434. What is truc about species of wildlife 7
T fta garferat & ded o @ we §7
(A) Exhaustible /FATe g1 W7 ATt
(B) Maintainable/durd
(C) Non-renewable/3TTaiayuiia
(D) Renewable/~dfiamofta
(E) Incxhaustible /7 AT I WTAT
Code ;[T
(a) (A), (B), (C)
(c) (B),(C), (E)

{b) (A), (B), (D)
(d) (B), (D), (E)
CG SET 2018 Paper-I
Ans. (a) : 39 S gfan & @t ot (geifeen) 9 9@
WA | 9 W9yl & Hed o e S99 g § -

(n) TG & W4 a1t (b) Wed
(d) TG
435. Below is given a statement followed by three

courses of action mumbered (1), (I1) and (111).
Choose which action logically follows the
statement :

i uw wu v IwE yge i wmed g
i (1), (1) A (1) fem &1 o e ofel
Tt ATfh® BT T wAT & ITET BN

Statement : Nuclear power cannot make a
couniry securc,

HAT : W] e <9 W gUEE T @
Wehd
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